Case 1:21-cv-00997-CJN Document 201-12 Filed 10/19/23 Page 1 of 161 WASHINGTON LAWYERS' COMMITTEE TIME RECORDS

Plaintiffs' Exhibit

10
Civ. No. 21-00997 (CJN)

		Caseworker						
Client Last	Date of	Full Name	Activity			Time	Hourly	
Name	Service	(Last, First)	Туре	Activity Code	Activity Details	Spent	Rate	Billed
			01.					
Investigation -	1		Meetings					
Education at		Banner,	/Confere	1c Co-counsel	Weekly strategy call			
DC Jail	04/01/2021	Kaitlin	nces	Meetings	with co-counsel	1	764	764
				9f Prepare				
Investigation -	1			Class				
Education at		Banner,	09.	Certification	Edit class			
DC Jail	04/01/2021	Kaitlin	Motions	Motion	certification motion	0.5	764	382
				9f Prepare				
Investigation -	1			Class				
Education at		Banner,	09.	Certification	Edit class			
DC Jail	04/01/2021	Kaitlin	Motions	Motion	certification motion	0.9	764	687.6
				9d Prepare				
Investigation -	1			Motion for	Review and edit			
Education at		Banner,	09.	Preliminary	draft declaration (
DC Jail	04/02/2021	Kaitlin	Motions	Injunction	Eden Nelson)	0.7	764	534.8
			11. Work	11a Develop				
Investigation -	1		with	expert	Conference call with			
Education at		Banner,	Expert	report/testim	co-counsel and Eden			
DC Jail	03/01/2021	Kaitlin	Witness	ony	Nelson	1.1	764	840.4
				9f Prepare				
Investigation -	-			Class	Edit affidavits in			
Education at		Banner,	09.	Certification	support of class			
DC Jail	03/01/2021	Kaitlin	Motions	Motion	counsel certification	0.2	764	152.8

	I		1					
Investigation -								
Education at		Banner,			Correspond with co-			
DC Jail	03/01/2021	Kaitlin	18. Other	18 Other	counsel	0.1	764	76.4
			01.					
Investigation -			Meetings					
Education at		Hart,	/Confere	1d Other				
DC Jail	03/01/2021	Margaret	nces	Meetings	REDACTED	0.8	676	540.8
			11. Work	11a Develop				
Investigation -			with	expert				
Education at		Hart,	Expert	report/testim				
DC Jail	03/01/2021	Margaret	Witness	ony	REDACTED	0.2	676	135.2
			11. Work	11a Develop				
Investigation -			with	expert	Call with Eden re			
Education at		Hart,	Expert	report/testim	potential expert			
DC Jail	03/01/2021	Margaret	Witness	ony	testimony.	1	676	676
			11. Work	11a Develop				
Investigation -			with	expert				
Education at		Banner,	Expert	report/testim				
DC Jail	03/01/2021	Kaitlin	Witness	ony	REDACTED	0.8	764	611.2
					Meeting with co-			
			01.		counsel re retaining			
Investigation -			Meetings		expert witnesses,			
Education at		Hart,	/Confere	1c Co-counsel	scope of their			
DC Jail	03/02/2021	Margaret	nces	Meetings	testimony.	0.5	676	338
			01.					
Investigation -			Meetings		Meeting with co-			
Education at		Banner,	/Confere	1c Co-counsel	counsel to discuss			
DC Jail	03/02/2021	Kaitlin	nces	Meetings	expert witnesses	0.5	764	382

			I		ı			
Investigation - Education at DC Jail	03/03/2021	Hart, Margaret	02. Prelimina ry Work	2c FOIA Request	Correspond with OSSE re status of FOIA requests, in particular status of response re IYP.	0.2	676	135.2
					Meeting with co-			
			11. Work	11a Develop	counsel and J.			
Investigation -			with	expert	Gagnon re expert			
Education at		Hart,	Expert	report/testim	declaration for PI.			
DC Jail	03/03/2021	Margaret	Witness	ony	Notes to KB and file.	1.3	676	878.8
			11. Work	11a Develop	Review and			
Investigation -			with	expert	comment on draft			
Education at		Banner,	Expert	report/testim	expert declaration			
DC Jail mvestigation	03/04/2021	Kaitlin	Witness	ony	outline (Gagnon)	0.3	764	229.2
Education at		Banner,	Meetings	1c Co-counsel	 Weekly strategy call			
DC Jail	03/04/2021	Kaitlin	/Confere	Meetings	with co-counsel	1.1	764	840.4
2 0 0 0 11	00/01/2021		01.	eem.ge	The second secon		,,,	0.101.1
Investigation			Meetings		Mtg with co-counsel			
Education at		Hart,	/Confere	1a Client	and Memo to KB			
DC Jail	03/05/2021	Margaret	nces	Meetings	and file.	1.1	676	743.6
					Review declaration			
Investigation -			08. Initial		to accompany			
Education at		Hart,	Court	8b Prepare	motion for PI. Send			
DC Jail	03/08/2021	Margaret	Filings	TRO	edits to co-counsel.	0.3	676	202.8

Investigation e Education at DC Jail	03/08/2021	Banner, Kaitlin	08. Initial Court Filings	8b Prepare TRO	Review and edit draft declarations, draft expert retainer, and correspondence with co-counsel re: same	0.8	764	611.2
Investigation - Education at DC Jail	03/09/2021	Hart, Margaret	08. Initial Court Filings	8b Prepare TRO	Review/revise plaintiff declarations to accompany PI. Sent to co-counsel.	0.7	676	473.2
Investigation - Education at DC Jail	03/11/2021	Banner, Kaitlin	09. Motions	9d Prepare Motion for Preliminary Injunction	Review and edit draft class cert decl, draft expert decl, draft attorney decl.	0.4	764	305.6
Investigation - Education at DC Jail	03/11/2021	Hart, Margaret	08. Initial Court Filings	8b Prepare	Review and edit co- counsel class cert declaration. Sent to KB and JS.	0.3	676	202.8
Investigation - Education at DC Jail	03/11/2021	Banner, Kaitlin	01. Meetings /Confere nces	1c Co-counsel Meetings	Weekly strategy call with co-counsel	1	764	764
Investigation - Education at DC Jail	03/11/2021	Hart, Margaret	01. Meetings /Confere nces		Weekly strategy call with co-counsel.	1.1	676	743.6
Investigation - Education at DC Jail	03/16/2021	Hart, Margaret	18. Other	18 Other	REDACTED	1.1	676	743.6

			1	I	Meeting with E.		I	
			11 Work	11a Develop	Nelson re Pl			
laatiaatiaa			with		declaration. Memo			
Investigation	1	Llows		expert				
Education at	02/46/2024	Hart,	Expert	l '	to KB and file re	0.7	676	472.2
DC Jail	03/16/2021	Margaret	Witness	ony	same.	0.7	676	473.2
			01.					
Investigation			Meetings					
Education at		Hart,	/Confere		Weekly strategy call			
DC Jail	03/18/2021	Margaret	nces	Meetings	with co-counsel.	1.1	676	743.6
			11. Work	11a Develop				
Investigation -	1		with	expert	Meeting with Eden			
Education at		Banner,	Expert	report/testim	Nelson re: expert			
DC Jail	03/22/2021	Kaitlin	Witness	ony	declaration	0.5	764	382
			11. Work	11a Develop	Review/revise Eden			
Investigation -			with	expert	declaration and			
Education at		Hart,	Expert	report/testim	circulate to co-			
DC Jail	03/22/2021	Margaret	Witness	ony	counsel.	0.6	676	405.6
					Review and edit			
Investigation -					draft motion to			
Education at		Banner,	09.	9k Other	proceed under			
DC Jail	03/22/2021	Kaitlin	Motions	Motions	psuedonym	0.7	764	534.8
				8a Prepare	,			
Investigation			08. Initial	Complaint/A	Review and edit			
Education at		Banner,	Court	mended	draft complaint,			
DC Jail	03/22/2021	Kaitlin	Filings	Complaint	research re: same	2.5	764	1910
-	00, 22, 2021		85	- Complaint			701	1310
					Research and draft			
					motion to proceed			
					under pseudonyms			
					and accompanying			
Investigation					brief. Review and			
Education at]	Hart	09.	9k Other	ledit declarations in			
	02/22/2024	Hart,				ا م	676	1622.4
DC Jail	03/22/2021	Margaret	Motions	Motions	support.	2.4	676	1622.4

		I	11. Work	11a Develop				
Investigation -			with	expert	Receipt and review			
Education at		Banner,	Expert	l .	of Nelson draft			
DC Jail	03/23/2021	Kaitlin	Witness	ony	declaration	0.2	764	152.8
De sun	03/23/2021	Kareiiii	01.	Olly	acciaración	0.2	704	132.0
Investigation -			Meetings					
Education at		Hart,	1	1c Co-counsel	Strategy meeting			
DC Jail	03/23/2021	Margaret	nces	Meetings	with co-counsel.	1.1	676	743.6
DC Jan	03/23/2021	iviaigaiet	lices	8a Prepare	With to-counsel.	1.1	070	743.0
Investigation -			08. Initial	Complaint/A	Review and edit of			
Education at		Hart,	Court	mended	initial draft class			
DC Jail	02/22/2021	1				1 7	676	1140.2
DC Jali	03/23/2021	Margaret	Filings 01.	Complaint	action complaint.	1.7	0/6	1149.2
la cationtia			1 -					
Investigation -	1		Meetings	4.6	Clarita and a second and			
Education at	00/00/0004	Banner,	/Confere		Strategy meeting		764	764
DC Jail	03/23/2021	Kaitlin	nces	Meetings	with co-counsel	1	764	764
				11a Develop	Review and			
Investigation -			with	expert	comment on draft			
Education at		Banner,	Expert	l '	expert declaration			
DC Jail	03/23/2021	Kaitlin	Witness	ony	outline (Gagnon)	0.9	764	687.6
				11a Develop				
Investigation -	1		with	expert	Review and revise			
Education at		Banner,	Expert	report/testim	Nelson expert			
DC Jail	03/24/2021	Kaitlin	Witness	ony	declaration	0.7	764	534.8
			01.					
Investigation -	-		Meetings					
Education at		Banner,	/Confere	1c Co-counsel	Weekly strategy call			
DC Jail	03/25/2021	Kaitlin	nces	Meetings	with co-counsel	1	764	764
			_	8a Prepare				
Investigation -			08. Initial	Complaint/A				
Education at		Banner,	Court	mended	Review and revise			
DC Jail	03/25/2021	Kaitlin	Filings	Complaint	draft complaint	0.5	764	382

			01.					
Investigation			Meetings					
Education at		Hart,	/Confere	1c Co-counsel	Weekly call with co-			
DC Jail	03/25/2021	Margaret	nces	Meetings	counsel.	1	676	676
				9d Prepare	Review and			
Investigation				Motion for	comment on draft			
Education at		Banner,	09.	Preliminary	client declaration			
DC Jail	03/26/2021	Kaitlin	Motions	Injunction		0.4	764	305.6
			11. Work	11a Develop	Review and revise			
Investigation			with	expert	Eden declaration.			
Education at		Hart,	Expert	report/testim	Sent to co-counsel			
DC Jail	03/26/2021	Margaret	Witness	ony	team.	0.8	676	540.8
				9d Prepare	Review and			
Investigation	-			Motion for	comment on draft			
Education at		Banner,	09.	Preliminary	expert declaration			
DC Jail	03/28/2021	Kaitlin	Motions	Injunction	outline (Gagnon)	0.5	764	382
				9d Prepare				
Investigation	-			Motion for				
Education at		Banner,	09.	Preliminary	Review final draft of			
DC Jail	03/28/2021	Kaitlin	Motions	Injunction	declaration	0.3	764	229.2
				8a Prepare	Review/revise J.			
Investigation	1		08. Initial	Complaint/A	Gagnon updated			
Education at		Hart,	Court	mended	declaration. Sent			
DC Jail	03/29/2021	Margaret	Filings	Complaint	edits to co-counsel.	0.5	676	338
				8a Prepare	Review updated			
Investigation	1		08. Initial	Complaint/A	declaration. Sent			
Education at		Hart,	Court	mended	comments to co-			
DC Jail	03/29/2021	Margaret	Filings	Complaint	counsel.	0.2	676	135.2
				11a Develop	_			
Investigation	1		with	expert	Review/revise			
Education at		Hart,	Expert	report/testim	updated J. Gagnon			
DC Jail	03/29/2021	Margaret	Witness	ony	declaration.	0.6	676	405.6

	1		1		I			
Investigation -			02.	2h Document	Review and			
Education at		Hart,		Review (non-	work packets and			
DC Jail	03/29/2021	Margaret	ry Work	discovery)	analyze re FAPE.	0.4	676	270.4
De Jan	03/23/2021	iviaigaict	01.	discovery	analyze te tai E.	0.4	070	270.4
Investigation -			Meetings		WLC team meeting			
Education at		Hart,	/Confere	1d Other	re case status, next			
DC Jail	03/29/2021	Margaret	nces	Meetings	steps.	0.5	676	338
		J		<u> </u>	'			
					Co-counsel meeting			
			01.		with Gagnon re			
Investigation -			Meetings		potential expert			
Education at		Hart,	/Confere	1d Other	testimony re FAPE at			
DC Jail	02/03/2021	Margaret	nces	Meetings	IYP.	1.1	676	743.6
			01.		T/C with S. Madison			
Investigation -	-		Meetings		at TPM re scope of			
Education at		Hart,	/Confere		class claims, Gagnon			
DC Jail	02/03/2021	Margaret	nces	Meetings	as expert.	0.5	676	338
				11a Develop				
Investigation -			with	expert				
Education at		Banner,	Expert	report/testim				
DC Jail	02/10/2021	Kaitlin	Witness	ony	REDACTED	0.5	764	382
			01.					
Investigation -			Meetings	4 . 6	NAV. ald alasta a sall			
Education at	00/44/0004	Banner,	/Confere		Weekly strategy call		764	0.40.4
DC Jail	02/11/2021	Kaitlin	nces	Meetings	with co-counsel	1.1	764	840.4
Investigation				9d Prepare Motion for	Draft declaration for			
Investigation - Education at	1	Banner,	09.	Preliminary	class certification -			
DC Jail	02/17/2021	Kaitlin	Motions	Injunction	class certification -	0.3	764	229.2
DC Jali	02/1//2021	Ivairiiii	INIULIUIIS	Influinction	ciass courisei	0.3	/04	229.2

			1	1				
Investigation -			07.	7a Draft/edit	Edit co-counsel			
Education at		Hart,	Settleme	settlement	proposed terms of			
DC Jail	02/17/2021	Margaret	nt	agreement	settlement for OSSE.	0.2	676	135.2
		<u> </u>		9f Prepare				
Investigation -				Class	Revise counsel bio			
Education at		Hart,	09.	Certification	for motion for class			
DC Jail	02/17/2021	Margaret	Motions	Motion	cert.	0.4	676	270.4
		- U	01.					
Investigation -			Meetings					
Education at		Banner,	/Confere	1c Co-counsel	Weekly strategy call			
DC Jail	02/18/2021	Kaitlin	nces	Meetings	with co-counsel	1	764	764
			01.					
Investigation -			Meetings					
Education at		Hart,	/Confere	1c Co-counsel	Weekly strategy call			
DC Jail	02/18/2021	Margaret	nces	Meetings	with co-counsel.	1	676	676
			01.					
Investigation -			Meetings					
Education at		Hart,	/Confere	1d Other				
DC Jail	02/19/2021	Margaret	nces	Meetings	REDACTED	1.1	676	743.6
			01.					
Investigation -			Meetings		Co-counsel meeting			
Education at		Hart,	/Confere	1c Co-counsel	re co-counsel			
DC Jail	02/23/2021	Margaret	nces	Meetings	agreement.	1	676	676
			01.					
Investigation -	-		Meetings					
Education at		Banner,	/Confere	1c Co-counsel	Weekly strategy call			
DC Jail	02/25/2021	Kaitlin	nces	Meetings	with co-counsel	1.1	764	840.4
Investigation -	-		02.		Memo to KB and file			
Education at		Hart,	Prelimina	2a	re impressions from			
DC Jail	02/25/2021	Margaret	ry Work	Investigation	initial call with	0.3	676	202.8

			01.					
Investigation -			Meetings					
Education at		Hart,	/Confere	1a Client	Initial client call with			
DC Jail	02/25/2021	Margaret	nces	Meetings		0.9	676	608.4
			01.					
Investigation -			Meetings					
Education at		Hart,	/Confere	1c Co-counsel	Weekly co-counsel			
DC Jail	02/25/2021	Margaret	nces	Meetings	call.	1.1	676	743.6
			11. Work	11a Develop				
Investigation -			with	expert				
Education at		Banner,	Expert	report/testim				
DC Jail	02/25/2021	Kaitlin	Witness	ony	REDACTED	0.1	764	76.4
			14.		Receipt and review			
Investigation -	-		Administr	14	of administrative			
Education at		Hart,	ative	Administrativ	hearing decision for			
DC Jail	01/12/2021	Margaret	Hearing	e Hearing		1.1	676	743.6
			14.					
Investigation -	-		Administr	14	Review and analyze			
Education at		Banner,	ative	Administrativ	due process			
DC Jail	01/13/2021	Kaitlin	Hearing	e Hearing	hearing decision	0.8	764	611.2
			01.					
Investigation -	-		Meetings					
Education at		Banner,	/Confere	1c Co-counsel	Weekly strategy call			
DC Jail	01/14/2021	Kaitlin	nces	Meetings	with co-counsel	1.1	764	840.4
			01.		Meeting with co-			
Investigation -	-		Meetings		counsel re IYP class			
Education at		Hart,	/Confere	1c Co-counsel	action, roles of TPM,			
DC Jail	01/19/2021	Margaret	nces	Meetings	SJP, WLC.	1.8	676	1216.8
			01.					
Investigation -	-		Meetings		Strategy call with SJP			
Education at		Banner,	/Confere	1c Co-counsel	and TPM attorney			
DC Jail	01/19/2021	Kaitlin	nces	Meetings	re: complaint and PI	1.7	764	1298.8

	ı	1	1	I	ī			
					Conference with			
					TPM and SJP re: class			
			01.		certification, fact			
Investigation -			Meetings		investigation,			
Education at		Banner,	/Confere	1c Co-counsel	complaint drafting,			
DC Jail	01/27/2021	Kaitlin	nces	Meetings	exhaustion	1.6	764	1222.4
			01.					
Investigation -	-		Meetings					
Education at		Banner,	/Confere	1c Co-counsel				
DC Jail	01/27/2021	Kaitlin	nces	Meetings	REDACTED	0.4	764	305.6
			14.					
Investigation -	-		Administr	14	Review and edit			
Education at		Hart,	ative	Administrativ	DPC. Sent edits to			
DC Jail	01/27/2021	Margaret	Hearing	e Hearing	SJP.	1.7	676	1149.2
			01.					
Investigation -	-		Meetings					
Education at		Hart,	/Confere	1d Other				
DC Jail	01/27/2021	Margaret	nces	Meetings	REDACTED	0.4	676	270.4
					Regular co-counsel			
					call re strategy.			
			01.		Status of and			
Investigation -			Meetings		complaints			
Education at		Hart,	-		discussed, federal			
DC Jail	01/27/2021	Margaret	nces	Meetings	complaint.	1.6	676	1081.6
			01.					
Investigation	1		Meetings					
Education at		Banner,	Ī		Weekly strategy call			
DC Jail	01/28/2021	Kaitlin	nces	Meetings	with co-counsel	0.8	764	611.2

	ı	1	1	ı	1			
					Receipt and review of edits of FOIA for			
					DCPS re IYP from KB.			
Investigation -			02.		Revise FOIA			
Education at		Hart,	Prelimina	2c FOIA	accordingly and sent			
DC Jail	12/01/2020	Margaret	ry Work	Request	to co-counsel.	0.6	676	405.6
					Research and draft			
Investigation -			02.		FOIA request to			
Education at		Hart,	Prelimina	2c FOIA	OSSE re IYP. Sent to			
DC Jail	12/01/2020	Margaret	ry Work	Request	co-counsel.	0.4	676	270.4
			,					
			01.		Meeting with KB and			
Investigation -			Meetings		SJP re closing brief			
Education at		Hart,	/Confere	1c Co-counsel	for due			
DC Jail	12/02/2020	Margaret	nces	Meetings	process hearing.	0.9	676	608.4
			01.		Meeting with SJP			
Investigation			Meetings		and Maggie Hart re:			
Education at		Banner,	/Confere	1c Co-counsel	E hearing; closing			
DC Jail	12/02/2020	Kaitlin	nces	Meetings	argument briefs	0.9	764	687.6
	, , , , , ,		01.		, g		-	
Investigation -			Meetings					
Education at		Banner,	/Confere	1c Co-counsel				
DC Jail	12/02/2020	Kaitlin	nces	Meetings	REDACTED	0.5	764	382
Investigation -					Read and analyze			
Education at]	Banner,	03.		NYC FAPE denial			
DC Jail	12/02/2020	Kaitlin	Research	3 Research	complaint	0.3	764	229.2
DC Jan	1-2/02/2020	Raitiiii	Incacarcii	J Nescaren	Complaint	0.5	704	223.2

				1				
Investigation -					Read sample DPH			
Education at		Banner,	03.		closing argument			
DC Jail	12/02/2020	Kaitlin	Research	3 Research	briefs	0.3	764	229.2
			01.		Meeting with KB re			
Investigation -			Meetings		assisting on closing			
Education at		Hart,	/Confere	1d Other	brief. Sections			
DC Jail	12/03/2020	Margaret	nces	Meetings	assigned.	0.3	676	202.8
			01.					
Investigation -			Meetings					
Education at		Hart,	/Confere	1c Co-counsel	Weekly strategy call			
DC Jail	12/03/2020	Margaret	nces	Meetings	with co-counsel.	1.1	676	743.6
			01.					
Investigation -			Meetings					
Education at		Banner,	/Confere	1c Co-counsel	Weekly strategy call			
DC Jail	12/03/2020	Kaitlin	nces	Meetings	with co-counsel	1.1	764	840.4
Investigation -					Read and analyze			
Education at		Banner,	03.		Hernandez case			
DC Jail	12/03/2020	Kaitlin	Research	3 Research	applicability	0.3	764	229.2
					Research case law			
					and IDEA in support			
Investigation -					of closing arguments			
Education at		Banner,	03.		for closing			
DC Jail	12/04/2020	Kaitlin	Research	3 Research	argument	3	764	2292
Investigation -			02.					
Education at		Hart,	Prelimina	2c FOIA	Finalize and submit			
DC Jail	12/05/2020	Margaret	ry Work	Request	FOIA to DCPS re IYP.	0.4	676	270.4

		T	1					1
					Finalize and submit			
Investigation -			02.		FOIA to OSSE re			
Education at		Hart,	Prelimina	2c FOIA	monitoring at IYP			
	12/05/2020	Margaret	ry Work	Request	and YSC.	0.3	676	202.8
	, ,	3 3 1	14.					
Investigation -			Administr	14				
Education at		Hart,	ative	Administrativ	Draft			
DC Jail	12/05/2020	Margaret	Hearing	e Hearing	Closing Brief	2.1	676	1419.6
			14.		Draft closing			
Investigation -			Administr	14	argument for			
Education at		Banner,	ative	Administrativ	DPH closing			
DC Jail	12/06/2020	Kaitlin	Hearing	e Hearing	argument	2.78	764	2123.92
			14.					
Investigation -			Administr	14	Edit closing			
Education at		Banner,	ative	Administrativ	argument brief for			
DC Jail	12/06/2020	Kaitlin	Hearing	e Hearing	DPC	1.02	764	779.28
			14.		Draft closing			
Investigation -			Administr	14	argument for			
Education at		Hart,	ative	Administrativ	DPH. Receipt, review			
DC Jail	12/06/2020	Margaret	Hearing	e Hearing	of KB section too.	3.1	676	2095.6
			01.		T/C with Tayo Belle			
Investigation -			Meetings		and Maggie Hart re:			
Education at		Banner,	/Confere	1c Co-counsel	closing brief in			
DC Jail	12/07/2020	Kaitlin	nces	Meetings	DPH	0.8	764	611.2
			14.					
Investigation -			Administr	14	Edit closing			
Education at		Banner,	ative	Administrativ	argument brief for			
DC Jail	12/07/2020	Kaitlin	Hearing	e Hearing	DPC	0.9	764	687.6

			01.					
Investigation -			Meetings		T/C with Maggie			
Education at		Banner,	/Confere	1d Other	Hart re: DPH			
DC Jail	12/07/2020	Kaitlin	nces	Meetings	closing brief strategy	0.3	764	229.2
					Research re:			
Investigation -					appropriate relief			
Education at		Banner,	03.		and extended			
DC Jail	12/07/2020	Kaitlin	Research	3 Research	eligibility	0.52	764	397.28
			14.					
Investigation -			Administr	14	Draft and edit			
Education at		Banner,	ative	Administrativ	DPH closing			
DC Jail	12/08/2020	Kaitlin	Hearing	e Hearing	brief.	1.73	764	1321.72
Investigation -	-		02.		Meeting with DCPS			
Education at		Banner,	Prelimina	2a	FOIA officer re: FOIA			
DC Jail	12/08/2020	Kaitlin	ry Work	Investigation	request scope	0.5	764	382
			14.					
Investigation -	-		Administr	14				
Education at		Hart,	ative	Administrativ	Review/edit closing			
DC Jail	12/08/2020	Margaret	Hearing	e Hearing	brief for	2	676	1352
			01.		T/C with SJP and			
Investigation -	1		Meetings		Maggie Hart re:			
Education at		Banner,	/Confere	1c Co-counsel	closing brief			
DC Jail	12/09/2020	Kaitlin	nces	Meetings	strategy	0.6	764	458.4
			14.					
Investigation -	1		Administr	14	Review and edit			
Education at		Banner,	ative	Administrativ	DPH closing			
DC Jail	12/09/2020	Kaitlin	Hearing	e Hearing	argument brief	0.5	764	382
			14.					
Investigation -	1		Administr		Review and edit			
Education at		Banner,	ative	Administrativ	DPH closing			
DC Jail	12/09/2020	Kaitlin	Hearing	e Hearing	argument brief	0.88	764	672.32

			01.			I		
Investigation			Meetings		Weekly co-			
Education at		Hart,	/Confere	1c Co-counsel	· ·			
DC Jail	12/10/2020	Margaret	nces	Meetings	strategy meeting.	1.1	676	743.6
		J	01.		<i>J.</i>			
Investigation			Meetings					
Education at		Banner,	/Confere	1c Co-counsel	Weekly strategy call			
DC Jail	12/10/2020	Kaitlin	nces	Meetings	with co-counsel	1	764	764
					Receipt, review, and			
			14.		analysis of DCPS			
Investigation			Administr	14	Closing Statement			
Education at		Hart,	ative	Administrativ	for DP hearing for			
DC Jail	12/16/2020	Margaret	Hearing	e Hearing	Tor Dr Hearing for	0.6	676	405.6
DC Jali	12/16/2020	Iviaigalet	nearing	e nearing		0.6	676	403.0
					Receipt, review, and			
			14.		analysis of OSSE			
Investigation			Administr	14	closing statement re			
Education at		Hart,	ative	Administrativ	DP			
DC Jail	12/16/2020	Margaret	Hearing	e Hearing	hearing.	0.3	676	202.8
			01.					
Investigation			Meetings		T/C with Todd			
Education at		Banner,	/Confere	1c Co-counsel	Gluckman re: case			
DC Jail	12/16/2020	Kaitlin	nces	Meetings	strategy	0.4	764	305.6
			01.					
Investigation			Meetings		T/C with T Gluckman			
Education at		Hart,	/Confere	1c Co-counsel	and KB re case			
DC Jail	12/16/2020	Margaret	nces	Meetings	structure	0.4	676	270.4
			01.		Meeting with co-			
Investigation	1		Meetings		counsel team to			
Education at		Banner,	/Confere		discuss case strategy			
DC Jail	12/18/2020	Kaitlin	nces	Meetings	and next steps	2.3	764	1757.2

	l	<u> </u>	01.	I				
Investigation -			Meetings					
Education at		Banner,	1	1d Other				
DC Jail	12/10/2020	Kaitlin	l'		REDACTED	0.6	7.04	450.4
DC Jali	12/18/2020	Kaitiiii	nces 01.	Meetings	REDACTED	0.6	764	458.4
Investigation	1	l l a mb	Meetings	4 -1 Other				
Education at	42/40/2020	Hart,	/Confere	1d Other	DED A CTED	0.6	676	405.6
DC Jail	12/18/2020	Margaret	nces	Meetings	REDACTED	0.6	676	405.6
			01.		Weekly meeting with			
Investigation			Meetings	l	co-counsel and			
Education at		Hart,	/Confere		advocates re case			
DC Jail	12/18/2020	Margaret	nces	Meetings	strategy.	2.3	676	1554.8
			01.					
Investigation -	1		Meetings					
Education at		Hart,	/Confere	1d Other				
DC Jail	12/21/2020	Margaret	nces	Meetings	REDACTED	0.4	676	270.4
			01.					
Investigation -	-		Meetings					
Education at		Banner,	/Confere	1d Other				
DC Jail	12/21/2020	Kaitlin	nces	Meetings	REDACTED	0.4	764	305.6
Investigation -			02.		T/C and email			
Education at		Hart,	Prelimina	2c FOIA	correspondence with			
DC Jail	12/22/2020	Margaret	ry Work	Request	OSSE FOIA Officer.	0.4	676	270.4
DC 3411	12/22/2020	iviaigaict	01.	Request	OSSET OIA OTHECT.	0.4	070	270.4
Investigation -			Meetings					
Education at		Banner,	/Confere	1c Co-counsel	Weekly strategy call			
DC Jail	11/05/2020	Kaitlin	nces	Meetings	with co-counsel	0.5	764	382
203411	21,00,2020	- Caremi	11. Work	11a Develop		0.5	, , , ,	302
Investigation -			with	expert	T/C with Joseph			
Education at		Banner,	Expert	l .	Gagon as potential			
DC Jail	11/06/2020	Kaitlin	Witness	ony	expert	0.9	764	687.6
DC Juli	111/00/2020	Naturi	VV 1011033	Jone	CAPCIT	0.5	704	007.0

			01.					
Investigation -			Meetings					
Education at		Hart,	/Confere	1c Co-counsel				
DC Jail	11/12/2020	Margaret	nces	Meetings	Weekly strategy call.	1.1	676	743.6
			01.					
Investigation -			Meetings					
Education at		Banner,	/Confere	1c Co-counsel	Weekly strategy call			
DC Jail	11/12/2020	Kaitlin	nces	Meetings	with co-counsel	1.1	764	840.4
					Review of initial			
					email from J. Gagnon			
Investigation -			02.		re contents/purpose			
Education at		Hart,	Prelimina	2a	of report. Email Tayo			
DC Jail	11/16/2020	Margaret	ry Work	Investigation	re same.	0.3	676	202.8
					Review and			
			11. Work	11a Develop	comment on draft			
Investigation -			with	expert	expert report; email			
Education at		Banner,	Expert	report/testim	to co-counsel re: the			
DC Jail	11/17/2020	Kaitlin	Witness	ony	same	0.7	764	534.8
DC Jali	11/17/2020	Kaitiiii	01.	Olly	Same	0.7	704	334.0
Investigation -			Meetings					
Education at		Banner,	/Confere	1c Co-counsel	Weekly strategy call			
DC Jail	11/20/2020	Kaitlin	nces	Meetings	with co-counsel	0.75	764	573
			01.					
Investigation -			Meetings		Meeting with KB re			
Education at		Hart,	/Confere	1d Other	claims outline/next			
DC Jail	11/23/2020	Margaret	nces	Meetings	steps.	0.9	676	608.4
			01.					
Investigation -			Meetings		Meeting with MH re:			
Education at		Banner,	/Confere	1d Other	legal claims outline			
DC Jail	11/23/2020	Kaitlin	nces	Meetings	and next steps	0.9	764	687.6

				1				
Investigation -								
Education at		Hart,	03.					
DC Jail	11/23/2020	Margaret	Research	3 Research	REDACTED	1.8	676	1216.8
			14.		REview and edit XE			
Investigation -			Administr	14	of DCPS for DP			
Education at		Hart,	ative	Administrativ	hearing for .			
DC Jail	11/27/2020	Margaret	Hearing	e Hearing	Sent to SJP/	0.4	676	270.4
			14.		Review and edit DE			
Investigation -			Administr	14	of for DP			
Education at		Hart,	ative	Administrativ	hearing for .			
DC Jail	11/27/2020	Margaret	Hearing	e Hearing	Sent to SJP.	0.6	676	405.6
			14.		Review and edit DE			
Investigation -			Administr	14	of Michney for DP			
Education at		Hart,	ative	Administrativ	hearing for .			
DC Jail	11/27/2020	Margaret	Hearing	e Hearing	Sent to SJP.	0.6	676	405.6
			14.		review and edit XE of			
Investigation -			Administr	14	OSSE for DP hearing			
Education at		Hart,	ative	Administrativ	for . Sent to			
DC Jail	11/27/2020	Margaret	Hearing	e Hearing	SJP.	0.4	676	270.4
			14.		Review and edit			
Investigation -			Administr	14	direct of Gangon for			
Education at		Hart,	ative	Administrativ	DP hearing. Sent to			
DC Jail	11/27/2020	Margaret	Hearing	e Hearing	SJP.	0.6	676	405.6
			14.		Review and edit			
Investigation -			Administr	14	direct examination			
Education at		Hart,	ative	Administrativ	of Boyd for DP			
DC Jail	11/27/2020	Margaret	Hearing	e Hearing	hearing. Sent to SJP.	0.4	676	270.4
			01.		T/C with Tayo Belle			
Investigation -			Meetings		(SJP) re: due process			
Education at		Banner,	/Confere		hearing and next			
DC Jail	11/30/2020	Kaitlin	nces	Meetings	steps	0.2	764	152.8

	I		1	1				
Investigation			02.					
Education at		Banner,	Prelimina	2c FOIA	Review and edit			
DC Jail	11/30/2020	Kaitlin	ry Work	Request	draft FOIA request	0.2	764	152.8
			01.		·			
Investigation -			Meetings					
Education at		Hart,	/Confere	1d Other	Weekly strategy			
DC Jail	10/01/2020	Margaret	nces	Meetings	meeting	1.2	676	811.2
			01.					
Investigation -			Meetings					
Education at		Banner,	/Confere	1d Other	Weekly strategy call			
DC Jail	10/01/2020	Kaitlin	nces	Meetings	with co-counsel	1	764	764
Investigation -	-							
Education at								
DC Jail	10/08/2020	Kanzer, Leah	18. Other	18 Other	Adding co-counsel	0.25	208	52
			01.					
Investigation -	-		Meetings					
Education at		Banner,	/Confere	1c Co-counsel	Weekly strategy call			
DC Jail	10/08/2020	Kaitlin	nces	Meetings	with co-counsel	1.1	764	840.4
			01.					
Investigation -	-		Meetings					
Education at		Banner,	/Confere	1d Other				
DC Jail	10/14/2020	Kaitlin	nces	Meetings	REDACTED	1	764	764
			01.					
Investigation -	1		Meetings		Strategy meeting			
Education at		Hart,	/Confere	1c Co-counsel	with co-counsel and			
DC Jail	10/15/2020	Margaret	nces	Meetings	community orgs.	1.3	676	878.8
Investigation -	1		02.		Draft questions/data			
Education at		Banner,	Prelimina	2a	inquires for DCPS			
DC Jail	10/15/2020	Kaitlin	ry Work	Investigation	and OSSE	0.3	764	229.2

			01.					
Investigation			Meetings					
Education at		Banner,	/Confere	1c Co-counsel	Weekly strategy call			
DC Jail	10/15/2020	Kaitlin	nces	Meetings	with co-counsel	1.3	764	993.2
Investigation -					Review New Mexico			
Education at		Banner,	03.		COVID special ed			
DC Jail	10/21/2020	Kaitlin	Research	3 Research	case	0.6	764	458.4
			01.					
Investigation -			Meetings					
Education at		Banner,	/Confere	1c Co-counsel	Weekly strategy call			
DC Jail	10/22/2020	Kaitlin	nces	Meetings	with co-counsel	1	764	764
			01.					
Investigation -	-		Meetings					
Education at		Banner,	/Confere	1d Other				
DC Jail	10/28/2020	Kaitlin	nces	Meetings	REDACTED	0.5	764	382
			01.					
Investigation -	-		Meetings					
Education at		Banner,	/Confere	1c Co-counsel	Weekly strategy call			
DC Jail	10/29/2020	Kaitlin	nces	Meetings	with co-counsel	0.5	764	382
			01.					
Investigation -	1		Meetings		Strategy meeting			
Education at		Hart,	/Confere	1c Co-counsel	with co-counsel and			
DC Jail	10/29/2020	Margaret	nces	Meetings	community orgs.	1.1	676	743.6
					Correspond with KB			
Investigation -	-				re case file			
Education at		Hart,			management. Meet			
DC Jail	10/30/2020	Margaret	18. Other	18 Other	with Leah re same.	0.3	676	202.8
			01.					
Investigation	1		Meetings					
Education at		Banner,			Strategy call with co-	[
DC Jail	09/11/2020	Kaitlin	nces	Meetings	counsel team	0.75	764	573

				8a Prepare				
Investigation -			08. Initial	Complaint/A	Review and edit due			
Education at		Banner,	Court	mended	process complaint			
DC Jail	09/11/2020	Kaitlin	Filings	Complaint	draft	0.8	764	611.2
	00, 11, 1010				Consultation with	0.0	701	<u> </u>
Investigation -			02.		potential expert re:			
Education at		Banner,	Prelimina	2a	correctional			
DC Jail	09/11/2020	Kaitlin	ry Work	Investigation	education	1	764	764
			01.	<u> </u>				
Investigation -			Meetings					
Education at		Hart,	/Confere	1d Other				
DC Jail	08/14/2020	Margaret	nces	Meetings	REDACTED	1	676	676
			05.					
			Prepare		Review and revise			
			non-court	5 Prepare non	demand letter to			
Investigation -			filings	court filings	DCPS, OSSE, DME.			
Education at		Hart,	(letters,	(letters,	Send to group for			
DC Jail	08/17/2020	Margaret	other)	other)	review.	1.1	676	743.6
Investigation -	1		02.					
Education at		Hart,	Prelimina	2a				
DC Jail	08/17/2020	Margaret	ry Work	Investigation	REDACTED	0.5	676	338
			05.					
			Prepare					
				5 Prepare non				
Investigation -	1		filings	court filings	Correspond with AJE			
Education at		Hart,	(letters,	(letters,	re sign on to final			
DC Jail	08/19/2020	Margaret	other)	other)	demand letter.	0.3	676	202.8

			05.					
			Prepare					
			-	5 Prepare non				
Investigation -			filings	court filings				
Education at		Hart,	(letters,	(letters,	Send corrected			
DC Jail	08/20/2020	Margaret	other)	other)	demand letter.	0.2	676	135.2
			01.		Co-counsel and			
Investigation -	-		Meetings		community groups			
Education at		Hart,	/Confere	1c Co-counsel	weekly strategy			
DC Jail	08/25/2020	Margaret	nces	Meetings	meeting.	1.1	676	743.6
					Preliminary			
					correspond with			
					community orgs re			
Investigation -	-		02.		lack of speical			
Education at		Hart,	Prelimina	2a	education at YSC and			
DC Jail	07/17/2020	Margaret	ry Work	Investigation	IYP.	0.2	676	135.2
					Meeting with			
			01.		community groups			
Investigation -			Meetings		re concerns re			
Education at		Hart,	/Confere	1d Other	special education at			
DC Jail	07/31/2020	Margaret	nces	Meetings	YSC/IYP.	1	676	676
						141.08	_	96381.72

Client Last	Date of	Caseworker Full Name				Time	Hourly	
Name	Service	(Last, First)	Activity Type	Activity Code	Activity Details	Spent	Rate	Billed
-	00.1100	(2000) 11100)	1100.010			- Polit		J
					Weekly meeting			
			01.		with co-counsel			
			Meetings/Confer	1c Co-counsel	re: mediation prep			
Charles H.	12/01/2022	Plater, Marja	ences	Meetings	& settlement	2.4	829	1989.6
					Co-counsel			
		Banner,	06. Mediation	6 Mediation	meeting to prep			
Charles H.	12/01/2022	Kaitlin	(prep, conduct)	(prep, conduct)	for mediation	2.4	829	1989.6
					Discuss mediation			
	10/01/0000	Banner,	06. Mediation	6 Mediation	strategy with			
Charles H.	12/01/2022	Kaitlin	(prep, conduct)	(prep, conduct)	Sarah C.	0.2	829	165.8
					Review and edit			
					bullet points for			
		Banner,	06. Mediation	6 Mediation	12/5 mediation -			
Charles H	12/01/2022	Kaitlin	(prep, conduct)	(prep, conduct)	backwards looking	0.3	829	248.7
CHAITES III.	12,01,2022	- Careini	(р. ср) сопаассу	(р. ср) сонавсту	Sackwar as rooking	0.5	023	2 10.7
					Review Pls.			
					backward looking			
					bulletpoints. Send			
					comments and			
		Hart,	06. Mediation	6 Mediation	edits to WLC			
Charles H.	12/01/2022	Margaret	(prep, conduct)	(prep, conduct)	team.	0.5	829	414.5
			01.		Weekly co-			
		Hart,	Meetings/Confer	1c Co-counsel	counsel strategy			
Charles H.	12/01/2022	Margaret	ences	Meetings	meeting.	2.4	829	1989.6

Charles H.	12/01/2022	Plater, Marja	06. Mediation (prep, conduct)	6 Mediation (prep, conduct)	Review and comment on PI's bullet points re: backwards looking relief provisions	0.4	829	331.6
Charles H.	12/05/2022	Banner, Kaitlin	06. Mediation (prep, conduct)	6 Mediation (prep, conduct)	Debrief mediation session with co-co team and draft backwards looking counter-proposal	2.1	829	1740.9
Charles H.	12/05/2022	Hart, Margaret	01. Meetings/Confer ences	1d Other Meetings	WLC debrief re mediation today and backward looking provisions.	0.5	829	414.5
Charles H.	12/05/2022	Hart, Margaret	01. Meetings/Confer ences	1c Co-counsel Meetings	Meeting with co- counsel re edits to backward looking provisions based on mediation today.	2.1	829	1740.9
Charles H.	12/05/2022	Hart, Margaret	06. Mediation (prep, conduct)	6 Mediation (prep, conduct)	Attend mediation re backward looking settlement provisions.	1.2	829	994.8

			06. Mediation	6 Mediation	Mediation session			
Charles H.	12/05/2022	Plater, Marja	(prep, conduct)	(prep, conduct)	with Judge Harvey	1.4	829	1160.6
					Co-counsel call to			
					debrief after			
					mediation and			
			01.		discuss edits to			
			Meetings/Confer	1c Co-counsel	backward looking			
Charles H.	12/05/2022	Plater, Marja	ences	Meetings	relief	2.1	829	1740.9
					Internal meeting			
			01.		to debrief			
			Meetings/Confer	1d Other	mediation & next			
Charles H.	12/05/2022	Plater, Marja	ences	Meetings	steps	0.5	829	414.5
					Mediation Session			
					with Judge Harvey			
		Banner,	06. Mediation	6 Mediation	(backwards			
Charles H.	12/05/2022	Kaitlin	(prep, conduct)	(prep, conduct)	looking)	1.2	829	994.8
					Date to Consultanting			
		D		C N A a aliantia na	Debrief mediation			
Charles II	42/05/2022	Banner,	06. Mediation	6 Mediation	with Marja and	0.0	020	240.7
Charles H.	12/05/2022	Kaitlin	(prep, conduct)	(prep, conduct)	Maggie	0.3	829	248.7
					Review and edit			
					draft of backwards			
		Banner,	06. Mediation	6 Mediation	looking portion of			
Charles H.	12/08/2022	Kaitlin	(prep, conduct)	(prep, conduct)	SA	1.5	829	1243.5
			17 17	111 177	1			

					Review/revise backward looking provisions of settlement			
		l		7a Draft/edit	agreement. Email			
l		Hart,		settlement	to WLC team re			
Charles H.	12/08/2022	Margaret	07. Settlement	agreement	same.	1.1	829	911.9
			01.		Weekly co-			
			Meetings/Confer	1c Co-counsel	counsel strategy			
Charles H.	12/08/2022	Plater, Marja	ences	Meetings	meeting	1.3	829	1077.7
			06. Mediation	6 Mediation	Review backwards looking draft			
Charles H	12/08/2022	Plater, Marja	(prep, conduct)	(prep, conduct)	redlines	0.5	829	414.5
Charles 11.	12/00/2022	riater, iviarja	01.	(prep, conduct)	Weekly co-	0.5	023	717.5
		Hart,	Meetings/Confer	1c Co-counsel	counsel strategy			
Charles H	12/08/2022	Margaret	ences	Meetings	meeting.	1.3	829	1077.7
Charles n.	12/08/2022	Iviaigaiet	01.	lvicetings	Weekly co-	1.3	029	10/7./
		Banner,	Meetings/Confer	1c Co-counsel	counsel strategy			
Charles H	12/08/2022	Kaitlin	ences	Meetings	meeting	1.3	829	1077.7
Charles 11.	12/00/2022	Kareiiii	crices	Wicethigs	meeting	1.5	023	10//./
					Review emails			
					from OAG re: F/u			
					on backwards			
					looking relief &			
					forward looking			
					instruction and			
Charles ⊔	12/10/2022	Plater, Marja	18 Other	18 Other	funding provisions	0.2	829	165.8
Citaties II.	12/10/2022	rialei, ivialja	10. Other	110 Other	Transaling provisions	0.2	029	103.8

	ı	1	I		1		I	
					Review OAG			
					redlines of			
					forward looking			
			06. Mediation	6 Mediation	instruction and			
Charles H.	12/10/2022	Plater, Marja	(prep, conduct)	(prep, conduct)	funding provisions	0.7	829	580.3
					Review emails			
					from co-counsel			
					re: settlement			
Charles H.	12/10/2022	Plater, Marja	18. Other	18 Other	strategy	0.2	829	165.8
					Review and			
					comment on			
					counterproposal			
		Banner,	06. Mediation	6 Mediation	on backwards			
Charles H.	12/11/2022	Kaitlin	(prep, conduct)	(prep, conduct)	looking	0.4	829	331.6
					Review and			
					comment on			
					forward looking			
					provisions			
					(Independent			
		D		C N A a alia ti a sa	Student Work,			
Charles II	42/42/2022	Banner,	06. Mediation	6 Mediation	Virtual	0.0	020	662.2
Charles H.	12/12/2022	Kaitlin	(prep, conduct)	(prep, conduct)	Instruction)	0.8	829	663.2
					Internal meeting			
					re: settlement			
		Banner,	06. Mediation	6 Mediation	draft - backwards			
Charles H.	12/12/2022	Kaitlin	(prep, conduct)	(prep, conduct)	looking	1.1	829	911.9
					Internal meeting			
					with Marja,			
					Maggie re:			
		Banner,	06. Mediation	6 Mediation	backwards-looking			
Charles H.	12/12/2022	Kaitlin	(prep, conduct)	(prep, conduct)	draft	0.5	829	414.5

					Co-co meeting to			
					prep for			
					mediation -			
		Banner,	06. Mediation	6 Mediation	backwards looking			
Charles H	12/12/2022	-	(prep, conduct)	(prep, conduct)	draft	1	829	829
Charles III.	12, 12, 2022	Karemi	(prep, corradet)	(ргер, сопасс,	diare		023	023
					Internal meeting			
			01.		with MP and KB re			
		Hart,	Meetings/Confer	1d Other	backward looking			
Charles H.	12/12/2022	Margaret	ences	Meetings	draft.	0.5	829	414.5
					Co-counsel			
			01.		meeting re:			
			Meetings/Confer	1c Co-counsel	backwards looking			
Charles H.	12/12/2022	Plater, Marja	ences	Meetings	relief edits to SA	1	829	829
					Co-counsel			
			01.		meeting re			
		Hart,	Meetings/Confer	1c Co-counsel	backward looking			
Charles H.	12/12/2022	Margaret	ences	Meetings	provisions.	0.5	829	414.5
					Internal meeting			
					with Maggie &			
			01.		Kaitlin re:			
			l .	1d Other	backwards-looking			
Charles H.	12/12/2022	Plater, Marja	ences	Meetings	draft	0.5	829	414.5
					Internal meeting			
					re: backwards			
			04		looking relief & to			
			01.	1.1.00	draft edits to			
Charles	42/42/2022	Distant March	•	1d Other	those provisions	4.3	020	004.0
[Charles H.]	12/12/2022	Plater, Marja	lences	Meetings	in the SA	1.2	829	994.8

		1	1	T	T T			1
		Hart,		7a Draft/edit settlement	Review TPM revisions to backwards looking			
Charles H.	12/12/2022	Margaret	07. Settlement	agreement	provisions.	0.3	829	248.7
Charles H.	12/12/2022	Banner, Kaitlin	06. Mediation (prep, conduct)	6 Mediation (prep, conduct)	Edit draft of backwards looking relief	0.4	829	331.6
Charles H.	12/12/2022	Hart, Margaret	01. Meetings/Confer ences	1d Other Meetings	Meeting with KB and MJ re edit s to backwards looking provision. Finalize edits and send to co-counsel.	1.2	829	994.8
Charles H.	12/12/2022	Hart, Margaret	07. Settlement	7a Draft/edit settlement agreement	Revise settlement agreement re defining EEA and applicability of award period.	0.6	829	497.4
Charles H.	12/12/2022	Hart, Margaret	01. Meetings/Conferences	1c Co-counsel Meetings	Call with MP and S. Madison re expiration of education expense awards.	0.3	829	248.7

		1	I		T I			
					Internal meeting			
					to discuss			
		Banner,	06. Mediation	6 Mediation	backwards looking			
Charles H.	12/13/2022	Kaitlin	(prep, conduct)	(prep, conduct)	relief edits	0.3	997	299.1
					Review bullet			
					points & edits to			
					SA on instruction			
					and funding			
			06. Mediation	6 Mediation	orward looking			
Charles H.	12/13/2022	Plater, Marja	(prep, conduct)	(prep, conduct)	relief	0.4	829	331.6
					Co-counsel call re:			
					forward looking			
		Banner,	06. Mediation	6 Mediation	proposal and prep			
Charles H	12/13/2022	Kaitlin	(prep, conduct)	(prep, conduct)	for mediation	0.9	829	746.1
Charles 11.	12/13/2022	Karciiii	(prep, conduct)	(prep, conduct)	Review and edit	0.5	023	740.1
					backwards looking			
			06. Mediation	6 Mediation	relief provisions of			
Charles H.	12/13/2022	Plater, Marja	(prep, conduct)	(prep, conduct)	SA	0.7	829	580.3
		, , , , ,	(11-7	(11-7	Edit draft of			
		Banner,	06. Mediation	6 Mediation	backwards looking			
Charles H.	12/13/2022	Kaitlin	(prep, conduct)	(prep, conduct)	relief	0.4	829	331.6
					Co-counsel			
					meeting re:			
					instruction and			
			01.		funding provisions			
			Meetings/Confer	1c Co-counsel	of forward looking			
Charles H.	12/13/2022	Plater, Marja	ences	Meetings	relief	0.8	829	663.2

	1		1	1	1	1		
					Review bullet			
					points and redline			
					re forward looking			
				7a Draft/edit	provisions. Emails			
		Hart,		settlement	to co-counsel re			
Charles H.	12/14/2022	Margaret	07. Settlement	agreement	same.	0.8	829	663.2
					Revise language			
					re: tolling			
		Banner,	06. Mediation	6 Mediation	agreements in			
Charles H.	12/15/2022	Kaitlin	(prep, conduct)	(prep, conduct)	settlement	0.1	829	82.9
					Review of student			
					list, with students			
		Hart,	06. Mediation	6 Mediation	identified,			
Charles H.	12/15/2022	Margaret	(prep, conduct)	(prep, conduct)	provided by OAG.	0.2	829	165.8
			01.		Weekly co-			
		Banner,	Meetings/Confer	1c Co-counsel	counsel strategy			
Charles H.	12/15/2022	Kaitlin	ences	Meetings	meeting	1.4	829	1160.6
					Co-counsel			
					debrief on			
					mediation session,			
		Pannor	06. Mediation	6 Mediation	1			
Charles H	12/16/2022	Banner, Kaitlin			next steps and scheduling needs	1.1	829	911.9
Charles n.	12/10/2022	Naitiiii	(prep, conduct)	(prep, conduct)	Mediation Session	1.1	629	911.9
					with Judge Harvey			
					_ larvey			
		Banner,	06. Mediation	6 Mediation	backwards/forwar			
Charles H.	12/16/2022	•	(prep, conduct)	(prep, conduct)	ds	3.8	829	3150.2
	,,		112. 26, 22	112:36, 22::2:200	1	3.0		0_00.2

	1	1	1	1	1	1		
					Debrief mediation			
					meeting with co-			
					counsel team and			
		Banner,	06. Mediation	6 Mediation	draft outstanding			
Charles H.	12/16/2022	Kaitlin	(prep, conduct)	(prep, conduct)	items	1.1	829	911.9
					Review draft of			
					forward-looking			
					counterproposal			
		Banner,	06. Mediation	6 Mediation	with team			
Charles H.	12/19/2022	Kaitlin	(prep, conduct)	(prep, conduct)	comments	0.4	829	331.6
					T/C with			
					Stephanie			
			01.		Madison re:			
		Banner,	Meetings/Confer	1c Co-counsel	settlement			
Charles H.	12/20/2022	Kaitlin	ences	Meetings	strategies	0.2	829	165.8
					Review &			
					comment on PI's			
				7a Draft/edit	redlines to			
				settlement	forward looking			
Charles H.	12/20/2022	Plater, Marja	07. Settlement	agreement	SA provisions	1.3	829	1077.7
					co-counsel debrief			
			01.					
		l l a mt		1 a Canadana	following conversation with			
Charles II	42/20/2022	Hart,	Meetings/Confer	1c Co-counsel		0.5	020	44.4.5
Charles H.	12/20/2022	Margaret	ences	Meetings	Dr. Clark.	0.5	829	414.5
					Internal meeting			
					with Maggie &			
			01.		Kaitlin re: forward			
			Meetings/Confer	1d Other	looking SA			
Charles H.	12/20/2022	Plater, Marja	_	Meetings	redlines	0.5	829	414.5
a	,,	ico., imarja	10000	15555	. 5565	5.5	1 023	

			01.					
		Banner,	Meetings/Confer	1c Co-counsel				
Charles H.	12/20/2022		ences	Meetings	REDACTED	0.9	829	746.1
Charles III.	12/20/2022	Kareiiii	Chices	Wicethigs	REBRETES	0.5	023	7 10.1
					Internal meeting			
					re: mediation			
			01.		strategy,			
		Banner,	Meetings/Confer	1d Other	settlement			
Charles H.	12/20/2022	Kaitlin	ences	Meetings	agreement review	0.4	829	331.6
					- U			
			01.		Meeting with Dr.			
		Hart,	Meetings/Confer	1d Other	Clark re potential			
Charles H.	12/20/2022	Margaret	ences	Meetings	auditor role.	1	829	829
		_			Review and			
		Banner,	06. Mediation	6 Mediation	comment on Para.			
Charles H.	12/21/2022	Kaitlin	(prep, conduct)	(prep, conduct)	54 edits	0.4	829	331.6
					Review and			
					comment on draft			
		Banner,	06. Mediation	6 Mediation	of forward looking			
Charles H.	12/21/2022	Kaitlin	(prep, conduct)	(prep, conduct)	SA provisions	1.9	829	1575.1
					Review forward			
		Banner,	06. Mediation	6 Mediation	and backwards			
Charles H.	12/21/2022	Kaitlin	(prep, conduct)	(prep, conduct)	looking drafts	0.5	829	414.5
					Review edits and			
					comments to			
					paras. 53 and 54			
			06. Mediation	6 Mediation	and TPM's memo			
Charles H.	12/22/2022	Plater, Marja	(prep, conduct)	(prep, conduct)	re same	0.5	829	414.5
			01.		Co-counsel			
			Meetings/Confer	1c Co-counsel	meeting re SA			
Charles H.	12/22/2022	Plater, Marja	ences	Meetings	edits	0.9	829	746.1

					Review and			
					comment on Para			
		Banner,	06. Mediation	6 Mediation	54 and backwards-			
Charles H.	12/22/2022	Kaitlin	(prep, conduct)	(prep, conduct)	looking relief	0.5	829	414.5
	,,		(10.01)	(l l l l l l l l l l l l l l l l l l l			
					Co-co call re:			
		Banner,	06. Mediation	6 Mediation	settlement draft			
Charles H.	12/22/2022	· ·	(prep, conduct)	(prep, conduct)	and next steps	0.8	829	663.2
			,	,	Review teams			
					edits & comments			
				7a Draft/edit	on forward			
				settlement	looking provisions			
Charles H.	12/22/2022	Plater, Marja	07. Settlement	agreement	of SA	0.5	829	414.5
		Banner,	06. Mediation	6 Mediation	Review edits to			
Charles H.	12/28/2022	Kaitlin	(prep, conduct)	(prep, conduct)	paragraph 54	0.2	829	165.8
					T/C with Sarah			
					Comeau re:			
		Banner,	06. Mediation	6 Mediation	mediation prep,			
Charles H.	12/29/2022	Kaitlin	(prep, conduct)	(prep, conduct)	strategy	0.3	829	248.7
		Banner,	06. Mediation	6 Mediation	T/C with District			
Charles H.	12/29/2022	Kaitlin	(prep, conduct)	(prep, conduct)	re: para 54	0.3	829	248.7
					Review edits and			
					comments to			
					paras. 53 and 54			
			06. Mediation	6 Mediation	and emails re:			
Charles H.	12/30/2022	Plater, Marja	(prep, conduct)	(prep, conduct)	same	0.3	829	248.7

			I				ı	
					Review backward looking bullet			
					points to prep for			
			06. Mediation	6 Mediation	mediation this			
Charles H.	11/01/2022	Plater, Marja	(prep, conduct)	(prep, conduct)	week	0.4	829	331.6
					Co-counsel call to			
					prep for			
					mediation session			
					(forward and			
		Banner,	06. Mediation	6 Mediation	backward relief			
Charles H.	11/01/2022	Kaitlin	(prep, conduct)	(prep, conduct)	bullets)	2.8	829	2321.2
					Review and			
					comment on			
					mediation "bullets			
					on forward and			
		Banner,	06. Mediation	6 Mediation	backing look			
Charles H.	11/01/2022	Kaitlin	(prep, conduct)	(prep, conduct)	counterproposal	0.8	829	663.2
					Prep for			
					medication on			
		Hart,	06. Mediation	6 Mediation	11.4.22 with co-			
Charles H.	11/01/2022	Margaret	(prep, conduct)	(prep, conduct)	counsel.	2.8	829	2321.2
					Review and edit			
					forward looking			
		Hart,	06. Mediation	6 Mediation	bullets and			
Charles H.	11/02/2022	Margaret	(prep, conduct)	(prep, conduct)	questions.	0.4	829	331.6
					Review and			
					comment on			
					bullets/questions			
		Banner,	06. Mediation	6 Mediation	in prep for			
Charles H.	11/02/2022	Kaitlin	(prep, conduct)	(prep, conduct)	mediation	0.7	829	580.3

					Review and edit			
					backward looking			
					bullets and			
		I I a al	OC Madiation	C NA . diation	questions. Email			
	/00 /0000	Hart,	06. Mediation	6 Mediation	to WLC team re		222	
Charles H.	11/02/2022	Margaret	(prep, conduct)	(prep, conduct)	same.	0.5	829	414.5
			01.	_	Post mediation			
		Hart,	0.	1c Co-counsel	debrief with co-			
Charles H.	11/03/2022	Margaret	ences	Meetings	counsel.	0.8	829	663.2
					Debrief mediation			
			01.		session with co-			
			Meetings/Confer	1c Co-counsel	counsel team,			
Charles H.	11/03/2022	Plater, Marja	ences	Meetings	discuss next steps	0.8	829	663.2
		Banner,	06. Mediation	6 Mediation	Debrief mediation			
Charles H.	11/03/2022	Kaitlin	(prep, conduct)	(prep, conduct)	with co-co team	0.6	829	497.4
			06. Mediation	6 Mediation	Mediation session			
Charles H.	11/03/2022	Plater, Marja	(prep, conduct)	(prep, conduct)	with Judge Harvey	6	997	5982
					Mediation session			
		Banner,	06. Mediation	6 Mediation	(forward looking			
Charles H.	11/03/2022	Kaitlin	(prep, conduct)	(prep, conduct)	relief)	6	829	4974
		Hart,	06. Mediation	6 Mediation				
Charles H.	11/03/2022	Margaret	(prep, conduct)	(prep, conduct)	Attend Mediation	6	829	4974
			, , , ,	, ,				
		Hart,	06. Mediation	6 Mediation	Attend mediation			
Charles H.	11/04/2022	,	(prep, conduct)	(prep, conduct)	session.	2.8	829	2321.2

			I	1	1			
					Debrief mediation			
			01.		session with co-			
			Meetings/Confer	1c Co-counsel	counsel team,			
Charles H.	11/04/2022	Plater, Marja		Meetings	discuss next steps	0.2	829	165.8
onanes m	11/01/2022	i lacely ividiga		ivicetii.gs	uiscuss Hext steps	0.2	023	100.0
					Debrief mediation			
		Banner,	06. Mediation	6 Mediation	session with co-co			
Charles H.	11/04/2022	Kaitlin	(prep, conduct)	(prep, conduct)	team	0.2	829	165.8
			(((р. ср, сс				
					Prepare questions			
					for District re:			
		Banner,	06. Mediation	6 Mediation	backwards looking			
Charles H.	11/04/2022	Kaitlin	(prep, conduct)	(prep, conduct)	relief	1.5	829	1243.5
					Draft f/u			
			01.		questions for OAG			
			Meetings/Confer	1c Co-counsel	re: backwards			
Charles H.	11/04/2022	Plater, Marja	ences	Meetings	looking relief	1.5	829	1243.5
					Mediation session			
		Banner,	06. Mediation	6 Mediation	(backwards			
Charles H.	11/04/2022	Kaitlin	(prep, conduct)	(prep, conduct)	looking relief)	2.8	829	2321.2
			06. Mediation	6 Mediation	Mediation session			
Charles H.	11/04/2022	Plater, Marja	(prep, conduct)	(prep, conduct)	with Judge Harvey	2.8	829	2321.2
					Downloading ECF			
					documents and			
					scheduling			
					settlement			
					conferences on			
		Machado,			attorneys'			
Charles H.	11/04/2022	Joselyn	18. Other	18 Other	schedules.	0.1	225	22.5

		I		1	1			1
					Draft questions			
			01.		for OAG re follow			
		Hart,	Meetings/Confer	1c Co-counsel	up to mediation			
Charles H.	11/04/2022	Margaret	ences	Meetings	session.	1.5	829	1243.5
			01.		Debrief mediation			
		Hart,	Meetings/Confer	1c Co-counsel	with co-counsel			
Charles H.	11/04/2022	Margaret	ences	Meetings	team.	0.2	829	165.8
					Review edits to SA			
					provisions re:			
				7a Draft/edit	instruction and			
				settlement	funding fwd			
Charles H.	11/07/2022	Plater, Marja	07. Settlement	agreement	looking relief	0.8	829	663.2
					Discuss edits to			
				7a Draft/edit	instruction and			
				settlement	funding portions			
Charles H.	11/08/2022	Plater, Marja	07. Settlement	agreement	of SA with Kaitlin	0.2	829	165.8
					Review edits on			
					LEA			
				72 Draft /adit	funding/teacher instruction and			
		Pannor		7a Draft/edit settlement	call with Sarah			
Charles H	11/08/2022	Banner, Kaitlin	07. Settlement		Comeau re: same	1	829	829
Charles II.	11/00/2022	Kaitiiii	or. Settlement	agreement	Conteau re. same	Т	023	023
					Co-counsel			
					meeting re: edits			
			01.		to instruction and			
			Meetings/Confer	1c Co-counsel	funding provisions			
Charles H.	11/08/2022	Plater, Marja		Meetings	of SA	1.3	829	1077.7

					Co-co meeting to			
		Banner,	06. Mediation	6 Mediation	prep for			
Charles H.	11/08/2022	Kaitlin	(prep, conduct)	(prep, conduct)	mediation	1	829	829
					Edit draft			
					settlement			
				7a Draft/edit	agreement			
		Banner,		settlement	(instruction and			
Charles H.	11/08/2022	Kaitlin	07. Settlement	agreement	LEA funding)	0.8	829	663.2
					Call with Sarah			
					Comeau re:			
		Banner,	06. Mediation	6 Mediation	settlement			
Charles H.	11/08/2022	Kaitlin	(prep, conduct)	(prep, conduct)	stratgey	0.3	829	248.7
		Banner,	06. Mediation	6 Mediation	Edit settlement			
Charles H.	11/09/2022	Kaitlin	(prep, conduct)	(prep, conduct)	proposal (funding)	0.6	829	497.4
					Internal meeting			
					and meeting with			
					co-counsel re:			
					edits to			
					settlement			
					proposal			
		Banner,	06. Mediation	6 Mediation	(instruction and			
Charles H.	11/09/2022	Kaitlin	(prep, conduct)	(prep, conduct)	funding)	2.1	829	1740.9
					Review and edit			
				7a Draft/edit	draft SA re:			
				settlement	instruction and			
Charles H.	11/09/2022	Plater, Marja	07. Settlement	agreement	funding provisions	0.6	829	497.4

					Co-counsel			
					meeting re:			
					strategy for			
			01.		counter on			
			Meetings/Confer	1c Co-counsel	backwards looking			
Charles H.	11/10/2022	Plater, Marja	ences	Meetings	relief in SA	1.8	829	1492.2
					Co-co strategy			
					meeting re:			
		Banner,	06. Mediation	6 Mediation	backwards looking			
Charles H.	11/10/2022	Kaitlin	(prep, conduct)	(prep, conduct)	relief	1.8	829	1492.2
		Machado,			Uploading ECF			
Charles H.	11/11/2022	Joselyn	18. Other	18 Other	Documents	0.2	225	45
					Review and edit			
				7a Draft/edit	draft backwards			
				settlement	looking SA			
Charles H.	11/13/2022	Plater, Marja	07. Settlement	agreement	provisions	1.5	829	1243.5
					Review/revise			
					backwards looking			
					sections of			
					settlement			
				7a Draft/edit	agreement. Email			
		Hart,		settlement	to co-counsel re			
Charles H.	11/14/2022	Margaret	07. Settlement	agreement	same.	0.6	829	497.4
					Review and edit			
					Pls			
					counterproposal			
		Banner,	06. Mediation	6 Mediation	on backwards			
Charles H.	11/14/2022	Kaitlin	(prep, conduct)	(prep, conduct)	looking relief	0.5	829	414.5

Charles H.	11/15/2022	Banner, Kaitlin	06. Mediation (prep, conduct)	6 Mediation (prep, conduct)	Review SJP edits to backwards looking relief; co- co call to discuss edits to backwards looking relief	2.2	829	1823.8
					Co-counsel			
					meeting re:			
					backwards looking			
					relief edits to SA;			
					f/u call to co-			
					counsel re: data			
			01.		needed for			
			Meetings/Confer	1c Co-counsel	backwards looking			
Charles H.	11/15/2022	Plater, Marja	ences	Meetings	relief	2.2	829	1823.8
					Review edits to			
		Banner,	06. Mediation	6 Mediation	backwards looking			
Charles H.	11/16/2022	Kaitlin	(prep, conduct)	(prep, conduct)	relief	0.4	829	331.6
					T/C with Sarah			
					Comeau re:			
		Banner,	06. Mediation	6 Mediation	mediation prep,			
Charles H.	11/16/2022	Kaitlin	(prep, conduct)	(prep, conduct)	strategy	0.6	829	497.4
					Review and edit			
				7a Draft/edit	backwards looking			
				settlement	relief provisions of	_		
Charles H.	11/16/2022	Plater, Marja	07. Settlement	agreement	SA	0.6	829	497.4

					1			
Charles H.	11/16/2022	Plater, Marja	07. Settlement	7a Draft/edit settlement agreement	Review District's edits to instruction and funding provisions of SA re: forward looking relief	0.3	829	248.7
Charles H.	11/16/2022	Plater, Marja	01. Meetings/Confer ences	1c Co-counsel Meetings	Co-counsel call re: District's counters on instruction and funding provisions of SA & mediation prep	1.2	829	994.8
Charles H.	11/16/2022	Banner, Kaitlin	06. Mediation (prep, conduct)	6 Mediation (prep, conduct)	Co-counsel meeting to review District's counterproposal on instructional hours/funding	1.3	829	1077.7
Charles H	11/16/2022	Banner, Kaitlin	03. Research	3 Research	REDACTED	0.4	829	331.6
	11/16/2022	Banner,	06. Mediation (prep, conduct)	6 Mediation (prep, conduct)	Review District's proposal on instructional hours/funding	0.3	829	248.7

					Review draft			
					bullet points for			
					Nov. 21 mediation			
					session re:			
					instruction and			
			06. Mediation	6 Mediation	funding provisions			
Charles H.	11/17/2022	Plater, Marja	(prep, conduct)	(prep, conduct)	of SA	0.4	829	331.6
Charles H.	11/17/2022	Plater, Marja	18. Other	18 Other	REDACTED	0.2	829	165.8
					Review and edit			
					draft bullets on			
		Banner,	06. Mediation	6 Mediation	instruction/fundin			
Charles H.	11/17/2022	Kaitlin	(prep, conduct)	(prep, conduct)	g	0.2	829	165.8
			01.		Co-counsel			
		Banner,	Meetings/Confer	1c Co-counsel	meeting to prep			
Charles H.	11/17/2022	Kaitlin	ences	Meetings	for mediation	1.3	829	1077.7
					Review and edit			
					draft bullets on			
		Banner,	06. Mediation	6 Mediation	instruction/fundin			
Charles H.	11/17/2022	Kaitlin	(prep, conduct)	(prep, conduct)	g	0.3	829	248.7
					Review draft of			
					counterproposal			
		Banner,	06. Mediation	6 Mediation	(backwards			
Charles H.	11/18/2022	Kaitlin	(prep, conduct)	(prep, conduct)	looking)	0.3	829	248.7
					Review edits to			
					draft counter on			
					backwards looking			
		Banner,	06. Mediation	6 Mediation	relief, email to			
Charles H	11/18/2022	l '	(prep, conduct)	(prep, conduct)	team re: same	0.1	829	82.9
CHAILES II.	1 - 1 / 10 / 2022	Naturi	(prep, conduct)	Ithrep, conduct)	ccaiii i c. saiiie	0.1	023	02.3

					T/C with			
					Stephanie			
					Madison re:			
		Banner,	06. Mediation	6 Mediation	settlement			
Charles H.	11/18/2022	Kaitlin	(prep, conduct)	(prep, conduct)	conference prep	0.5	829	414.5
			01.					
		Hart,	Meetings/Confer	1c Co-counsel	Mediation de-			
Charles H.	11/21/2022	Margaret	ences	Meetings	brief.	0.6	829	497.4
			06. Mediation	6 Mediation	Mediation session			
Charles H	11/21/2022	Plater, Marja	(prep, conduct)	(prep, conduct)	with Judge Harvey	5.1	829	4227.9
01101103111	11/21/2022	riater, iviarja	(р. ср.) сонавст	(р. ср) сонаве;	with sauge harvey	3.1	023	122713
					Debrief mediation			
					session with co-			
			06. Mediation	6 Mediation	counsel team,			
Charles H.	11/21/2022	Plater, Marja	(prep, conduct)	(prep, conduct)	discuss next steps	0.8	829	663.2
		Hart,	06. Mediation	6 Mediation				
Charles H.	11/21/2022	Margaret	(prep, conduct)	(prep, conduct)	Attend mediation.	5.2	829	4310.8
					Co-counsel			
	/ /	Banner,	06. Mediation	6 Mediation	debrief on			
Charles H.	11/21/2022	Kaitlin	(prep, conduct)	(prep, conduct)	mediation session	0.8	829	663.2
					Mediation session			
					instruction			
		Banner,	06. Mediation	6 Mediation	delivery and			
Charles H.	11/21/2022	Kaitlin	(prep, conduct)	(prep, conduct)	funding	5.2	829	4310.8
					Review Defs SA			
					redline re:			
			06. Mediation	6 Mediation	backwards looking			
Charles H.	11/30/2022	Plater, Marja	(prep, conduct)	(prep, conduct)	relief	0.5	829	414.5

		l	I	1			ı	1
				7a Draft/edit	Review and edit			
				settlement	dispute resolution			
Charles H.	10/02/2022	Plater, Marja	07. Settlement	agreement	sections of SA	1.5	829	1243.5
					Revise OSSE			
					monitoring and			
				7a Draft/edit	miscellaneous			
		Hart,		settlement	sections of			
Charles H.	10/02/2022	Margaret	07. Settlement	agreement	proposed SA.	1.1	829	911.9
					Research OSSE			
					early childhood			
					monitoring			
					protocols and			
				7a Draft/edit	revise SA to			
		Hart,		settlement	incorporate where			
Charles H.	10/03/2022	Margaret	07. Settlement	agreement	appropriate.	1.2	829	994.8
					Review edits to			
		Banner,	06. Mediation	6 Mediation	settlement			
Charles H.	10/03/2022	Kaitlin	(prep, conduct)	(prep, conduct)	agreement	0.5	829	414.5
					Internal meeting			
					with Marja,			
					Maggie re:			
		Banner,	06. Mediation	6 Mediation	settlement			
Charles H.	10/03/2022	Kaitlin	(prep, conduct)	(prep, conduct)	agreement draft	0.7	829	580.3
					Internal meeting			
			01.		with Kaitlin and			
			Meetings/Confer	1d Other	Maggie re: edits			
Charles H.	10/03/2022	Plater, Marja	ences	Meetings	to SA draft	0.7	829	580.3

	1	1	ı	1	1			1
Charles H.	10/03/2022	Plater, Marja	01. Meetings/Conferences	1c Co-counsel Meetings	Meeting w/ co- counsel re: SA counter-proposal & mediation strategy	1.7	829	1409.3
					Co-counsel			
					meeting re			
			01.		settlement draft			
		Hart,	Meetings/Confer	1c Co-counsel	and mediation			
Charles H.	10/03/2022	Margaret	ences	Meetings	strategy.	1.7	829	1409.3
					Internal meeting			
					with KB and MP re			
			01.		edits to			
		Hart,	Meetings/Confer	1d Other	settlement			
Charles H.	10/03/2022	Margaret	ences	Meetings	agreement.	0.7	829	580.3
					Research D.C.			
					District Court			
					mediation			
Charles H.	10/03/2022	Plater, Marja	03. Research	3 Research	program	0.3	829	248.7
					Co-counsel call re:			
					settlement draft,			
		Banner,	06. Mediation	6 Mediation	mediation			
Charles H.	10/03/2022	Kaitlin	(prep, conduct)	(prep, conduct)	strategy	1.7	829	1409.3
				7a Draft/edit	Review and edit			
	10/00/0055			settlement	dispute resolution			
Charles H.	10/03/2022	Plater, Marja	07. Settlement	agreement	sections of SA	0.5	829	414.5

					Edits to			
					settlement			
					agreement draft -			
		Banner,	06. Mediation	6 Mediation	duration			
Charles H.	10/03/2022		(prep, conduct)	(prep, conduct)	provisions	0.3	829	248.7
					Co-counsel			
					agreement to			
					review draft			
					settlement			
					agreement,			
		Banner,	06. Mediation	6 Mediation	discuss mediation			
Charles H.	10/04/2022	Kaitlin	(prep, conduct)	(prep, conduct)	strategy	3.1	829	2569.9
				7a Draft/edit	Revise OSSE			
		Hart,		settlement	monitoring per KB			
Charles H.	10/04/2022	Margaret	07. Settlement	agreement	review.	0.3	829	248.7
				7a Draft/edit	Co-counsel call to			
				settlement	review and edit SA			
Charles H.	10/04/2022	Plater, Marja	07. Settlement	agreement	counter-proposal	3.1	829	2569.9
					Review edits to			
		Banner,	06. Mediation	6 Mediation	settlement			
Charles H.	10/04/2022	Kaitlin	(prep, conduct)	(prep, conduct)	agreement	0.5	829	414.5
					Review edits to			
		Banner,	06. Mediation	6 Mediation	the settlement			
Charles H.	10/04/2022	Kaitlin	(prep, conduct)	(prep, conduct)	agreement	0.3	829	248.7
				7a Draft/edit				
l				settlement	Review SJP & TPM			
Charles H.	10/04/2022	Plater, Marja	07. Settlement	agreement	edits to SA	1.5	829	1243.5

	l		1	1	1 1			
					Co-counsel call to			
			01.		discuss settlement			
		Hart,	Meetings/Confer	1c Co-counsel	agreement edits			
Charles H	10/04/2022	Margaret	lences	Meetings	and mediation.	3.1	829	2569.9
Charles II.	10/04/2022	iviaigaiet	ences	7a Draft/edit	Edit draft	5.1	029	2309.9
		Banner,		settlement	settlement			
Charles H	10/05/2022	Kaitlin	07. Settlement			2.1	829	1740.9
Charles n.	10/03/2022	Natuili	07. Settlement	agreement	agreement	2.1	629	1740.9
					Review and			
					comment on			
					Plaintiff's overall			
				7a Draft/edit	forward-looking			
		Hart,		settlement	SA counter			
Charles H.	10/05/2022	Margaret	07. Settlement	agreement	proposal.	0.7	829	580.3
Charles III	20,03,2022	ivia garet	o, i octioniche	ugi cement	Review edits to	0.7	023	300.5
					SA, mediation			
					strategy with			
		Banner,	06. Mediation	6 Mediation	Stephanie			
Charles H.	10/06/2022	Kaitlin	(prep, conduct)	(prep, conduct)	Madison (co-co)	0.5	829	414.5
0.1.0.1.00			(р. ср., сс., сс.,	(р. ср., сс., сс.,			325	
					Review and edit			
					draft settlement			
					agreement -			
		Banner,	06. Mediation	6 Mediation	duration of			
Charles H.	10/06/2022	Kaitlin	(prep, conduct)	(prep, conduct)	agreement	0.4	829	331.6
					Review and edit			
		Banner,	06. Mediation	6 Mediation	draft settlement			
Charles H.	10/06/2022	Kaitlin	(prep, conduct)	(prep, conduct)	agreement	1.1	829	911.9

			I					
					Review &			
					comment on Defs			
					settlement			
					agreement re:			
				7a Draft/edit	counter-proposal			
				settlement	on contempt and			
Charles H.	10/10/2022	Plater, Marja	07. Settlement	agreement	comp ed relief	0.8	829	663.2
					De la Billadadi			
			OC NA HILLE	C NA . diation	Review PL's draft			
	10/10/2022		06. Mediation	6 Mediation	settlement	0.5	000	44.4.5
Charles H.	10/10/2022	Plater, Marja	(prep, conduct)	(prep, conduct)	agreement	0.5	829	414.5
					Review emails re:			
			06. Mediation	6 Mediation	draft settlement			
Charles H.	10/10/2022	Plater, Marja	(prep, conduct)	(prep, conduct)	agreement edits	0.3	829	248.7
			01.					
			Meetings/Confer	1c Co-counsel				
Charles H.	10/11/2022	Plater, Marja	ences	Meetings	REDACTED	0.5	829	414.5
					Co-counsel			
					meeting re:			
					mediation			
					strategy			
		Banner,	06. Mediation	6 Mediation	(backwards			
Charles H.	10/11/2022	Kaitlin	(prep, conduct)	(prep, conduct)	looking relief)	1.3	829	1077.7
					Internal meeting			
					with Marja,			
					Maggie re:			
		Banner,	06. Mediation	6 Mediation	settlement			
Charles H.	10/11/2022	Kaitlin	(prep, conduct)	(prep, conduct)	agreement draft	1	829	829
			01.					
			Meetings/Confer	1d Other				
Charles H.	10/11/2022	Plater, Marja	ences	Meetings	REDACTED	1	829	829

Case 1:21-cv-00997-CJN Document 201-12 Filed 10/19/23 Page 51 of 161

			ı	1				1
Charles H.	10/11/2022	Banner, Kaitlin	06. Mediation (prep, conduct)	6 Mediation (prep, conduct)	REDACTED	0.5	829	414.5
					Meeting with co-			
			01.		counsel re: PL's			
				1c Co-counsel	edits to backward			
Charles H.	10/11/2022	Plater, Marja		Meetings	looking relief SA	2	829	1658
					Co-counsel			
					meeting re			
			01.		District's edits to			
		Hart,	Meetings/Confer	1c Co-counsel	backward looking			
Charles H.	10/11/2022	Margaret	ences	Meetings	provisions of SA.	2.2	829	1823.8
			01.					
		Hart,	Meetings/Confer	1d Other				
Charles H.	10/11/2022	Margaret	ences	Meetings	REDACTED	1	829	829
			01.					
		Hart,	l	1c Co-counsel				
Charles H.	10/11/2022	Margaret	ences	Meetings	REDACTED	0.5	829	414.5
					Review and			
					comment on Def.			
					counterproposal -			
		Banner,	06. Mediation	6 Mediation	backwards looking			
Charles H.	10/11/2022	1	(prep, conduct)	(prep, conduct)	relief	0.4	829	331.6

				7a Draft/edit	Review and comment on District's edit to			
		Hart,		settlement	backward looking			
Charles H.	10/11/2022	Margaret	07. Settlement	agreement	provisions of SA.	0.7	829	580.3
					Co-counsel meeting re			
			01.		redlines to			
		Hart,	•	1c Co-counsel	backwards looking			
Charles H.	10/12/2022	Margaret	ences	Meetings	provisions of SA.	1.9	829	1575.1
					Co-counsel			
			01.		meeting re: PL's			
				1c Co-counsel	edits to backward			
Charles H.	10/12/2022	Plater, Marja	ences	Meetings	looking relief SA	2.1	829	1740.9
					Co-co call to			
		Dammar	OC Madiation	C Madiation	review Pls.			
Charles 4	10/12/2022	Banner,	06. Mediation	6 Mediation	backwards looking counterproposal	1.6	829	1326.4
Cilaries II.	10/12/2022	Naitiiii	(prep, conduct)	(prep, conduct)	counterproposal	1.0	629	1520.4
					Review combined			
				7a Draft/edit	edits to the			
				settlement	backward looking			
Charles H.	10/12/2022	Plater, Marja	07. Settlement	agreement	relief SA	0.5	829	414.5

					Review and			
					comment on Pls.			
					edits to			
		Banner,	06. Mediation	6 Mediation	backwards looking			
Charles H.	10/12/2022	Kaitlin	(prep, conduct)	(prep, conduct)	relief	0.8	829	663.2
	, ,		, ,	, ,	Meeting with KB			
			01.		re edits to			
		Hart,	Meetings/Confer	1d Other	backwards looking			
Charles H.	10/13/2022	Margaret	ences	Meetings	SA.	0.3	829	248.7
					Review and edit			
				7a Draft/edit	PL's edits to			
				settlement	backward looking			
Charles H.	10/13/2022	Plater, Marja	07. Settlement	agreement	relief SA	1	829	829
					Provide edits to			
					draft			
					counterproposal			
		Banner,	06. Mediation	6 Mediation	on backwards			
Charles H.	10/13/2022	Kaitlin	(prep, conduct)	(prep, conduct)	looking relief	0.9	829	746.1
					Review co-co edits			
					to draft			
					counterproposal -			
		Banner,	06. Mediation	6 Mediation	backwards looking			
Charles H.	10/13/2022	Kaitlin	(prep, conduct)	(prep, conduct)	relief	0.3	829	248.7
					Co-counsel			
					meeting re:			
					counterproposal			
		Banner,	06. Mediation	6 Mediation	on backwards			
Charles H.	10/14/2022	Kaitlin	(prep, conduct)	(prep, conduct)	looking relief	1.5	829	1243.5

	1	1	I	1	1			
		Hart,	01. Meetings/Confer	1c Co-counsel	Co-counsel meeting re edits to backward looking sections of			
Charles H.	10/14/2022	Margaret	ences	Meetings	SA.	2	829	1658
		Plater, Marja	06. Mediation (prep, conduct)	6 Mediation (prep, conduct)	Co-counsel meeting re: PL's edits to backward looking relief SA	2	829	1658
CHARLESTI	10, 1 1, 2022	Machado,	(prep) conducty	(р. ср.) сопасс,	Uploading ECF	_	023	
Charles H	10/14/2022	Joselyn	18. Other	18 Other	documents	0.1	225	22.5
Charles H.	10/14/2022	Hart, Margaret	07. Settlement	7a Draft/edit settlement agreement	Review of edits to backward looking sections of SA in anticipation of cocounsel meeting.	0.6	829	497.4
Charles H.	10/14/2022	Banner, Kaitlin	06. Mediation (prep, conduct)	6 Mediation (prep, conduct)	Review and comment on draft counterproposal on backwards looking relief	0.6	829	497.4
Charles H.	10/17/2022	Banner, Kaitlin	06. Mediation (prep, conduct)	6 Mediation (prep, conduct)	Review District's response on counterproposal, prep for mediation session	1.8	829	1492.2

					Co-counsel			
					meeting to prep			
			01.		for mediation re:			
			Meetings/Confer	1c Co-counsel	backwards looking			
Charles H.	10/17/2022	Plater, Marja		Meetings	relief	1	829	829
					Review the			
					District's bullet			
					point responses to			
					PL's counter			
					proposal re:			
			06. Mediation	6 Mediation	backwards looking			
Charles H.	10/17/2022	Plater, Marja	(prep, conduct)	(prep, conduct)	relief	0.2	829	165.8
					Co-counsel			
			01.		meeting re			
		Hart,	Meetings/Confer	1c Co-counsel	mediation on			
Charles H.	10/17/2022	Margaret	ences	Meetings	10.18.22.	1.2	829	994.8
			06. Mediation	6 Mediation	Mediation session			
Charles H.	10/18/2022	Plater, Marja	(prep, conduct)	(prep, conduct)	with Judge Harvey	4.9	829	4062.1
					Mediation session			
					with Judge			
		Banner,	06. Mediation	6 Mediation	Harvey, OAG and			
Charles H.	10/18/2022	Kaitlin	(prep, conduct)	(prep, conduct)	со-со	4.9	829	4062.1
			01.		Debrief with co-			
			Meetings/Confer	1c Co-counsel	counsel after			
Charles H.	10/18/2022	Plater, Marja	ences	Meetings	mediation session	0.5	829	414.5
			01.		Co-counsel			
		Hart,	Meetings/Confer	1c Co-counsel	meeting prior to			
Charles H.	10/18/2022	Margaret	ences	Meetings	mediation.	0.5	829	414.5
					Mediation session			
		Hart,	06. Mediation	6 Mediation	with Judge			
Charles H.	10/18/2022	Margaret	(prep, conduct)	(prep, conduct)	Harvey.	3	829	2487

	l	1			T T			
			01.		Mediation session			
		Hart,	Meetings/Confer	1c Co-counsel	debrief with co-			
Charles H.	10/18/2022	Margaret	ences	Meetings	counsel.	0.5	829	414.5
			01.		Case discussion			
		Hart,	Meetings/Confer	1d Other	during disability			
Charles H.	10/19/2022	Margaret	ences	Meetings	team meeting.	0.5	829	414.5
			01.					
		Hart,	Meetings/Confer	1c Co-counsel	Weekly co-			
Charles H.	10/20/2022	Margaret	ences	Meetings	counsel meeting.	1	829	829
			01.					
			Meetings/Confer	1c Co-counsel	Weekly meeting			
Charles H.	10/20/2022	Plater, Marja	ences	Meetings	with co-counsel	1	829	829
					Review District's			
					Q&A from			
					mediation; Pls.			
		Banner,	06. Mediation	6 Mediation	counterproposal			
Charles H.	10/21/2022	Kaitlin	(prep, conduct)	(prep, conduct)	on damages	0.3	829	248.7
					Review Def's			
					follow up email re:			
					responses to			
					questions during			
			06. Mediation	6 Mediation	10/18 mediation			
Charles H.	10/24/2022	Plater, Marja	(prep, conduct)	(prep, conduct)	sessions	0.2	829	165.8
					Review emails re:			
					PL's proposed			
					comp ed			
Charles H.	10/24/2022	Plater, Marja	18. Other	18 Other	calculation	0.2	829	165.8
		Banner,	06. Mediation	6 Mediation	Review District's			
Charles H.	10/27/2022	Kaitlin	(prep, conduct)	(prep, conduct)	counterproposal	0.3	829	248.7

			01.					
			Meetings/Confer	1c Co-counsel	Weekly meeting			
Charles H.	10/27/2022	Plater, Marja	ences	Meetings	with co-counsel	1	829	829
			06. Mediation	6 Mediation	Review OAG's SA			
Charles H.	10/27/2022	Plater, Marja	(prep, conduct)	(prep, conduct)	counter proposal	1	829	829
					Co-counsel			
					meeting to discuss			
			_		OAG's SA counter-			
			06. Mediation	6 Mediation	proposal and prep			
Charles H.	10/28/2022	Plater, Marja	(prep, conduct)	(prep, conduct)	for mediation	2.3	829	1906.7
			OC Maritatian	C N A - d'a t'a -	De la GAGLIGA			
			06. Mediation	6 Mediation	Review OAG's SA		222	
Charles H.	10/28/2022	Plater, Marja	(prep, conduct)	(prep, conduct)	counter proposal	1	829	829
					Review forward			
					looking bullet			
			06.84.11.11		points for			
	10/01/0000	Distant March	06. Mediation	6 Mediation	mediation this	0.5	000	4445
Charles H.	10/31/2022	Plater, Marja	(prep, conduct)	(prep, conduct)	week	0.5	829	414.5
		D		C N A a aliantia na	Review and			
Charles II	00/04/2022	Banner,	06. Mediation	6 Mediation	comment on draft	1.2	020	1077.7
Charles H.	09/01/2022	Kaitiin	(prep, conduct)	(prep, conduct)	term sheet	1.3	829	1077.7
					Internal meeting			
		Banner,	06. Mediation	6 Mediation	with Maggie and Marja to debrief			
Charles II	00/01/2022	-			mediation	0.3	829	248.7
Citaties H.	09/01/2022	Natuili	(prep, conduct)	(prep, conduct)	Mediation session	0.3	829	248.7
		Hart,	06. Mediation	6 Mediation	with Judge			
Charles U	09/01/2022	•	(prep, conduct)	(prep, conduct)	Harvey.	5.1	829	4227.9
CHAHES H.	03/01/2022	iviaigaiet	(hieh, collanci)	[(hieh, collauct)	i iai vey.	5.1	829	4227.9

	I		1				
	Banner,	06. Mediation	6 Mediation	Mediation session			
09/01/2022	Kaitlin	(prep, conduct)	(prep, conduct)	with OAG	5.1	829	4227.9
				Debrief mediation			
	Banner,	06. Mediation	6 Mediation	meeting with co-			
09/01/2022	Kaitlin	(prep, conduct)	(prep, conduct)	counsel team	0.6	829	497.4
				Review and			
				comment on draft			
				opening			
	Banner,	06. Mediation	6 Mediation	mediation			
09/01/2022	Kaitlin	(prep, conduct)	(prep, conduct)	statement	0.3	829	248.7
		06. Mediation	6 Mediation	Mediation session			
09/01/2022	Plater, Marja	(prep, conduct)	(prep, conduct)	with Judge Harvey	5.1	829	4227.9
				Internal meeting			
				with Maggie and			
		06. Mediation	6 Mediation	Kaitlin to debrief			
09/01/2022	Plater, Marja	(prep, conduct)	(prep, conduct)	mediation session	0.3	829	248.7
				Debrief mediation			
				session with co-			
		06. Mediation	6 Mediation	counsel team,			
09/01/2022	Plater, Marja	(prep, conduct)	(prep, conduct)	discuss next steps	0.3	829	248.7
		01.		·			
	Hart,	Meetings/Confer	1d Other	Internal WLC team			
09/01/2022	•	ences	Meetings	meeting.	0.3	829	248.7
, .				Review and edit			
		06. Mediation	6 Mediation	questions for			
09/02/2022	Plater, Maria	(prep. conduct)	(prep, conduct)	OSSE	0.3	829	248.7
	09/01/2022 09/01/2022 09/01/2022 09/01/2022	09/01/2022 Kaitlin Banner, Kaitlin Banner, Kaitlin 09/01/2022 Plater, Marja 09/01/2022 Plater, Marja 09/01/2022 Plater, Marja Hart, 09/01/2022 Margaret	09/01/2022 Kaitlin (prep, conduct) Banner, 06. Mediation (prep, conduct) Banner, 06. Mediation (prep, conduct) Banner, 06. Mediation (prep, conduct) O9/01/2022 Plater, Marja (prep, conduct) O1. Meetings/Confer ences	09/01/2022 Kaitlin (prep, conduct) (prep, conduct) Banner, 06. Mediation (prep, conduct) Banner, 06. Mediation (prep, conduct) O9/01/2022 Kaitlin (prep, conduct) O6. Mediation (prep, conduct) O6. Mediation (prep, conduct) O6. Mediation (prep, conduct) O8. Mediation (prep, conduct) O9/01/2022 Plater, Marja O6. Mediation (prep, conduct) O8. Mediation (prep, conduct) O9/01/2022 Plater, Marja O8. Mediation (prep, conduct)	09/01/2022 Kaitlin (prep, conduct) (prep, conduct) with OAG Banner, O6. Mediation (prep, conduct) (prep, conduct) Review and comment on draft opening mediation (prep, conduct) (prep, conduct) statement 06. Mediation (prep, conduct) (prep, conduct) (prep, conduct) (prep, conduct) 08. Mediation (prep, conduct) (prep	09/01/2022 Kaitlin (prep, conduct) (prep, conduct) with OAG 5.1 Banner, 06. Mediation (prep, conduct) (prep, conduct) Debrief mediation meeting with co-counsel team 0.6 Review and comment on draft opening mediation (prep, conduct) Statement 0.3 06. Mediation (prep, conduct) 6 Mediation (prep, conduct) Statement 0.3 09/01/2022 Plater, Marja (prep, conduct) (prep, conduct) Internal meeting with Maggie and Kaitlin to debrief mediation session with co-counsel team, 0.3 09/01/2022 Plater, Marja (prep, conduct) (prep, conduct) Debrief mediation session with co-counsel team, 0.3 Debrief mediation session 0.3 Debrief mediation session 0.3	09/01/2022 Kaitlin (prep, conduct) (prep, conduct) with OAG 5.1 829 Debrief mediation meeting with cocounsel team 0.6 829 Review and comment on draft opening mediation (prep, conduct) (prep, conduct) statement 0.3 829 O6. Mediation (prep, conduct) (prep, conduct) with Judge Harvey 5.1 829 O6. Mediation (prep, conduct) (prep, conduct) with Judge Harvey 5.1 829 O6. Mediation (prep, conduct) (prep, conduct) (prep, conduct) with Judge Harvey 5.1 829 O6. Mediation (prep, conduct) (prep, c

					Send draft list of			
					questions to co-			
			06. Mediation	6 Mediation	counsel team for			
Charles H	09/02/2022	Plater, Marja	(prep, conduct)	(prep, conduct)	review	0.1	829	82.9
Charles III.	03,02,2022	riacer, marja	(р. ср) сопасс)	(р. ср.) солишест	Review and	0.1	023	02.3
					comment on PL's			
			06. Mediation	6 Mediation	2nd draft term			
Charles H.	09/02/2022	Plater, Marja	(prep, conduct)	(prep, conduct)	sheet	1.3	829	1077.7
		, ,	, ,	, ,				
					Review August			
Charles H.	09/02/2022	Plater, Marja	18. Other	18 Other	2022 Status report	0.3	829	248.7
		•			Draft questions			
					for OSSE			
					mediation			
		Banner,	06. Mediation	6 Mediation	investigatory			
Charles H.	09/02/2022	Kaitlin	(prep, conduct)	(prep, conduct)	meeting	0.3	829	248.7
					Review MAPCS			
					memo re best			
					practices in			
		Hart,			correctional			
Charles H.	09/06/2022	Margaret	18. Other	18 Other	education.	0.4	829	331.6
					Review memo			
					from MAPCS			
					counsel re: best			
					practices for			
					education			
					incarcerated			
Charles H.	09/06/2022	Plater, Marja	18. Other	18 Other	youth at DC Jail	0.3	829	248.7
					Review and edit			
					final list of			
					questions for			
					meeting with			
			06. Mediation	6 Mediation	OSSE; send list to			
Charles H.	09/06/2022	Plater, Marja	(prep, conduct)	(prep, conduct)	OAG counsel	0.2	829	165.8

Charles H. 09/07/2022 Raitlin (letters, other) (letters, other) Banner, court filings (letters, other) (letters, other) Banner, court filings (letters, other) (letters, other) Banner, court filings agreement appears on court filings court filings court filings agreement appears on court filings court filings agreement for court filings (letters, other) September 165.8 Review comments from Joe Gagnon on draft SA court filings (letters, other) Review filings (lett									
Charles H. 09/07/2022 Kaitlin (letters, other) (letters, other) agreement 0.5 829 414.5				05. Prepare non-	5 Prepare non-	Review draft			
O5. Prepare non- court filings (letters, other) Charles H. 09/07/2022 Kaitlin Banner, O6. Mediation (prep, conduct) Charles H. 09/07/2022 Kaitlin Charles H. 09/07/2022 Plater, Marja Charles H. 09/07/2022 Plater, Marja Charles H. 09/08/2022 Plater, Marja O6. Mediation (prep, conduct) O			Banner,	court filings	court filings	settlement			
Charles H. 09/07/2022 Raitlin (letters, other) Banner, Court filings (letters, other) Charles H. 09/07/2022 Raitlin (letters, other) Charles H. 09/07/2022 Raitlin (letters, other) Charles H. 09/07/2022 Raitlin (letters, other) Banner, O6. Mediation (prep, conduct) Charles H. 09/07/2022 Raitlin (letters, other) Banner, O6. Mediation (prep, conduct) Charles H. 09/07/2022 Raitlin (letters, other) Banner, O6. Mediation (prep, conduct) Charles H. 09/07/2022 Plater, Marja Charles H. 09/07/2022 Plater, Marja Charles H. 09/08/2022 Plater, Marja Charles H.	Charles H.	09/07/2022	Kaitlin	(letters, other)	(letters, other)	agreement	0.5	829	414.5
Charles H. 09/07/2022 Kaitlin (letters, other) (letters, other) REDACTED 0.2 829 165.8				05. Prepare non-	5 Prepare non-				
Banner, O6. Mediation (prep, conduct) Charles H. 09/07/2022 Kaitlin Charles H. 09/07/2022 Kaitlin Charles H. 09/07/2022 Plater, Marja Charles H. 09/08/2022			Banner,	court filings	court filings				
Charles H. 09/07/2022 Raitlin (prep, conduct) 6 Mediation (prep, conduct) 6 Mediation (prep, conduct) 6 Mediation (prep, conduct) 6 Mediation (prep, conduct) 7 Meetings/Confer Charles H. 09/08/2022 Plater, Marja 10 Meetings/Confer Charles H. 09/08/2022 Plater, Marja (prep, conduct) 7 Meetings/Confer Charles H. 09/08/2022 Plater, Marja (prep, conduct) 7 Meetings/Confer Charles H. 09/08/2022 Plater, Marja (prep, conduct) 7 Meetings (prep, conduct) 8 Meetings (prep, conduct) 9 Meetings (prep, conduct	Charles H.	09/07/2022	Kaitlin	(letters, other)	(letters, other)	REDACTED	0.2	829	165.8
Charles H. 09/07/2022 Raitlin (prep, conduct) 6 Mediation (prep, conduct) 6 Mediation (prep, conduct) 6 Mediation (prep, conduct) 6 Mediation (prep, conduct) 7 Meetings/Confer Charles H. 09/08/2022 Plater, Marja 10 Meetings/Confer Charles H. 09/08/2022 Plater, Marja (prep, conduct) 7 Meetings/Confer Charles H. 09/08/2022 Plater, Marja (prep, conduct) 7 Meetings/Confer Charles H. 09/08/2022 Plater, Marja (prep, conduct) 7 Meetings (prep, conduct) 8 Meetings (prep, conduct) 9 Meetings (prep, conduct						Review comments			
Charles H. 09/07/2022 Kaitlin (prep, conduct) (prep, conduct) on draft SA 0.2 829 165.8 Review MACPS memo on providing FAPE to incarcerated youth 0.2 829 165.8 Charles H. 09/07/2022 Plater, Marja 18. Other 18 Other REDACTED 0.3 829 248.7 Charles H. 09/08/2022 Plater, Marja (prep, conduct) Review emails with expert Joe Gagnon reseattlement agreement recommendations 0.3 829 248.7 Charles H. 09/08/2022 Plater, Marja (prep, conduct) (prep, conduct) Co-counsel meeting to discuss SA & prep for Meetings M			Banner.	06. Mediation	6 Mediation				
Review MACPS memo on providing FAPE to incarcerated youth 0.2 829 165.8 Charles H. 09/07/2022 Plater, Marja 18. Other 18 Other REDACTED 0.3 829 248.7 Charles H. 09/08/2022 Plater, Marja (prep, conduct) Review emails with expert Joe Gagnon re: settlement agreement recommendations 0.3 829 248.7 Charles H. 09/08/2022 Plater, Marja (prep, conduct) Co-counsel meeting to discuss SA & prep for meeting to discuss SA & prep for meeting with OSSE 1.8 829 1492.2 Charles H. 09/08/2022 Plater, Marja ences Meetings OSSE 1.8 829 1492.2	Charles H	09/07/2022	•				0.2	829	165.8
Charles H. 09/07/2022 Plater, Marja 18. Other 18 Other REDACTED 0.3 829 248.7 Charles H. 09/08/2022 Plater, Marja 06. Mediation (prep, conduct) Review emails with expert Joe Gagnon re: settlement agreement recommendations 0.3 829 248.7 Charles H. 09/08/2022 Plater, Marja 07. Meetings/Confer Meetings 07. Meetings 0	enanes m	03/07/2022	Kareiiii	(prep) conducty	(prep, conduct)		0.2	023	103.0
Banner, Charles H. 09/07/2022 Raitlin (prep, conduct) (prep, c									
Banner, O6. Mediation (prep, conduct) General (prep, c									
Charles H. 09/07/2022 Kaitlin (prep, conduct) (prep, conduct) youth 0.2 829 165.8 Charles H. 09/07/2022 Plater, Marja 18. Other 18 Other REDACTED 0.3 829 248.7 Review emails with expert Joe Gagnon re: settlement agreement (prep, conduct) (prep, conduct) recommendations 0.3 829 248.7 Charles H. 09/08/2022 Plater, Marja (prep, conduct) (prep, conduct) Co-counsel meeting to discuss SA & prep for meeting with Osse 1.8 829 1492.2 Charles H. 09/08/2022 Plater, Marja ences Meetings OSSE 1.8 829 1492.2			Banner	06 Mediation	6 Mediation	· -			
Charles H. 09/07/2022 Plater, Marja 18. Other 18 Other REDACTED 0.3 829 248.7 Review emails with expert Joe Gagnon re: settlement agreement (prep, conduct) (prep, conduct) recommendations 0.3 829 248.7 Charles H. 09/08/2022 Plater, Marja (prep, conduct) Co-counsel meeting to discuss SA & prep for Meetings/Confer 1c Co-counsel meeting with OSSE 1.8 829 1492.2 O1. Meetings/Confer 1d Other Participate in call	Charles H.	09/07/2022					0.2	829	165.8
Review emails with expert Joe Gagnon re: settlement agreement recommendations 0.3 829 248.7 Charles H. 09/08/2022 Plater, Marja (prep, conduct) (prep, conduc	Charles III.	03/07/2022	Kareiiii	(prep, conduct)	(prep, conduct)	youth	0.2	023	103.0
with expert Joe Gagnon re: settlement agreement recommendations 0.3 829 248.7 Charles H. 09/08/2022 Plater, Marja (prep, conduct) (prep, conduct) Co-counsel meeting to discuss SA & prep for Meetings/Confer 1c Co-counsel meeting with OSSE 1.8 829 1492.2 O1. Meetings/Confer 1d Other Participate in call	Charles H.	09/07/2022	Plater, Marja	18. Other	18 Other	REDACTED	0.3	829	248.7
with expert Joe Gagnon re: settlement agreement recommendations 0.3 829 248.7 Charles H. 09/08/2022 Plater, Marja (prep, conduct) (prep, conduct) Co-counsel meeting to discuss SA & prep for Meetings/Confer 1c Co-counsel meeting with OSSE 1.8 829 1492.2 O1. Meetings/Confer 1d Other Participate in call						Poviow omails			
Charles H. 09/08/2022 Plater, Marja (prep, conduct) O1. Meetings/Confer O9/08/2022 Plater, Marja ences O2. Mediation (prep, conduct) O3. Meetings Confer OSSE O3. Meetings Confer OSSE O4. Meetings OSSE O5. Meetings OSSE O6. Mediation (prep, conduct) O7. Meetings OSSE O7.									
Settlement agreement O6. Mediation (prep, conduct) Charles H. 09/08/2022 Plater, Marja (prep, conduct) O1. Meetings/Confer O9/08/2022 Plater, Marja ences O2. Mediation (prep, conduct) Co-counsel meeting to discuss SA & prep for meeting with Meetings OSSE O3. 829 248.7 Co-counsel meeting to discuss SA & prep for meeting with Meetings OSSE O1. Meetings OSSE						· ·			
Charles H. 09/08/2022 Plater, Marja (prep, conduct) (prep, con						1 -			
Charles H. 09/08/2022 Plater, Marja (prep, conduct) (prep, conduct) recommendations 0.3 829 248.7 Co-counsel meeting to discuss SA & prep for Meetings/Confer 1c Co-counsel meeting with O9/08/2022 Plater, Marja ences Meetings OSSE 1.8 829 1492.2 O1. Meetings/Confer 1d Other Participate in call				OF Modiation	6 Modiation				
Co-counsel meeting to discuss SA & prep for Meetings/Confer 1c Co-counsel meeting with O9/08/2022 Plater, Marja ences Meetings OSSE 1.8 829 1492.2 O1. Meetings/Confer 1d Other Participate in call	Charles II	00/09/2022	Diator Maria			•	0.2	920	240.7
Meetings/Confer of the control of th	Charles n.	09/08/2022	Plater, Marja	(prep, conduct)	(prep, conduct)	recommendations	0.3	829	248.7
Meetings/Confer of the control of th						Co-counsel			
O1. Meetings/Confer 1c Co-counsel meeting with Charles H. 09/08/2022 Plater, Marja ences Meetings OSSE 1.8 829 1492.2 O1. Meetings/Confer 1d Other Participate in call									
Meetings/Confer 1c Co-counsel meeting with O9/08/2022 Plater, Marja ences Meetings OSSE 1.8 829 1492.2 O1. Meetings/Confer 1d Other Participate in call				01		_			
Charles H. 09/08/2022 Plater, Marja ences Meetings OSSE 1.8 829 1492.2 01. Meetings/Confer 1d Other Participate in call					1c Co-counsel				
Meetings/Confer 1d Other Participate in call	Charles H.	09/08/2022	Plater, Marja	1			1.8	829	1492.2
				01.					
Charles H. 09/08/2022 Plater, Marja ences Meetings with OSSE & OAG 0.8 829 663.2				Meetings/Confer	1d Other	Participate in call			
	Charles H.	09/08/2022	Plater, Marja	ences	Meetings	with OSSE & OAG	0.8	829	663.2

	1	I	I	I		I	I	1
			01.		De-brief with co- counsel team after meeting with			
			Meetings/Confer	1c Co-counsel	OSSE; discuss			
Charles H.	09/08/2022	Plater, Marja	ences	Meetings	edits to SA	0.8	829	663.2
			01.					
		Hart,	Meetings/Confer	1d Other	Meeting with			
Charles H.	09/08/2022	Margaret	ences	Meetings	OSSE.	0.8	829	663.2
					Co-counsel de-			
			01.		brief following			
		Hart,	Meetings/Confer	1c Co-counsel	meeting with			
Charles H.	09/08/2022	Margaret	ences	Meetings	OSSE.	0.8	829	663.2
					Review and			
					comment on prep			
					for OSSE			
		Banner,	06. Mediation	6 Mediation	investigatory			
Charles H.	09/08/2022	Kaitlin	(prep, conduct)	(prep, conduct)	meeting	0.2	829	165.8
				7a Draft/edit	Review and edit			
				settlement	draft settlement			
Charles H.	09/08/2022	Plater, Marja	07. Settlement	agreement	agreement	2	829	1658
					Debrief OSSE			
					investigatory			
		Banner,	06. Mediation	6 Mediation	meeting with co-			
Charles H.	09/08/2022	Kaitlin	(prep, conduct)	(prep, conduct)	counsel teal	0.8	829	663.2
					OSSE mediation			
		Banner,	06. Mediation	6 Mediation	investigatory			
Charles H.	09/08/2022	Kaitlin	(prep, conduct)	(prep, conduct)	meeting	0.8	829	663.2
				7a Draft/edit	Co-counsel			
		Banner,		settlement	meeting to discuss			
Charles H.	09/08/2022	Kaitlin	07. Settlement	agreement	SA edits	1.4	829	1160.6

	ı	ı					Г	
Charles H.	09/08/2022	Banner, Kaitlin	07. Settlement	7a Draft/edit settlement agreement	Review and edit draft settlement agreement	2.2	829	1823.8
			05. Prepare non-	5 Prepare non-	Prepare outline			
		Hart,	court filings	court filings	for meeting with			
Charles H.	09/08/2022	Margaret	(letters, other)	(letters, other)	OSSE.	0.7	829	580.3
		Hart,	01. Meetings/Confer	1c Co-counsel	Meeting with co- counsel to prep for meeting with OSSE and review			
Charles H.	09/08/2022	Margaret	ences	Meetings	SA.	1.8	829	1492.2
Charles H.	09/08/2022	Banner, Kaitlin	06. Mediation (prep, conduct)	6 Mediation (prep, conduct)	Review and comment on draft email to Joe Gagnon re: settlement agreement, T/C with Stephanie Madison re: same	0.3	829	248.7
Charles H.	09/08/2022	Plater, Marja	06. Mediation (prep, conduct)	6 Mediation (prep, conduct)	Review and edit questions for meeting w/ OSSE	0.3	829	248.7
	00/00/005	Banner,			Attention to emails re: deadline for draft settlement			
Charles H.	09/09/2022	Kaitlin	18. Other	18 Other	agreement	0.1	829	82.9
Charles	00/10/2022	Banner,	07 Sottlement	7a Draft/edit settlement	Edit draft settlement	2.4	920	1000 6
charies H.	09/10/2022	Kaitiili	07. Settlement	agreement	agreement	2.4	829	1989.6

					Edit and comment			
				7b Post-	on draft			
		Banner,		settlement	settlement			
Charles H	09/10/2022		07. Settlement	activity		1.6	829	1326.4
Charles II.	09/10/2022	Kaitiiii	or. Settlement	activity	agreement	1.0	029	1320.4
					Review edits to			
					draft settlement			
				7a Draft/edit				
		Dannar		1	agreement and co-			
Charles II	00/10/2022	Banner,	O7 Cattlemant	settlement	co comments on	0.2	020	240.7
Charles H.	09/10/2022	Kaitiin	07. Settlement	agreement	same Review and edit	0.3	829	248.7
					settlement			
					agreement to			
					propose to OAG			
				7a Draft/edit	and mediator.			
		Hart,		settlement	Emails to WLC			
Charles H.	09/10/2022	Margaret	07. Settlement	agreement	team re same.	1.6	829	1326.4
				7a Draft/edit	Review and edit			
				settlement	draft settlement			
Charles II	00/10/2022	Diator Maria	07. Settlement			2	020	1650
Charles H.	09/10/2022	Plater, Marja	07. Settlement	agreement	agreement	2	829	1658
					Review co-counsel			
				7a Draft/edit	edits to draft			
				settlement	settlement			
Charles II	00/10/2022	Distant Mania	07. Cattlemant			0.5	020	44.4.5
Charles H.	09/10/2022	Plater, Marja	07. Settlement	agreement	agreement	0.5	829	414.5
					Co. coursel			
					Co-counsel			
			01.		meeting to discuss			
		Banner,	Meetings/Confer		settlement			
Charles H.	09/11/2022	Kaitlin	ences	Meetings	agreement	1.7	829	1409.3

Charles H.	09/11/2022	Plater, Marja	07. Settlement	7a Draft/edit settlement agreement	Review co-counsel team edits to draft settlement agreement	0.3	829	248.7
					Internal meeting			
				7b Post-	with Kaitlin re:			
				settlement	settlement			
Charles H	09/11/2022	Plater Maria	07. Settlement	activity	agreement draft	0.4	829	331.6
Charles II.	03/11/2022	riater, iviarja	or. Settlement	activity	agreement drait	0.4	023	331.0
					Internal meeting			
			01.		with Marja Plater			
		Banner,	Meetings/Confer	1d Other	re: settlement			
Charles H.	09/11/2022	· ·	ences	Meetings	agreement draft	0.4	829	331.6
					Edits to the			
					settlement			
				7a Draft/edit	agreement, t/c			
		Banner,		settlement	with Stephanie			
Charles H.	09/12/2022	Kaitlin	07. Settlement	agreement	Madison re: same	0.4	829	331.6
				7a Draft/edit	Review and edit			
	00/10/0000	Banner,		settlement	draft settlement		000	
Charles H.	09/12/2022	Kaitlin	07. Settlement	agreement	agreement	0.5	829	414.5
					Red flag review of			
					proposed			
					settlement			
				7- 0	agreement.			
		l l a set		7a Draft/edit	Attend to co-			
Cla a which is the	00/42/2022	Hart,	07 Cottle	settlement	counsel emails re	0.0	000	240 7
Charles H.	09/12/2022	iviargaret	07. Settlement	agreement	same.	0.3	829	248.7

	I			I	1 1			
Charles H.	09/12/2022	Plater, Maria	07. Settlement	7a Draft/edit settlement agreement	Review and edit final edits to draft settlement agreement	0.8	829	663.2
				7a Draft/edit	Review edits to	0.0	010	
		Banner,		settlement	settlement			
Charles H.	09/12/2022		07. Settlement	agreement	agreement	0.2	829	165.8
Charles H.	09/13/2022	Plater, Marja	06. Mediation (prep, conduct)	6 Mediation (prep, conduct)	Review joint status report draft re: mediation	0.1	829	82.9
Charles H.	09/15/2022	Plater, Marja	01. Meetings/Conferences	1c Co-counsel Meetings	Weekly meeting with co-counsel re: mediation prep & settlement	1.5	829	1243.5
Charles H.	09/19/2022	Plater, Marja		18 Other	REDACTED	0.3	829	248.7
Charles H.	09/22/2022	Banner, Kaitlin	01. Meetings/Confer ences	1c Co-counsel Meetings	Weekly strategy call with co-counsel	1	829	829
Charles H.	09/22/2022	Hart, Margaret	01. Meetings/Confer ences	1c Co-counsel Meetings	Weekly co- counsel strategy meeting.	1	829	829
Charles H.	09/26/2022	Banner, Kaitlin	06. Mediation (prep, conduct)	6 Mediation (prep, conduct)	Preliminary review of District's counterproposal	0.3	829	248.7
Charles H.	09/26/2022	Plater, Marja	06. Mediation (prep, conduct)	6 Mediation (prep, conduct)	Review and comment on Def's counter-proposal	0.7	829	580.3

				1				
		Banner,	06. Mediation	6 Mediation	Review and comment on Def.			
Charles H	09/27/2022	•	(prep, conduct)	(prep, conduct)	counteroffer	0.8	829	663.2
Charles 11.	03/21/2022	Kareiiii	(prep, conduct)	(prep, conduct)	Mediation prep	0.0	023	003.2
		Banner,	06. Mediation	6 Mediation	with co-counsel			
Charles H	09/27/2022	,	(prep, conduct)	(prep, conduct)	team	6	829	4974
Citaties in	03/2//2022		01.	(р. ср) со.:с.с.с)	Co-counsel		023	1371
		Hart,	Meetings/Confer	1c Co-counsel	meeting re prep			
Charles H.	09/27/2022	-	ences	Meetings	for mediation	4.5	829	3730.5
	, , -	. 8.		3 3 3 6	Review Districts			
					edits to our			
				7a Draft/edit	proposed			
		Hart,		settlement	settlement			
Charles H.	09/27/2022	Margaret	07. Settlement	agreement	agreement.	1.3	829	1077.7
		_			Meeting w/ co-			
			06. Mediation	6 Mediation	counsel to prep			
Charles H.	09/27/2022	Plater, Marja	(prep, conduct)	(prep, conduct)	for mediation	6.5	829	5388.5
					Co-counsel			
					meeting to debrief			
					mediation, revise			
					District redline re			
					contempt/comp			
			01.		ed, and and prep			
		Hart,	Meetings/Confer	1c Co-counsel	for mediation			
Charles H.	09/28/2022	Margaret	ences	Meetings	tomorrow.	2.5	829	2072.5
					Mediation Session			
		Hart,	06. Mediation	6 Mediation	with Judge			
Charles H.	09/28/2022	Margaret	(prep, conduct)	(prep, conduct)	Harvey.	7.5	829	6217.5

	ı	1	I	T	1		1	1
Charles H	00/28/2022	Distor Maria	06. Mediation	6 Mediation	Debrief mediation session with cocounsel team. Prep outline for 9/29/22 mediation session with co-counsel.	2.5	829	2072 5
Charles H.	09/28/2022	Plater, Marja	(prep, conduct)	(prep, conduct)	with co-counsei.	2.5	829	2072.5
Charles H.	09/28/2022	Plater, Marja	06. Mediation (prep, conduct)	6 Mediation (prep, conduct)	Mediation session with Judge Harvey	7.5	829	6217.5
		Banner,	06. Mediation	6 Mediation	Revise draft settlement agreement provisions on contempt and			
Charles H.	09/28/2022	Kaitlin	(prep, conduct)	(prep, conduct)	comp ed	1.9	829	1575.1
Charles H	09/28/2022	Banner, Kaitlin	06. Mediation (prep, conduct)	6 Mediation (prep, conduct)	Debrief mediation session, prep for mediation session with co-co team	1.6	829	1326.4
Ondries in	03/ 23/ 2022	- Kareiiii	(р. ср) солавсту	(р. ср.) солишесь	With to to team	1.0	023	102011
Charles H.	09/28/2022	Banner, Kaitlin	06. Mediation (prep, conduct)	6 Mediation (prep, conduct)	Mediation session with Judge Harvey	7.5	829	6217.5
Charles H	09/28/2022	Plater Maria	06. Mediation (prep, conduct)	6 Mediation (prep, conduct)	Co-counsel meeting to review and redline counter-proposal for Comp Ed & Contempt relief	1	829	829

	1		I	ı	1			1
		Banner,	06. Mediation	6 Mediation	Mediation Session			
Charles H.	09/29/2022	Kaitlin	(prep, conduct)	(prep, conduct)	with Judge Harvey	8.1	829	6714.9
			06. Mediation	6 Mediation	Mediation session			
Charles H.	09/29/2022	Plater, Marja	(prep, conduct)	(prep, conduct)	with Judge Harvey	8.1	829	6714.9
					Debrief mediation			
					session with co-			
			06. Mediation	6 Mediation	counsel team,			
Charles H.	09/29/2022	Plater, Marja	(prep, conduct)	(prep, conduct)	discuss next steps	0.5	829	414.5
					Debrief mediation			
		Banner,	06. Mediation	6 Mediation	sessions, plan next			
Charles H.	09/30/2022	Kaitlin	(prep, conduct)	(prep, conduct)	steps	2.2	829	1823.8
					Internal meeting			
					with Kaitlin &			
			01.		Maggie re: SA			
			Meetings/Confer	1d Other	counter-proposal			
Charles H.	09/30/2022	Plater, Marja	ences	Meetings	sections to review	0.8	829	663.2
					Co-counsel call to			
					debrief mediation			
					& discuss next			
			06. Mediation	6 Mediation	steps re: SA			
Charles H.	09/30/2022	Plater, Marja	(prep, conduct)	(prep, conduct)	counter-proposal	1.9	829	1575.1

					Review TPM's			
					updated memo re:			
					mediation prep &			
			06. Mediation	6 Mediation	comp ed			
Charles U	09/01/2022	Diator Maria	(prep, conduct)		settlement	0.3	829	248.7
Charles n.	08/01/2022	Piater, Marja	(prep, conduct)	(prep, conduct)	Co-counsel call to	0.5	629	240.7
			06. Mediation	6 Mediation				
Charles II	00/04/2022	Distant Mania			prep for	4 7	020	1400.3
Charles H.	08/01/2022	Plater, Marja	(prep, conduct)	(prep, conduct)	mediation	1.7	829	1409.3
			06.84 1: .:					
	/- / /	Banner,	06. Mediation	6 Mediation	Co-co call to prep			
Charles H.	08/01/2022	Kaitlin	(prep, conduct)	(prep, conduct)	for mediation	0.5	829	414.5
					Review Def's			
					Motion for			
					Clarification of PI			
					& declarations,			
					and PL's Opp to			
					Motion for			
					Clarification and			
					declarations. Draft			
					outline re:			
					independent			
					student work in			
			06. Mediation	6 Mediation	prep for			
Charles H.	08/01/2022	Plater, Marja	(prep, conduct)	(prep, conduct)	mediation	2	829	1658
		Banner,	06. Mediation	6 Mediation	Review memos re:			
Charles H.	08/02/2022	Kaitlin	(prep, conduct)	(prep, conduct)	mediation prep	0.3	829	248.7
			,	,	Review and edit			
					mediation prep re:			
			06. Mediation	6 Mediation	independent			
Charles H.	08/02/2022	Plater, Marja	(prep, conduct)	(prep, conduct)	student work	0.3	829	248.7
	· ·	· · ·	<u>,</u>	, · · · · /	1			

			01.		Co-co meeting to			
		Banner,	Meetings/Confer	1c Co-counsel	prep for			
Charles H.	08/02/2022	Kaitlin	ences	Meetings	mediation	1.3	829	1077.7
					Co-counsel call to			
			06. Mediation	6 Mediation	prep for			
Charles H.	08/02/2022	Plater, Marja	(prep, conduct)	(prep, conduct)	mediation	1	829	829
					T/C with Sarah			
					Comeau re:			
		Banner,	06. Mediation	6 Mediation	mediation prep,			
Charles H.	08/02/2022	Kaitlin	(prep, conduct)	(prep, conduct)	strategy	0.3	829	248.7
					Review and			
					comment on			
		Banner,	06. Mediation	6 Mediation	mediation talking			
Charles H.	08/02/2022	Kaitlin	(prep, conduct)	(prep, conduct)	points	0.4	829	331.6
					Co-co meeting to			
		Banner,	06. Mediation	6 Mediation	prep for			
Charles H.	08/03/2022	Kaitlin	(prep, conduct)	(prep, conduct)	mediation	1.5	829	1243.5
					Co-counsel call to			
			06. Mediation	6 Mediation	prep for			
Charles H.	08/03/2022	Plater, Marja	(prep, conduct)	(prep, conduct)	mediation	0.8	829	663.2
					Meeting with			
			01.		Sarah Comeau -			
		Banner,	Meetings/Confer	1c Co-counsel	mediation			
Charles H.	08/03/2022	Kaitlin	ences	Meetings	prep/strategy	0.8	829	663.2
					Review OAG's			
					August 2022			
Charles H.	08/03/2022	Plater, Marja	18. Other	18 Other	status report	0.3	829	248.7
					Initial mediation			
		Hart,	06. Mediation	6 Mediation	session with Judge			
Charles H.	08/04/2022	Margaret	(prep, conduct)	(prep, conduct)	Harvey.	8.2	829	6797.8

				1	1			
					Debrief mediation			
		Banner,	06. Mediation	6 Mediation	session with co-co			
Charles H.	08/04/2022	Kaitlin	(prep, conduct)	(prep, conduct)	team	0.5	829	414.5
			, , ,	, ,				
		Banner,	06. Mediation	6 Mediation	Mediation Session			
Charles H.	08/04/2022	Kaitlin	(prep, conduct)	(prep, conduct)	with Judge Harvey	8.2	829	6797.8
					Review District's			
					July status report;			
		Pannor		9k Other	emails with co-co			
Charles II	00/04/2022	Banner, Kaitlin	09. Motions	Motions		0.3	829	248.7
Charles n.	08/04/2022	Kaitiiii	09. MOUOTIS	IVIOLIONS	team re: same	0.3	829	248.7
					Debrief mediation			
					session with co-			
			06. Mediation	6 Mediation	counsel team,			
Charles H.	08/04/2022	Plater, Marja	(prep, conduct)	(prep, conduct)	discuss next steps	0.5	829	414.5
			06. Mediation	6 Mediation	Mediation session			
Charles II	00/04/2022	Diator Maria		1		0.1	020	C707.0
Charles H.	08/04/2022	Plater, Marja	(prep, conduct)	(prep, conduct)	with Judge Harvey	8.2	829	6797.8
					Review draft			
		Banner,	06. Mediation	6 Mediation	letter re: meeting			
Charles H.	08/05/2022	Kaitlin	(prep, conduct)	(prep, conduct)	with MACPS	0.1	829	82.9
				,				
					Review draft			
			06. Mediation	6 Mediation	letter re: meeting			
Charles H.	08/09/2022	Plater, Marja	(prep, conduct)	(prep, conduct)	with DOC & DCPS	0.1	829	82.9

Charles H.	08/10/2022	Hart, Margaret	01. Meetings/Conferences	1c Co-counsel Meetings	co-counsel meeting following up on mediation and meetings with district agencies.	0.5	829	414.5
			06. Mediation	6 Mediation	Co-counsel meeting re: mediation follow- up meetings with Maya, DOC,&			
Charles H.	08/10/2022	Plater, Marja	(prep, conduct)	(prep, conduct)	DCPS	0.7	829	580.3
Charles H.	08/11/2022	Plater, Marja	06. Mediation (prep, conduct)	6 Mediation (prep, conduct)	Review draft Joint Status Report re: mediation	0.1	829	82.9
			01. Meetings/Confer	1c Co-counsel	Weekly meeting with co-counsel re: mediation strategy & prep for mtgs with DCPS, DOC &			
Charles H.	08/11/2022	Plater, Marja	ences	Meetings	Maya	0.7	829	580.3
					Debrief with			
			01. Meetings/Confer	1d Other	Maggie after meeting with OAG re: Maya			
Charles H.	08/12/2022	Plater, Marja	_	Meetings	questions	0.5	829	414.5

	ı		ı	ı	1			1
Charles H.	08/15/2022	Banner, Kaitlin	01. Meetings/Conferences	1c Co-counsel Meetings	Co-co meeting to review Def. counteroffer, discuss mediation strategy	1.5	829	1243.5
					Meeting with co- counsel to debrief			
					meeting with OAG			
			01.		and discuss			
			Meetings/Confer	1c Co-counsel	proposed			
Charles H.	08/15/2022	Plater, Marja	ences	Meetings	settlement terms	1.5	829	1243.5
					Review of OAGs			
					proposed			
					settlement terms			
				7a Draft/edit	in prep for			
		Hart,		settlement	meeting with co-			
Charles H.	08/15/2022	Margaret	07. Settlement	agreement	counsel.	0.3	829	248.7
					Review of OAGs			
					proposed			
					settlement terms			
					in prep for			
			06. Mediation	6 Mediation	meeting with co-			
Charles H.	08/15/2022	Plater, Marja	(prep, conduct)	(prep, conduct)	counsel.	0.3	829	248.7

				1	1			
			01.		Meeting with co- counsel to debrief meeting with OAG and discuss OAG			
	00/45/0000	Hart,	Meetings/Confer		settlement term		222	4040 =
Charles H.	08/15/2022	Margaret	ences	Meetings	sheet.	1.5	829	1243.5
					Review Def.			
					response on			
					Plaintiff term			
					sheet, co-co			
					comments re:			
					same, and draft			
		Banner,	06. Mediation	6 Mediation	email to District			
Charles H.	08/17/2022	Kaitlin	(prep, conduct)	(prep, conduct)	re: same	0.8	829	663.2
					T/C with Sarah			
			01.		Comeau re:			
		Banner,	Meetings/Confer	1c Co-counsel	mediation prep,			
Charles H.	08/18/2022	Kaitlin	ences	Meetings	strategy	0.8	829	663.2
			01.					
		Hart,	Meetings/Confer	1c Co-counsel	co-counsel			
Charles H.	08/18/2022	Margaret	ences	Meetings	strategy meeting.	0.8	829	663.2
		-	01.					
			Meetings/Confer	1c Co-counsel	Weekly meeting			
Charles H.	08/18/2022	Plater, Marja	ences	Meetings	with co-counsel	0.9	829	746.1
					T/C with			
					Stephanie			
			01.		Madison re:			
		Banner,		1c Co-counsel	settlement			
Charles H	08/18/2022	-	ences	Meetings	conference prep	0.3	829	248.7
CHAILES II.	00/ 10/ 2022	Naitiiii	ences	liviectiligs	Icomerence breb	0.5	029	240.7

	l	1		1	1			
Charles H.	08/18/2022	Banner, Kaitlin	06. Mediation (prep, conduct)	6 Mediation (prep, conduct)	Email OAG with clarifying questions on term sheet response	0.1	829	82.9
			,	,	Review prep			
					materials for			
		Banner,	06. Mediation	6 Mediation	meeting with			
Charles H.	08/18/2022	Kaitlin	(prep, conduct)	(prep, conduct)	MAPCS	0.2	829	165.8
			01.					
		Banner,	Meetings/Confer	1c Co-counsel	Co-counsel			
Charles H.	08/18/2022	Kaitlin	ences	Meetings	strategy meeting	0.9	829	746.1
					Davies, seemtical			
					Review parties'			
					settlement term			
					sheets, Plaintiffs'			
					confidential			
					mediation			
					statement, and			
					mediation prep			
					memos. Draft			
					outline for 2nd			
			06. Mediation	6 Mediation	mediation prep			
Charles H.	08/19/2022	Plater, Marja	(prep, conduct)	(prep, conduct)	memo	1	829	829
			01		Internal meeting			
		Pannor	01.	1d Other	with Marja Plater re: mediation			
Charles 4	08/19/2022	Banner,	Meetings/Confer ences	Meetings		0.5	829	414.5
CHAILES II.	00/ 13/ 2022	Naitiiii	erices	livicetiligs	strategy and prep	0.5	629	414.5

					Internal meeting			
					with Kaitlin re:			
			01.		mediation			
				1d Other	strategy and prep			
Charles H.	08/19/2022	Plater, Marja	ences	Meetings	for 9/1/22 session	0.5	829	414.5
Charles in	00/ 13/ 2022		0000		Draft mediation	0.5	023	12113
					prep memo for			
			06. Mediation	6 Mediation	2nd mediation			
Charles H.	08/22/2022	Plater, Marja	(prep, conduct)	(prep, conduct)	session	2	829	1658
			,	,	Review DOC			
					meeting			
			06. Mediation	6 Mediation	mediation prep			
Charles H.	08/23/2022	Plater, Marja	(prep, conduct)	(prep, conduct)	memos	1	829	829
					Review internal			
					memos re: prep			
		Banner,	06. Mediation	6 Mediation	for mediation			
Charles H.	08/23/2022	Kaitlin	(prep, conduct)	(prep, conduct)	meeting with DOC	0.3	829	248.7
					Review and			
					comment on			
		Banner,	06. Mediation	6 Mediation	internal mediation			
Charles H.	08/23/2022	Kaitlin	(prep, conduct)	(prep, conduct)	prep document	0.3	829	248.7
					Co-counsel			
					meeting re: prep			
			01.		for DOC & DCPS			
			Meetings/Confer	1c Co-counsel	meetings &			
Charles H	08/23/2022	Plater, Marja		Meetings	mediation prep	1.8	829	1492.2
Citarics II.	00, 20, 2022	i lacci, ivialja	1011003	liticetings	Imediation prep	1.0	023	1772.2

				1	1		I	1
			01.		Co-counsel			
			Meetings/Confer	1c Co-counsel	meeting to debrief			
Charles H	08/24/2022	Plater, Marja	1	Meetings	DOC meeting	0.4	829	331.6
Charles III.	00,21,2022	riacer, marja		Wiecemigs	Doomeening	0.1	023	331.0
					Mediation			
					investigatory			
		Banner,	06. Mediation	6 Mediation	meeting with DOC			
Charles H.	08/24/2022	Kaitlin	(prep, conduct)	(prep, conduct)	and OAG staff	1.1	829	911.9
	, ,		7	7	Call with DOC and			
					OAG re:			
					outstanding issues			
					for			
			06. Mediation	6 Mediation	mediation/settle			
Charles H.	08/24/2022	Plater, Marja	(prep, conduct)	(prep, conduct)	ment	1	829	829
					Debrief DOC			
		Banner,	06. Mediation	6 Mediation	meeting with co-			
Charles H.	08/24/2022	Kaitlin	(prep, conduct)	(prep, conduct)	counsel team	0.4	829	331.6
					Review and			
					comment on draft			
		Banner,	06. Mediation	6 Mediation	joint mediation			
Charles H.	08/25/2022	Kaitlin	(prep, conduct)	(prep, conduct)	statement	0.5	829	414.5
			06.84.11.11		Review draft Joint			
	00/05/0000		06. Mediation	6 Mediation	Status Report re:			
Charles H.	08/25/2022	Plater, Marja	(prep, conduct)	(prep, conduct)	mediation	0.5	829	414.5
					Mediation			
					investigatory			
			06.44.11.11		meeting with			
Charles 11	00/25/2222	Banner,	06. Mediation	6 Mediation	DCPS and OAG	2.5	222	407.4
Charles H.	08/25/2022	Kaitlin	(prep, conduct)	(prep, conduct)	staff	0.6	829	497.4

	1			1				
					Debrief mediation			
					meeting with			
		Banner,	06. Mediation	6 Mediation	DCPS with co-co			
Charles H.	08/25/2022	Kaitlin	(prep, conduct)	(prep, conduct)	team	0.4	829	331.6
			01.					
			Meetings/Confer	1c Co-counsel	Weekly meeting			
Charles H.	08/26/2022	Plater, Marja	ences	Meetings	with co-counsel	1.1	829	911.9
			01.		Weekly co-			
		Banner,	Meetings/Confer	1c Co-counsel	counsel strategy			
Charles H.	08/26/2022	Kaitlin	ences	Meetings	meeting	1.1	829	911.9
					Review prior			
					mediation prep			
					memos; Draft			
					mediation prep			
			06. Mediation	6 Mediation	memo for session			
Charles H.	08/26/2022	Plater, Marja	(prep, conduct)	(prep, conduct)	2	3	829	2487
					Internal meeting			
			01.		with Marja Plater			
		Banner,	Meetings/Confer	1d Other	to discuss			
Charles H.	08/26/2022	Kaitlin	ences	Meetings	mediation prep	0.3	829	248.7
					Internal meeting			
			01.		w/Kaitlin re:			
	00/05/0000		Meetings/Confer	1d Other	mediation prep		222	
Charles H.	08/26/2022	Plater, Marja	ences	Meetings	memo	0.3	829	248.7
					Review MOA and			
					OSSE Comp ed			
					guidance; continue editing			
			06. Mediation	6 Mediation	mediation prep			
Charles H	08/27/2022	Plater Maria	(prep, conduct)	(prep, conduct)	memo	4	829	3316
Charles n.	100/2//2022	ji iatei, iviaija	(prep, conduct)	[(prep, conduct)	Imemo	4	629	3310

				1				
Charles H.	08/28/2022	Plater, Marja	06. Mediation (prep, conduct)	6 Mediation (prep, conduct)	Continue editing mediation prep memo	2	829	1658
Charles H.	08/29/2022	Plater, Marja	01. Meetings/Confer ences	1d Other Meetings	Internal meeting w/Kaitlin re: mediation prep memo & mediation strategy	1	829	829
Charles H.	08/29/2022	Hart, Margaret	18. Other	18 Other	Attend to emails re meetings with District Reps, status report to Judge Harvey, meeting notes from meetings with District agencies.	0.5	829	414.5
Charles H.	08/29/2022	Hart, Margaret	04. Negotiation (prep, conduct)	4 Negotiation (prep, conduct)	Review of OAG's responses to our follow-up questions re settlement.	0.3	829	248.7
Charles H.	08/29/2022	Banner, Kaitlin	06. Mediation (prep, conduct)	6 Mediation (prep, conduct)	Review and comment on draft mediation prep memo	0.8	829	663.2

29 414.5 29 331.6
29 331.6
29 331.6
29 331.6
1
29 248.7
29 248.7
29 829
.5 829
29 4145
.5, -1.75
1658
332

	1	l	I	ı			1	
Charles H	08/30/2022	Banner, Kaitlin	06. Mediation (prep, conduct)	6 Mediation (prep, conduct)	Review Daniel's memos analyzing status report data to prep for mediation	0.3	829	248.7
Charles II.	00/30/2022	Kartiiii	(prep, conduct)	(prep, conduct)	Incalation	0.5	023	240.7
					Review Daniel's updated memo and data charts re: types of instruction			
			06. Mediation	6 Mediation	students received			
Charles H.	08/30/2022	Plater, Marja	(prep, conduct)	(prep, conduct)	& contempt relief	1	829	829
					Co-counsel			
			01.		meeting re:			
			Meetings/Confer	1c Co-counsel	mediation prep &			
Charles H.	08/31/2022	Plater, Marja	ences	Meetings	strategy	1.8	829	1492.2
					Edit opening			
			06. Mediation	6 Mediation	statement for			
Charles H.	08/31/2022	Plater, Marja	(prep, conduct)	(prep, conduct)	mediation	2	829	1658
					Debrief Maya			
					investigatory			
		Banner,	06. Mediation	6 Mediation	meeting with co-			
Charles H.	08/31/2022	Kaitlin	(prep, conduct)	(prep, conduct)	counsel team	0.2	829	165.8
					Mediation			
					investigatory			
					meeting with			
		Banner,	06. Mediation	6 Mediation	Maya and OAG			
Charles H.	08/31/2022	Kaitlin	(prep, conduct)	(prep, conduct)	staff	1	829	829
			01.		Attention to email			
		Banner,	Meetings/Confer	1c Co-counsel	re: scheduling			
Charles H.	07/07/2022	Kaitlin	ences	Meetings	mediation conf.	0.1	829	82.9

			01.		Weekly co-			
		Banner,	Meetings/Confer	1c Co-counsel	counsel strategy			
Charles H.	07/07/2022	Kaitlin	ences	Meetings	meeting	1.2	829	994.8
		Banner,		9k Other	Review District's			
Charles H.	07/07/2022	Kaitlin	09. Motions	Motions	June status report	0.2	829	165.8
					Review Magistrate			
		Banner,	06. Mediation	6 Mediation	Judge Harvey's			
Charles H.	07/07/2022	Kaitlin	(prep, conduct)	(prep, conduct)	standing order	0.1	829	82.9
					Review June 2022			
					status report &			
l					accompanying			
Charles H.	07/08/2022	Plater, Marja	18. Other	18 Other	docs	0.3	829	248.7
					Review Judge			
					Harvey's Standing			
					Order re:			
Charles H.	07/08/2022	Plater, Marja	18. Other	18 Other	mediation	0.1	829	82.9
					Review and edit			
					email re: Pls'			
		Banner,	06. Mediation	6 Mediation	position on			
Charles H.	07/08/2022	Kaitlin	(prep, conduct)	(prep, conduct)	mediation scope	0.2	829	165.8
Cridities in	07,00,2022	- Caremi	(р. ср) сопаассу	(р. ср.) сопассе,	mediation scope	0.2	023	203.0
					Review draft			
					motion to			
				9k Other	withdraw motion			
Charles H.	07/08/2022	Plater, Marja	09. Motions	Motions	re: notice to PL's	0.25	829	207.25

	<u> </u>			1	1			
Charles H	07/11/2022	Banner, Kaitlin	05. Prepare non- court filings (letters, other)	5 Prepare non- court filings (letters, other)	Review letter re: contempt award implementation, attn to emails re: same	0.2	829	165.8
Charles III.	0771172022	Banner,	(icticis, other)	(icticis, other)	Same	0.2	023	103.0
Charles H.	07/12/2022	-	03. Research	3 Research	REDACTED	0.4	829	331.6
		Banner,						
Charles H.	07/12/2022	Kaitlin	03. Research	3 Research	REDACTED	0.5	829	414.5
					Review class member plan to			
		Banner,		9k Other	enforce contempt			
Charles H.	07/12/2022	Kaitlin	09. Motions	Motions	order	0.2	829	165.8
		Banner,						
Charles H.	07/13/2022	Kaitlin	03. Research	3 Research	REDACTED	0.3	829	248.7
Charles H.	07/13/2022	Banner, Kaitlin	01. Meetings/Confer ences	1d Other Meetings	Internal meeting with Maggie, Marja, Joselyn re: contempt order enforcement, next steps in case	0.8	829	663.2
Charles H.	07/13/2022	Hart, Margaret	01. Meetings/Confer ences	1d Other Meetings	WLC internal meeting re class member outreach, contempt order, and next steps.	0.8	829	663.2

	1	ı	ī	1	1			
Charles H.	07/13/2022	Plater, Marja	01. Meetings/Conferences	1d Other Meetings	Internal meeting re class member outreach for contempt relief & next steps	0.8	829	663.2
			01.					
		Banner,	Meetings/Confer	1d Other				
Charles H.	07/13/2022	Kaitlin	ences	Meetings	REDACTED	0.3	829	248.7
					Create internal chart for WLC assigned CL's for plaintiff outreach re: contempt			
Charles H.	07/14/2022	Plater, Marja	18. Other	18 Other	relief	0.5	829	414.5
Charles H.	07/14/2022	Plater, Marja	01. Meetings/Confer ences	1c Co-counsel Meetings	Weekly meeting with co-counsel	1.8	829	1492.2
Charles H.	07/14/2022	Hart, Margaret	18. Other	18 Other	Review of client outreach memo.	0.2	829	165.8
Charles H.	07/14/2022	Hart, Margaret	01. Meetings/Conferences	1c Co-counsel Meetings	Weekly co- counsel meeting. Client outreach, mediation strategy, and scope of full relief sought discussed.	1.3	829	1077.7
Charles II.	0,117,2022	iviaigaict	01.	Wiccinig5	Weekly co-	1.5	023	10,7.7
		Banner,	Meetings/Confer	1c Co-counsel	counsel strategy			
Charles H.	07/14/2022		ences	Meetings	meeting	1.8	829	1492.2

	1	I		I	1		I	
					T/C with			
					Stephanie			
			01.		Madison re:			
		Banner,	Meetings/Confer	1c Co-counsel	settlement			
Charles H.	07/15/2022	Kaitlin	ences	Meetings	conference prep	0.5	829	414.5
			01.		Meeting with MH			
		Banner,	Meetings/Confer	1d Other	re: contempt			
Charles H.	07/15/2022	Kaitlin	ences	Meetings	relief	0.2	829	165.8
					Meeting with KB			
					re identifying			
			01.		potential			
		Hart,	Meetings/Confer	1d Other	tutors/mentors/v			
Charles H.	07/15/2022	Margaret	ences	Meetings	endors.	0.2	829	165.8
CHAITES III	07/13/2022	- Transacc	Circos	ivice.ii.gs		0.2	023	100.0
					Review individual			
					student files re			
					contempt relief			
					award letters and			
					IEPs. Research			
	l	Hart,			potential			
Charles H.	07/18/2022	Margaret	18. Other	18 Other	providers.	0.6	829	497.4
					Discuss case			
			01.		status at WLC			
		Hart,	Meetings/Confer	1d Other	disability/educatio			
Charles H.	07/20/2022	Margaret	ences	Meetings	n team meeting.	0.2	829	165.8
					Review and			
					comment on			
		Banner,	06. Mediation	6 Mediation	mediation			
Charles H.	07/21/2022	Kaitlin	(prep, conduct)	(prep, conduct)	statement	0.4	829	331.6

					Weekly meeting			
					with co-counsel			
					re: mediation			
					statement,			
					mediation prep &			
			01.		contact w/ PL's			
			Meetings/Confer	1c Co-counsel	about contempt			
Charles H.	07/21/2022	Plater, Marja	ences	Meetings	relief	2	829	1658
					Weekly co-			
					counsel strategy			
					meeting - discuss			
					mediation			
			01.		statement,			
		Banner,	Meetings/Confer	1c Co-counsel	contempt relief			
Charles H.	07/21/2022	Kaitlin	ences	Meetings	implementation	1	829	829
					Review draft			
			06. Mediation	6 Mediation	mediation			
Charles H.	07/21/2022	Plater, Marja	(prep, conduct)	(prep, conduct)	statement	0.5	829	414.5
					Co-counsel			
					meeting re			
			01.		mediation			
		Hart,	Meetings/Confer	1c Co-counsel	statement and			
Charles H.	07/21/2022	Margaret	ences	Meetings	relief sought.	2	829	1658
					Review and			
					comment on draft			
		Banner,	06. Mediation	6 Mediation	mediation			
Charles H.	07/22/2022	Kaitlin	(prep, conduct)	(prep, conduct)	statement	1.2	829	994.8

				1				
					Internal meeting			
					with Maggie and			
			01.		Marja re:			
		Banner,	Meetings/Confer	1d Other	mediation			
Charles H.	07/22/2022	1	ences	Meetings	statement	0.8	829	663.2
	, ,			, ,				
			01.		Internal meeting			
			Meetings/Confer	1d Other	re: mediation			
Charles H.	07/22/2022	Plater, Marja	ences	Meetings	statement	0.8	829	663.2
					Review and edit			
			06. Mediation	6 Mediation	mediation			
Charles H.	07/22/2022	Plater, Marja	(prep, conduct)	(prep, conduct)	statement	1	829	829
					Meeting with			
					Kaitlin and Marja			
			01.		re scope of relief,			
		Hart,	Meetings/Confer	1d Other	mediation			
Charles H.	07/25/2022	Margaret	ences	Meetings	statement.	0.8	829	663.2
		Banner,	06. Mediation	6 Mediation	Co-co call to prep			
Charles H.	07/25/2022	Kaitlin	(prep, conduct)	(prep, conduct)	for mediation	1	829	829
					Outreach re:			
					contact info for			
			05. Prepare non-	5 Prepare non-	class members'			
			court filings	court filings	contempt relief			
Charles H.	07/25/2022	Plater, Marja	(letters, other)	(letters, other)	awards	0.25	829	207.25
			01.		Co-counsel call to			
		Hart,	Meetings/Confer	1c Co-counsel	prep for			
Charles H.	07/25/2022	Margaret	ences	Meetings	mediation.	1	829	829

	I		I	ı	1		1	1
					Internal meeting			
					with Maggie and			
					Marja re:			
		Banner,	06. Mediation	6 Mediation	mediation,			
Charles H.	07/25/2022	Kaitlin	(prep, conduct)	(prep, conduct)	settlement offer	0.8	829	663.2
					Review draft			
					emails to Nick			
			05. Prepare non-	5 Prepare non-	Weiler at DCPS,			
			court filings	court filings	OAG, & BOP			
Charles H.	07/25/2022	Plater, Marja	(letters, other)	(letters, other)	facilities	0.3	829	248.7
					Review additional			
					edits to the			
			06. Mediation	6 Mediation	mediation			
Charles H.	07/25/2022	Plater, Marja	(prep, conduct)	(prep, conduct)	statement	0.3	829	248.7
					1.11			
					Internal meeting			
					with Kaitlin and			
			01		Maggie re:			
			01.	14 046 04	mediation			
Charles II	07/25/2022	Diaton Maria	Meetings/Confer	1d Other	strategy and settlement	0.8	829	ccaa
Charles H.	07/25/2022	Plater, Marja	ences	Meetings	Co-counsel call to	0.8	829	663.2
			06. Mediation	6 Mediation	prep for			
Charles H	07/25/2022	Diator Maria	(prep, conduct)		mediation	1	829	829
Citaties II.	01/23/2022	riater, ividija	(prep, conduct)	(prep, conduct)	Review and edit	1	029	029
			06. Mediation	6 Mediation	mediation			
Charles H	07/26/2022	 Plater Maria	(prep, conduct)	(prep, conduct)	statement	0.7	829	580.3
Citarics II.	10.720,2022	i lacci, ivialja	(prep, conduct)	INPI CP, COMMUCE)	Statement	5.7	023	500.5

					T/C with Tayo			
					Belle re:			
					compensatory			
		Banner,	06. Mediation	6 Mediation	education			
Charles H.	07/26/2022	Kaitlin	(prep, conduct)	(prep, conduct)	proposal	0.8	829	663.2
					Review draft			
					mediation			
					statement,			
		Banner,	06. Mediation	6 Mediation	comments from			
Charles H.	07/26/2022	Kaitlin	(prep, conduct)	(prep, conduct)	team	0.4	829	331.6
					Co-co meeting to			
					discuss mediation			
	l	Banner,	06. Mediation	6 Mediation	statement, prep			
Charles H.	07/27/2022	Kaitlin	(prep, conduct)	(prep, conduct)	for mediation	1.2	829	994.8
					Review WLC			
					internal edits to			
	l		06. Mediation	6 Mediation	mediation			
Charles H.	07/27/2022	Plater, Marja	(prep, conduct)	(prep, conduct)	statement	0.3	829	248.7
			01.		Co-counsel call to			
			Meetings/Confer	1c Co-counsel	prep for			
Charles H.	07/27/2022	Plater, Marja	ences	Meetings	mediation	1.2	829	994.8
					Review and edit			
		Banner,	06. Mediation	6 Mediation	draft mediation			
Charles H.	07/27/2022	Kaitlin	(prep, conduct)	(prep, conduct)	statement	0.8	829	663.2
					Review and edit			
		Banner,	06. Mediation	6 Mediation	mediation			
Charles H.	07/27/2022	Kaitlin	(prep, conduct)	(prep, conduct)	statement	0.2	829	165.8
					Review and edit			
		Banner,	06. Mediation	6 Mediation	draft mediation			
Charles H.	07/27/2022	Kaitlin	(prep, conduct)	(prep, conduct)	statement	0.5	829	414.5
					Review and edit			
		Banner,	06. Mediation	6 Mediation	draft mediation			
Charles H.	07/27/2022	Kaitlin	(prep, conduct)	(prep, conduct)	statement	0.3	829	248.7

					Co-counsel			
					meeting re			
					mediation			
					statement,			
			01.		potential			
		Hart,	Meetings/Confer	1c Co-counsel	settlement			
Charles H.	07/27/2022	Margaret	ences	Meetings	negotiations.	1.2	829	994.8
	, , -			Ŭ	Final review and			
					revision of			
		Hart,	06. Mediation	6 Mediation	mediation			
Charles H.	07/27/2022	Margaret	(prep, conduct)	(prep, conduct)	statement.	0.4	829	331.6
	, ,		,		Internal meeting			
		Banner,	06. Mediation	6 Mediation	to prep for			
Charles H.	07/28/2022	Kaitlin	(prep, conduct)	(prep, conduct)	mediation	0.4	829	331.6
					Review OSSE			
					guidance on			
		Banner,			COVID-19 comp			
Charles H.	07/28/2022	Kaitlin	03. Research	3 Research	ed	0.2	829	165.8
			01.					
			Meetings/Confer	1d Other	Internal meeting			
Charles H.	07/28/2022	Plater, Marja	ences	Meetings	re: mediation prep	0.4	829	331.6
					Co-counsel			
					meeting to prep			
					for mediation re:			
					comp ed			
			06. Mediation	6 Mediation	settlement			
Charles H.	07/29/2022	Plater, Marja	(prep, conduct)	(prep, conduct)	proposal	1.5	829	1243.5
					Meeting with co-			
		Banner,	06. Mediation	6 Mediation	co to prep for			
Charles H.	07/29/2022	Kaitlin	(prep, conduct)	(prep, conduct)	mediation	0.5	829	414.5
		l	I	1	Review May 2022			
					1			
		Plater, Marja		18 Other	status report and attachments	0.3	829	248.7

			I		Review and edit			
					draft Reply to			
		Danner		9k Other	Motion for Class			
Charles II	06/07/2022	Banner,	00 Matiana			0.0	020	240.7
Charles H.	06/07/2022	Kaitlin	09. Motions	Motions	Notification	0.3	829	248.7
					Email .			
					correspondence			
					with co-counsel			
		Banner,		9k Other	re: motions			
Charles H.	06/07/2022	Kaitlin	09. Motions	Motions	hearing	0.1	829	82.9
					Co-counsel			
		l	01.		strategy meeting			
		Hart,	Meetings/Confer	1c Co-counsel	re upcoming			
Charles H.	06/09/2022	Margaret	ences	Meetings	motions hearing.	0.8	829	663.2
			01.		Weekly co-			
		Banner,	Meetings/Confer	1c Co-counsel	counsel strategy			
Charles H.	06/09/2022	Kaitlin	ences	Meetings	meeting	0.8	829	663.2
					Review motion to			
		Banner,			dismiss in NYC			
Charles H.	06/13/2022	Kaitlin	03. Research	3 Research	IDEA COVID case	0.3	829	248.7
					Manting with KD			
					Meeting with KB			
		l	01.	1.10.1	re upcoming			
<u> </u>	,_,	Hart,	Meetings/Confer	1d Other	moots. Attend to			
Charles H.	06/13/2022	Margaret	ences	Meetings	emails re same.	0.2	829	165.8
					Review of TPM			
		l l a mt	42 Tui-1	12- Cananal Tital				
	0.5 / 1.7 / 0.05 -	Hart,	12. Trial	12a General Trial		[
Charles H.	06/15/2022	Margaret	Preparation	Preparation	undisputed facts.	0.3	829	248.7

							ı	
Charles H.	06/16/2022	Hart, Margaret	09. Motions	9I Motions Argument (including moot, prep)	Moot for Carolyn's PI Contempt/Clarific ation argument on 6.21.22	1.8	829	1492.2
Charles H.	06/16/2022	Plater, Marja	09. Motions	9I Motions Argument (including moot, prep)	Moot for Carolyn's Motion for Contempt/Clarific ation argument	1.9	829	1575.1
		Banner,		9I Motions Argument (including moot,	Review briefs on motion to clarify PI, motions re: contempt implementation;			
Charles H.	06/16/2022	Kaitlin	09. Motions	prep)	class notice	0.6	829	497.4
Charles H.	06/16/2022	Banner, Kaitlin	09. Motions	9l Motions Argument (including moot, prep)	Prep for hearing on motions re: clarifying PI. contempt orders	1	829	829
					Review TPM memos on undisputed facts & next steps legal			
Charles H.	06/16/2022	Plater, Marja	18. Other	18 Other	strategy	0.3	829	248.7
Charden	06/47/2022	Distant Maria	OO Maria a	9l Motions Argument (including moot,	Moot for Kathy re: Motions for Contempt &	1.0	222	004.0
Charles H.	00/1//2022	Plater, Marja	us. Motions	prep)	Notice	1.2	829	994.8

			01.		Moot Carolyn's			
		Hart,	Meetings/Confer	1c Co-counsel	argument for			
Charles H.	06/17/2022	Margaret	ences	Meetings	6.21.22 hearing.	1.5	829	1243.5
					Attend motions			
					hearing re:			
				9l Motions	Motions for			
				Argument	clarification of PI,			
				(including moot,	Contempt &			
Charles H.	06/21/2022	Plater, Marja	09. Motions	prep)	Notice to plaintiffs	2	829	1658
				9l Motions				
				Argument				
		Hart,		(including moot,	Attend motions			
Charles H.	06/21/2022	Margaret	09. Motions	prep)	hearing.	1.7	829	1409.3
		Hart,			Travel to/from			
Charles H.	06/21/2022	Margaret	18. Other	18 Other	hearing.	0.9	829	746.1
					Attend multi-			
				9l Motions	motion hearing			
				Argument	(related to PI and			
		Banner,		(including moot,	contemtp);			
Charles H.	06/21/2022	Kaitlin	09. Motions	prep)	debrief with team	2	829	1658
			01.					
		Hart,	Meetings/Confer	1c Co-counsel	Weekly meeting			
Charles H.	06/23/2022	Margaret	ences	Meetings	with co-counsel	1	829	829
			01.					
			Meetings/Confer	1a Client	Weekly meeting			
Charles H.	06/23/2022	Plater, Marja	ences	Meetings	with co-counsel	1	829	829
					Weekly co-			
			01.		counsel strategy			
		Banner,	Meetings/Confer	1c Co-counsel	meeting (left			
Charles H.	06/23/2022	Kaitlin	ences	Meetings	early)	0.5	829	414.5

				1	1			
		Banner,		9k Other	Review and edit draft Reply to Def. Opp to Pl. Motion to Enforce Contempt Order			
Charles H.	05/04/2022	Kaitlin	09. Motions	Motions	re MACPS	0.8	829	663.2
				9k Other	Review PL's reply brief for motion to enforce MAPCSA plans for former students, review OAG's response			1000
Charles H.	05/04/2022	Plater, Marja	09. Motions	Motions	brief	1.25	829	1036.25
Charles H.	05/04/2022	Banner, Kaitlin	09. Motions	9k Other Motions	Comment on Reply to Def. Opp. to Pl. Mot. to Enforce Contempt re: MAPCS	0.2	829	165.8
0.1.0.1.00	00,01,1011							
Charles H.	05/04/2022	Hart, Margaret	09. Motions	9k Other Motions	Review reply brief re Maya plans.	0.5	829	414.5
Charles H.	05/05/2022	Plater, Marja	Meetings/Confer ences	1c Co-counsel Meetings	Weekly meeting with co-counsel	1	829	829
Charles H.	05/05/2022	Banner, Kaitlin	02. Preliminary Work	2a Investigation	Review emails re: Petey Green comp ed provision	0.1	829	82.9

			01.		Weekly co-			
		Banner,	Meetings/Confer	1c Co-counsel	counsel strategy			
Charles H.	05/05/2022	Kaitlin	ences	Meetings	meeting	1	829	829
			01.					
		Hart,	Meetings/Confer	1c Co-counsel	Weekly co-			
Charles H.	05/05/2022	Margaret	ences	Meetings	counsel meeting.	0.5	829	414.5
					Review OAG's			
					reply re: Motion			
					for			
					Clarification/Modi			
Charles H.	05/09/2022	Plater, Marja	18. Other	18 Other	fication of PI	0.75	829	621.75
			01.		Review draft			
		Banner,	Meetings/Confer	1c Co-counsel	declaration -			
Charles H.	05/10/2022	Kaitlin	ences	Meetings	Gagnon 3rd Decl.	0.3	829	248.7
					Co-counsel call to			
					discuss sur-reply			
			01.		strategy on			
		Banner,	Meetings/Confer	1c Co-counsel	motion to modify			
Charles H.	05/10/2022	Kaitlin	ences	Meetings	PI	0.5	829	414.5
					Review Joe			
				9k Other	Gagnon's 3rd			
Charles H.	05/10/2022	Plater, Marja	09. Motions	Motions	expert declaration	0.5	829	414.5
	, ,	, ,			Review PL's sur-			
					reply to OAG's			
				9k Other	motion to			
Charles H.	05/11/2022	Plater, Marja	09. Motions	Motions	clarify/amend	0.3	829	248.7
	· ,	, ,			Review and edit			
					draft Surreply to			
					Def. Mt. for			
		Banner,		9k Other	Clarification/Modi			
Charles H.	05/11/2022	Kaitlin	09. Motions	Motions	fication	0.4	829	331.6

				1	Review/revise J.			
					Gagnon 3rd			
				11a Develop	Declaration. Sent			
		Hart,	11. Work with	expert	edits to co-			
Charles U	05/11/2022	Margaret	Expert Witness	report/testimony		0.5	829	414.5
Charles II.	03/11/2022	iviaigaiet	Expert withess	report/testimony	courisei.	0.5	029	414.3
					Review and edit			
					draft motion to			
					provide			
					provisional class			
					notice, proposed			
					order & notice.			
		Hart,		9k Other	Email ELC edits to			
Charles H.	05/19/2022	Margaret	09. Motions	Motions	co-counsel.	0.7	829	580.3
					Review and edit			
					draft motion to			
					provide			
					provisional class			
				9k Other	notice, proposed			
Charles H.	05/19/2022	Plater, Marja		Motions	order & notice	0.4	829	331.6
			01.					
			Meetings/Confer	1c Co-counsel	Weekly meeting			
Charles H.	05/19/2022	Plater, Marja	ences	Meetings	with co-counsel	1.2	829	994.8
					Review FOIA			
					responses re:			
Charles H.	05/26/2022	Plater, Marja	18. Other	18 Other	OSSE monitoring	0.5	829	414.5
			01.					
			Meetings/Confer	1c Co-counsel	Weekly meeting			
Charles H.	05/26/2022	Plater, Marja	ences	Meetings	with co-counsel	1	829	829

	ı		Γ	I			I	
					Review PL's sur-			
					reply brief in			
					support of Motion			
				9k Other	for Leave to File			
Charles H.	05/31/2022	Plater, Marja	09. Motions	Motions	Sur-Reply	0.2	829	165.8
					Review of email to			
		11.			OAG and email to			
	0.4/0=/0000	Hart,	40.00	40.00	co-counsel re		222	22.0
Charles H.	04/05/2022	Margaret	18. Other	18 Other	same.	0.1	829	82.9
					Review March			
					2022 Status			
					Report, hours			
					chart &			
Charles H.	04/05/2022	Plater, Marja	18. Other	18 Other	attachments	0.3	829	248.7
					Review of MAPCS			
		Hart,			status reports and			
Charles H	04/05/2022	Margaret	18. Other	18 Other	attachments.	0.3	829	248.7
Charles II.	0-1/03/2022	Widigaret	01.	10 Other	Weekly co-	0.5	023	240.7
		Banner,	Meetings/Confer	1c Co-counsel	counsel strategy			
Charles H	04/07/2022	· ·	ences	Meetings	meeting	1	829	829
Charles II.	04/07/2022	Kartiiii	01.	IVICCIII 63	Incetting		023	023
		Hart,	Meetings/Confer	1c Co-counsel	Co-counsel			
Charles H	04/07/2022	Margaret	ences	Meetings	strategy meeting.	1.1	829	911.9
Charles II.	04/07/2022	iviaigaiet	ences	ivicetings	Strategy meeting.	1.1	023	911.9
					Review and			
					analysis of D's Opp			
					to our Motion to			
		Hart,		9k Other	enforce contempt			
Charles H.	04/07/2022	Margaret	09. Motions	Motions	order.	0.4	829	331.6
	, ,			9k Other	Review and edit			
Charles L	04/12/2022	Plater, Marja	09. Motions	Motions	Reply to Opp to	0.75	829	621.75

Case 1:21-cv-00997-CJN Document 201-12 Filed 10/19/23 Page 98 of 161

					Review and edit			
					PL's Reply to Opp			
				9k Other	to Motion to			
Charles H.	04/12/2022	Plater, Marja	09. Motions	Motions	Enforce Contempt	0.75	829	621.75
					Review OAG's Opp			
				9k Other	to Motion to			
Charles H.	04/12/2022	Plater, Marja	09. Motions	Motions	Enforce Contempt	0.3	829	248.7
			01.					
			Meetings/Confer	1c Co-counsel	Weekly meeting			
Charles H.	04/14/2022	Plater, Marja	ences	Meetings	with co-counsel	0.25	829	207.25
					Review District's			
					submission of			
					contempt remedy			
		Banner,		9k Other	plans and			
Charles H.	04/18/2022	Kaitlin	09. Motions	Motions	supporting docs	0.5	829	414.5
					Review MAPCS			
					contempt order			
Charles H.	04/18/2022	Plater, Marja	18. Other	18 Other	plans & exhibits	0.5	829	414.5

			01.		Meeting re motion to letters re Maya recovery plan, motion re adequacy of Maya recovery plans, opposition to OG motion for clarification of contempt order re extended eligibility and in			
		Hart,	Meetings/Confer	1c Co-counsel	person			
Charles H.	04/19/2022	Margaret	ences	Meetings	instruction.	2.1	829	1740.9
					Review draft			
					motion to enforce			
					the contempt			
		Banner,		9k Other	order re: Maya			
Charles H.	04/19/2022	Kaitlin	09. Motions	Motions	plans	0.3	829	248.7

					Co-counsel			
					meeting to discuss			
					MAPCS contempt			
					order plans and			
					filing our motion			
					to enforce in			
					response,			
					discussed			
					opposition to			
					OAG's motion to			
			01.		clarify/modify			
			Meetings/Confer	1c Co-counsel	preliminary			
Charles H.	04/19/2022	Plater, Marja	ences	Meetings	injunction	2.1	829	1740.9
					Review and edit			
					motion for			
					clarification of			
					MAPCS-A plans for			
					former students			
					and supporting			
					documents.			
					Multiple			
					correspondence			
		Hart,		9k Other	with co-counsel re			
Charles H.	04/19/2022	Margaret	09. Motions	Motions	same.	1.5	829	1243.5
					Review Pl's			
					motion to enforce			
				9k Other	MAPCS plans for			
Charles H.	04/19/2022	Plater, Marja	09. Motions	Motions	former students	0.5	829	414.5

			1	1	1			
Charles H	04/21/2022	Hart, Margaret	01. Meetings/Confer ences	1d Other Meetings	Meeting with co- counsel, OAG attorneys, MAPCS to discuss MAPCS contempt plans. Debrief with co- counsel after meeting.	2	829	1658
Citaties III.	0 1/21/2022	Margaret	Chees	Wiccings	Overview of		023	1030
					emails between			
		Hart,			co-counsel and			
Charles H.	04/21/2022	Margaret	18. Other	18 Other	OAG.	0.3	829	248.7
	, , -	3 62 23						
Charles H.	04/21/2022	Banner, Kaitlin	01. Meetings/Conferences	1d Other Meetings	Meeting with co- counsel, OAG attorneys, MAPCS and attorneys to discuss Maya's contempt remedy plans	1	829	829
Charles II.	0-1/21/2022	Kareiiii	Chees	Wicethigs	piaris		025	023
			01. Meetings/Confer	1d Other	Meeting with co- counsel, OAG attorneys, MAPCS to discuss MAPCS contempt plans. Debrief with co- counsel after			
Charles H.	04/21/2022	Plater, Marja		Meetings	meeting.	2	829	1658

Charles H.	04/22/2022	Plater, Marja	01. Meetings/Confer ences	1b Witness Meetings	Meeting with expert Joe Gagnon and co-counsel re: OAG's motion for clarification of PI	1.1	829	911.9
Charles H.	04/22/2022	Plater, Marja	01. Meetings/Conferences	1c Co-counsel Meetings	Meeting with co- counsel to debrief after meeting with expert Joe Gagnon, discuss next steps for reply brief to OAG's motion for clarification of PI	0.6	829	497.4
Charles H.	04/22/2022	Plater, Marja Banner,	18. Other	18 Other	Review Joe Gagnon's discussion notes prior to meeting with him Read draft opposition to Def. motion to clarify/modify PI and Contempt	0.2	829	165.8
Charles H.	04/26/2022		09. Motions	Motions	order	0.3	829	248.7

				ı	1			
Charles H.	04/26/2022	Plater, Marja	09. Motions	9k Other Motions	Review Joe Gagnon's 2nd expert declaration draft	0.3	829	248.7
					Review and edit			
					Opp brief to Def's			
					Motion for			
					Clarification/amen			
				9k Other	d. Preliminary			
Charles H.	04/27/2022	Plater, Marja	09. Motions	Motions	Injunction	1.5	829	1243.5
					Review, revise PLAINTIFFS' BRIEF IN OPPOSITION TO THE DISTRICT'S MOTION FOR CLARIFICATION OF THE PRELIMINARY INJUNCTION AND CONTEMPT ORDERS, OR, IN THE ALTERNATIVE, FOR MODIFICATION OF			
Charles H	04/27/2022	Hart,	09. Motions	9k Other Motions	THE ORDERS. Sent to co-counsel.	0.8	829	663.2
Charles H.	04/2//2022	iviaigalet	บฮ. เขเบเเบกร	INIOLIOIIS	to co-courisei.	0.8	829	003.2

					Review and			
					comment on draft			
					opposition to Def.			
					motion to			
					clarify/modify the			
		Banner,		9k Other	PI and Contempt			
Charles H.	04/27/2022	Kaitlin	09. Motions	Motions	orders	1.3	829	1077.7
			01.		Weekly co-			
		Hart,	Meetings/Confer	1c Co-counsel	counsel strategy			
Charles H.	04/28/2022	Margaret	ences	Meetings	meeting.	0.5	829	414.5
Charles H.	04/28/2022	Banner, Kaitlin	09. Motions	9k Other Motions	Research case law, state regulations re: extended eligibility iso of opposition to Def. motion to modify PI/Contempt orders	0.5	829	414.5
CHAITES III.	0 1/ 20/ 2022	- Careini	01.	Wild Cons	Weekly co-	0.5	023	111.5
		Banner,	Meetings/Confer	1a Client	counsel strategy			
Charles H.	04/28/2022	Kaitlin	ences	Meetings	meeting	1	829	829
	, ,		01.	<u> </u>	Ŭ			
			Meetings/Confer	1c Co-counsel	Weekly meeting			
Charles H.	04/28/2022	Plater, Marja	ences	Meetings	with co-counsel	1	829	829
					Review Motion for early discovery. Review and edit			
Charles	02/01/2022	Diator Maria	OO Matiana	9k Other	30(b)(6) Notice	0.5	020	4145
Charles H.	03/01/2022	Plater, Marja	109. Motions	Motions	and Subpoena.	0.5	829	414.5

	1	I	ī	1			
03/02/2022	Hart, Margaret	01. Meetings/Confer ences	1c Co-counsel Meetings	Meeting with co- counsel re limited discovery, approach to MAPCS.	1.1	829	911.9
				_			
		Meetings/Confer	1c Co-counsel	limited discovery			
03/02/2022	Plater, Marja	ences	Meetings	strategy	1	829	829
		01.		Weekly co-			
	Banner,	Meetings/Confer	1c Co-counsel	counsel strategy			
03/03/2022	Kaitlin	ences	Meetings	meeting	1	829	829
		01.					
		Meetings/Confer	1c Co-counsel	Weekly meeting			
03/03/2022	Plater, Marja	ences	Meetings	with co-counsel	1	829	829
		01.					
	Hart,	Meetings/Confer	1c Co-counsel	Weekly co-			
03/03/2022	Margaret	ences	Meetings	counsel meeting.	1	829	829
				Co-counsel			
				strategy call re:			
				Feb. Status			
		01.		Report, Contempt			
	Banner,	Meetings/Confer	1c Co-counsel	Order, Early			
03/07/2022	Kaitlin	ences	Meetings	Discovery	1	829	829
			9j Prepare	·			
			Opposition to				
			Motion for	Review of P			
	Hart,			motion to conduct			
03/07/2022	•	09. Motions	Judgment	limited discovery.	0.3	829	248.7
	03/02/2022 03/03/2022 03/03/2022 03/03/2022	03/02/2022 Plater, Marja 03/03/2022 Plater, Marja 03/03/2022 Plater, Marja 03/03/2022 Plater, Marja Hart, 03/03/2022 Margaret	Hart, Meetings/Confer ences O3/02/2022 Plater, Marja ences O1. Meetings/Confer ences Hart, Meetings/Confer ences O3/03/2022 Margaret O1. Meetings/Confer ences Hart, Hart, Heetings/Confer ences	Hart, Meetings/Confer ences Meetings O1. Meetings/Confer ences Meetings O1. Meetings/Confer ences Meetings O1. Meetings/Confer ences Meetings O1. Meetings/Confer for ences Meetings O1. Meetings/Confer for ences Meetings O1. Meetings/Confer for for ences Meetings O1. Meetings/Confer for for ences Meetings O1. Meetings/Confer for ences Meetings O1. Meetings/Confer for for ences Meetings O1. Meetings/Confer for for ences Meetings O1. Meetings/Confer for for ences Meetings O3/03/2022 Margaret ences Meetings O1. Meetings/Confer for for ences Meetings O3/03/2022 Margaret ences Meetings O1. Meetings/Confer for for for for for Summary O3/07/2022 Kaitlin for Summary	Counsel re limited discovery, approach to MAPCS. Hart, Meetings/Confer ences Meetings Mapproach to MAPCS.	Counsel re limited discovery, approach to Meetings/Confer of Meetings MAPCS. 1.1 Meetings/Confer of Meetings MAPCS. O1. Meetings/Confer of Meetings MAPCS. O1. Meetings Meetings Meetings Meetings Meetings Meetings Strategy of Meetings of Meetings Meetings Meetings of Meetings Meetings Meetings of Meetings Today, Co-counsel Strategy call resemble Feb. Status Report, Contempt Order, Early Meetings Discovery 1 O3/07/2022 Kaitlin ences Meetings Discovery 1 Hart, Meetings/Confer Opposition to Motion for Review of P Summary motion to conduct	Counsel re limited discovery, approach to Meetings/Confer ences Meetings MAPCS. 1.1 829 Margaret

Charles H.	03/07/2022	Plater, Marja	18. Other	18 Other	Review February 2022 status report and supporting docs	1	829	829
					Co-counsel			
			01.		meeting re: next			
			Meetings/Confer	1c Co-counsel	steps for limited			
Charles H.	03/07/2022	Plater, Marja	ences	Meetings	discovery	1	829	829
			01.		Co-counsel meeting re strategy for filing			
		Hart,	Meetings/Confer	1c Co-counsel	for expedited			
Charles H.	03/07/2022	Margaret	ences	Meetings	discovery.	1	829	829
			01.		Weekly strategy			
		Banner,	Meetings/Confer	1c Co-counsel	call with co-			
Charles H.	03/10/2022	Kaitlin	ences	Meetings	counsel	1	829	829
		Hart,	01. Meetings/Confer	1c Co-counsel	Weekly strategy			
Charles H.	03/10/2022	Margaret	ences	Meetings	meeting	1	829	829
			01. Meetings/Confer	1c Co-counsel	Weekly meeting			
Charles H.	03/10/2022	Plater, Marja	ences	Meetings	with co-counsel	1	829	829
					Review of email			
				11a Develop	from J. Gagnon re			
	. .	Hart,	11. Work with	expert	systemic issue			
Charles H.	03/11/2022	Margaret	Expert Witness	report/testimony	rubric.	0.1	829	82.9

					Weekly co-			
					counsel meeting.			
					Discussion re			
			01.		DCPS contempt			
		Hart,	Meetings/Confer	1c Co-counsel	recovery plans for			
Charles H.	03/17/2022	Margaret	ences	Meetings	September 2022.	1.2	829	994.8
			01.					
			Meetings/Confer	1c Co-counsel	Weekly meeting			
Charles H.	03/17/2022	Plater, Marja		Meetings	with co-counsel	1	829	829
			01.		Weekly co-			
		Banner,	Meetings/Confer	1c Co-counsel	counsel strategy			
Charles H.	03/17/2022	Kaitlin	ences	Meetings	meeting	1	829	829
Charles H.	03/18/2022	Plater, Marja	01. Meetings/Confer ences	1d Other Meetings	Meeting with expert Joe Gagnon and co-counsel re: DCPS plans per contempt order & appropriate relief for	1	829	829
		Hart,	01. Meetings/Confer	1d Other	Meeting with J. Gagnon (expert) and co-counsel re framing of relief, adequacy of DCPS plans to remediate			
Charles H.	03/18/2022	Margaret	ences	Meetings	contempt failures.	1	829	829

	I			<u> </u>	la			
					Review email to			
					OAG re:			
					inadequate plans			
					& motion to			
					enforce contempt			
Charles H.	03/21/2022	Plater, Marja	18. Other	18 Other	order	0.1	829	82.9
					Review Motion to			
					enforce contempt,			
					alternatively			
					motion to clarify			
					contempt order			
				9k Other	and proposed			
Charles II	02/22/2022	Dieton Maria	OO Matiana		orders	1	020	020
Charles H.	03/22/2022	Plater, Marja	09. Motions	Motions	orders	1	829	829
					Review/revise			
					Motion to enforce			
					contempt,			
					alternatively			
					motion to clarify			
					contempt order			
					and proposed			
					orders.			
					Correspond with			
		Hart,		9k Other	co-counsel re			
Charles II	03/23/2022	*	09. Motions	Motions	same.	0.5	829	414.5

	ı	I	I	ı	T			
					Review and edit			
					Motion to enforce			
					contempt,			
					alternatively			
					motion to clarify			
					contempt order			
				9k Other	and proposed			
Charles H	03/23/2022	Plater, Marja	09 Motions	Motions	orders	0.5	829	414.5
Charles III.	03/23/2022	riacer, iviarja	01.	Widtions	014613	0.5	023	111.5
			Meetings/Confer	1c Co-counsel	Weekly meeting			
Charles H.	03/24/2022	Plater, Marja	ences	Meetings	with co-counsel	1	829	829
	, ,	, ,	01.	, ,	Weekly co-			
		Banner,	Meetings/Confer	1c Co-counsel	counsel strategy			
Charles H.	03/24/2022	Kaitlin	ences	Meetings	meeting	1	829	829
					Review/revise			
					email to opposing			
					counsel re OSSE			
		Hart,			monitoring			
Charles H.	03/29/2022	Margaret	18. Other	18 Other	reports.	0.2	829	165.8
Charles H.	03/31/2022	Plater, Marja		18 Other	REDACTED	1.5	829	1243.5
			01.					
			Meetings/Confer	1d Other				
Charles H.	03/31/2022	Plater, Marja	ences	Meetings	REDACTED	0.75	829	621.75
			01.					
			Meetings/Confer	1c Co-counsel				
Charles H.	03/31/2022	Plater, Marja	ences	Meetings	REDACTED	0.4	829	331.6
				9l Motions				
				Argument	Moot for MTD			
		Banner,		(including moot,	Hearing with co-			
Charles H.	02/03/2022	Kaitlin	09. Motions	prep)	counsel team	2.1	829	1740.9

			01.					
		Hart,	Meetings/Confer	1c Co-counsel	Moot for hearing			
Charles H.	02/03/2022	Margaret	ences	Meetings	on 2.8.22.	2.1	829	1740.9
				9l Motions				
				Argument	Review MTD and			
		Banner,		(including moot,	Class briefing to			
Charles H.	02/03/2022	Kaitlin	09. Motions	prep)	prep for moots	0.5	829	414.5
			01.					
		Hart,	Meetings/Confer	1c Co-counsel	Co-counsel Moot			
Charles H.	02/04/2022	Margaret	ences	Meetings	re MTD	1.5	829	1243.5
				9l Motions				
				Argument	Moot Motion for			
		Banner,		(including moot,	Class Cert			
Charles H.	02/04/2022	Kaitlin	09. Motions	prep)	argument	1.5	829	1243.5
					Review District's			
		Banner,		9k Other	January status			
Charles H.	02/04/2022	Kaitlin	09. Motions	Motions	report	0.3	829	248.7
				9l Motions				
				Argument				
		Banner,		(including moot,	Review contempt			
Charles H.	02/07/2022	Kaitlin	09. Motions	prep)	motion briefing	0.6	829	497.4
		Hart,	12. Trial	12a General Trial	Co-counsel moot			
Charles H.	02/07/2022	Margaret	Preparation	Preparation	re contempt	1.5	829	1243.5
				9l Motions				
				Argument	Organize files in			
		Banner,		(including moot,	preparation for			
Charles H.	02/07/2022	Kaitlin	09. Motions	prep)	argument	0.2	829	165.8
					Review contempt			
		Hart,	12. Trial	12a General Trial	motions re			
Charles H.	02/07/2022	Margaret	Preparation	Preparation	hearing on 2.8.22	0.4	829	331.6

				9l Motions				
				Argument	Moot of Motion			
		Banner,		(including moot,	for Contempt			
Charles H.	02/07/2022	Kaitlin	09. Motions	prep)	argument	1.5	829	1243.5
					T/C with			
				9l Motions	Stephanie			
				Argument	Madison to prep			
		Banner,		(including moot,	for class			
Charles H.	02/07/2022	Kaitlin	09. Motions	prep)	arguments	0.3	829	248.7
		Banner,			Travel to/from			
Charles H.	02/08/2022	Kaitlin	18. Other	18 Other	hearing	0.8	829	663.2
				9l Motions	Listen to Motions			
				Argument	arguments re			
		Hart,		(including moot,	MTD, contempt,			
Charles H.	02/08/2022	Margaret	09. Motions	prep)	and class cert.	2	829	1658
					Pre-hearing prep			
		Banner,		9k Other	with co-counsel			
Charles H.	02/08/2022	Kaitlin	09. Motions	Motions	team	1	829	829
				9l Motions				
				Argument	Motions argument			
		Banner,		(including moot,	on Class Cert,			
Charles H.	02/08/2022	Kaitlin	09. Motions	prep)	Contempt, MTD	2	829	1658
				9l Motions				
				Argument				
		Banner,		(including moot,				
Charles H.	02/08/2022	Kaitlin	09. Motions	prep)	Debrief hearing	0.3	829	248.7
					Listened to			
				9l Motions	motions argument			
				Argument	for contempt,			
				(including moot,	class cert, and			
Charles H.	02/08/2022	Plater, Marja	09. Motions	prep)	MTD	2	829	1658

			01.					
		Hart,	Meetings/Confer	1c Co-counsel	Weekly co-			
Charles H.	02/10/2022	Margaret	ences	Meetings	counsel call.	0.5	829	414.5
			01.		T/C with			
		Banner,	Meetings/Confer	1c Co-counsel	Stephanie			
Charles H.	02/10/2022	Kaitlin	ences	Meetings	Madison	0.3	829	248.7
			01.		Weekly co-			
		Banner,	Meetings/Confer	1c Co-counsel	counsel strategy			
Charles H.	02/10/2022	Kaitlin	ences	Meetings	meeting	0.5	829	414.5
			05. Prepare non-	5 Prepare non-	Review and letter			
		Banner,	court filings	court filings	to OAG re: PI			
Charles H.	02/11/2022	Kaitlin	(letters, other)	(letters, other)	compliance	0.3	829	248.7
	, , .		(, ,	(, ,	Review Notice to			_
					Court re:			
					compliance			
					reporting and			
		Banner,		9k Other	supporting			
Charles H.	02/15/2022	Kaitlin	09. Motions	Motions	declarations	0.3	829	248.7
			05. Prepare non-	5 Prepare non-	Start draft press			
			court filings	court filings	release re:			
Charles H.	02/16/2022	Plater, Marja	(letters, other)	(letters, other)	contempt ruling	0.5	829	414.5
					Review Order on			
					Motion for			
					Contempt;			
					correspondence			
		Banner,		9k Other	with co-co re:			
Charles H.	02/16/2022	Kaitlin	09. Motions	Motions	same	0.3	829	248.7
					Receipt and			
					review of			
					Contempt order.			
		Hart,			Email to WLC			
Charles H.	02/16/2022		18. Other	18 Other	team re same.	0.3	829	248.7

			01.					
			Meetings/Confer	1c Co-counsel	Weekly meeting			
Charles H.	02/17/2022	Plater, Marja	ences	Meetings	with co-counsel	0.8	829	663.2
0.10.100 1.11			01.				0_0	000.1
		Hart,	Meetings/Confer	1c Co-counsel	weekly co-counsel			
Charles H.	02/17/2022	1	ences	Meetings	meeting.	0.8	829	663.2
	,,	arran gan a a	01.		in comig.			
		Hart,		1c Co-counsel	Weekly co-			
Charles H.	02/24/2022	1	ences	Meetings	counsel meeting.	1.1	829	911.9
	, ,		01.					
			Meetings/Confer	1c Co-counsel	Weekly meeting			
Charles H.	02/24/2022	Plater, Marja	ences	Meetings	with co-counsel	1	829	829
	, ,	, ,	01.		Weekly co-			
		Banner,	Meetings/Confer	1c Co-counsel	counsel strategy			
Charles H.	02/24/2022	· ·	ences	Meetings	meeting	1.1	829	911.9
					Review and edit			
		Banner,		9k Other	draft Motion for			
Charles H.	02/28/2022	Kaitlin	09. Motions	Motions	early discovery	0.3	829	248.7
			01.		Meeting with			
			Meetings/Confer	1d Other	expert, Joe			
Charles H.	02/28/2022	Plater, Marja	ences	Meetings	Gagnon	1	829	829
					Review District's			
		Banner,		9k Other	December status			
Charles H.	01/04/2022	Kaitlin	09. Motions	Motions	report	0.4	829	331.6
			01.		Weekly co-			
		Banner,	Meetings/Confer	1c Co-counsel	counsel strategy			
Charles H.	01/06/2022	Kaitlin	ences	Meetings	meeting	1.1	829	911.9
					Review January			
					status report &			
					other recently			
					filed docs &			
Charles H.	01/06/2022	Plater, Marja	18. Other	18 Other	orders	1	829	829

			01.					
		Hart,	Meetings/Confer	1c Co-counsel	Weekly co-			
Charles H.	01/06/2022	· ·	ences	Meetings	counsel call.	1.1	829	911.9
		arran gan a a	01.	g			0.00	
			Meetings/Confer	1c Co-counsel	Weekly meeting			
Charles H.	01/06/2022	Plater, Marja	ences	Meetings	with co-counsel	1.1	829	911.9
	, ,	, ,						
					Meet and confer			
					with OAG & co-			
			01.		counsel re:			
		Banner,	Meetings/Confer	1d Other	Charles H. status,			
Charles H.	01/12/2022	Kaitlin	ences	Meetings	compliance	1	829	829
			01.		Meeting with OAG			
		Hart,	Meetings/Confer	1d Other	re complaint			
Charles H.	01/12/2022	Margaret	ences	Meetings	report.	1	829	829
					Internal meeting			
			01.		with Marja and KB			
		Hart,	Meetings/Confer	1d Other	re format of comp			
Charles H.	01/12/2022	Margaret	ences	Meetings	ed relief.	0.5	829	414.5
					Internal meeting			
			01.		with Maggie,			
		Banner,	Meetings/Confer	1d Other	Marja to discuss			
Charles H.	01/12/2022	Kaitlin	ences	Meetings	comp ed formulas	0.5	829	414.5
			01.		_			
			Meetings/Confer	1d Other	Meet with OAG			
Charles H.	01/12/2022	Plater, Marja	ences	Meetings	and co-counsel	1	829	829
			01.		Weekly co-			
		Banner,	l	1c Co-counsel	counsel strategy			
Charles H.	01/13/2022	Kaitlin	ences	Meetings	meeting	0.5	829	414.5

			01.					
		Hart,	Meetings/Confer	1c Co-counsel	Weekly co-			
Charles H.	01/13/2022	Margaret	ences	Meetings	counsel call.	0.8	829	663.2
			01.					
			Meetings/Confer	1c Co-counsel	Weekly meeting			
Charles H.	01/14/2022	Plater, Marja	ences	Meetings	with co-counsel	1	829	829
			01.		Regular co-			
		Hart,	Meetings/Confer	1c Co-counsel	counsel strategy			
Charles H.	01/20/2022	Margaret	ences	Meetings	call.	1.1	829	911.9
			01.		Weekly co-			
		Banner,	Meetings/Confer	1c Co-counsel	counsel strategy			
Charles H.	01/20/2022	Kaitlin	ences	Meetings	meeting	1.1	829	911.9
			01.					
			Meetings/Confer	1c Co-counsel	Weekly meeting			
Charles H.	01/20/2022	Plater, Marja	ences	Meetings	with co-counsel	1	829	829
					Receive and			
					review court order			
					setting hearing,			
					email			
					correspondence			
		Banner,			with co-counsel			
Charles H.	01/21/2022	Kaitlin	18. Other	18 Other	re: same	0.1	829	82.9
			01.		Co-counsel call to			
		Hart,	Meetings/Confer	1c Co-counsel	plan for oral			
Charles H.	01/24/2022	Margaret	ences	Meetings	argument.	0.8	829	663.2
			01.		Co-counsel			
		Banner,	Meetings/Confer	1c Co-counsel	meeting to plan			
Charles H.	01/24/2022	Kaitlin	ences	Meetings	for oral argument	0.8	829	663.2
			01.		Co-counsel			
			Meetings/Confer	1c Co-counsel	meeting to plan			
Charles H.	01/24/2022	Plater, Marja	ences	Meetings	for oral argument	0.8	829	663.2

					Review draft			
					motion and			
					proposed order			
		Banner,		9k Other	for protective			
Charles H.	01/26/2022	· ·	09. Motions	Motions	order	0.1	829	82.9
Citaties in	01, 20, 2022	- Carellin	03.1410010113	Wickiens	Meeting to	0.1	023	02.3
			01.		consult expert Joe			
				1d Other	Gagnon re: comp			
Charles H.	01/28/2022	Plater, Marja	ences	Meetings	ed relief	1.1	829	911.9
					Meeting with co-			
					counsel and J.			
			01.		Gagnon re crafting			
		Hart,		1d Other	meaningful relief			
Charles H	01/28/2022	l -	ences	Meetings	for comp ed	1.1	829	911.9
Charles II.	01/28/2022	iviaigaiet	ences	ivicetings	lor compled	1.1	023	311.5
				10b Draft written				
Charles H.	12/01/2021	Plater, Marja	10. Discovery	Discovery	Draft RFPs	2	829	1658
			01.					
		Hart,	Meetings/Confer	1c Co-counsel	Weekly meeting			
Charles H.	12/02/2021	Margaret	ences	Meetings	with co-counsel.	1	829	829
			01.					
			Meetings/Confer	1c Co-counsel	Weekly meeting			
Charles H.	12/02/2021	Plater, Marja	ences	Meetings	with co-counsel	1	829	829
				10b Draft written				
Charles H.	12/03/2021	Plater, Marja	10. Discovery	Discovery	Draft RFPs	1	829	829
					Review and edit			
					supplemental			
					brief for contempt			
Charles H.	12/07/2021	Plater, Marja	18. Other	18 Other	motion	0.6	829	497.4
		, <u>, , , , , , , , , , , , , , , , , , </u>					_	

					Review and edit			
					supplemental			
		Banner,		9k Other	brief to Motion			
Charles H	12/07/2021	Kaitlin	09. Motions	Motions	for Contempt	0.6	829	497.4
Charles II.	12/0//2021	Kareiiii	05. 1410(10115	WIGHT	Tor contempt	0.0	023	757.7
					Review 12/1/21			
					Status Report and			
Charles H.	12/07/2021	Plater, Marja	18. Other	18 Other	attachments	0.25	829	207.25
	,,		01.					
			Meetings/Confer	1c Co-counsel	Weekly meeting			
Charles H.	12/09/2021	Plater, Marja	ences	Meetings	with co-counsel	1	829	829
	,,	, , , , ,	01.	J		_		
		Hart,	Meetings/Confer	1c Co-counsel	Weekly co-			
Charles H.	12/09/2021	Margaret	ences	Meetings	counsel call.	1	829	829
			01.		Weekly co-			
		Banner,	Meetings/Confer	1c Co-counsel	counsel strategy			
Charles H.	12/09/2021	Kaitlin	ences	Meetings	meeting	1	829	829
					Email			
					correspondence			
					re: motion for			
		Banner,		9k Other	reporting			
Charles H.	12/13/2021	Kaitlin	09. Motions	Motions	deadlines	0.1	829	82.9
					Review			
					Opposition to			
		Banner,		9k Other	Motion to Modify			
Charles H.	12/14/2021	Kaitlin	09. Motions	Motions	PI	0.2	829	165.8
					Review Pl. Opp to			
					Mot to Modify PI			
		Hart,		9k Other	and emails to co-			
Charles H.	12/14/2021	Margaret	09. Motions	Motions	counsel re same.	0.3	829	248.7

					Review Def.			
		Banner,		9k Other	Motion to Modify			
Charles H.	12/14/2021	Kaitlin	09. Motions	Motions	PI	0.3	829	248.7
					Review co-counsel			
					emails re:			
					Opposition to			
		Banner,		9k Other	Motion to Modify			
Charles H.	12/15/2021	Kaitlin	09. Motions	Motions	PI	0.1	829	82.9
					Review edits to			
					Opp to Motion to			
				9k Other	extend status			
Charles H.	12/15/2021	Plater, Marja	09. Motions	Motions	report deadline	0.25	829	207.25
			01.					
			Meetings/Confer	1c Co-counsel	Weekly meeting			
Charles H.	12/16/2021	Plater, Marja	ences	Meetings	with co-counsel	1	829	829
			01.					
		Hart,	Meetings/Confer	1c Co-counsel	Weekly co-			
Charles H.	12/16/2021	Margaret	ences	Meetings	counsel call.	1.1	829	911.9
					Review/revise			
					email to OAG and			
			05. Prepare non-	5 Prepare non-	correspond with			
		Hart,	court filings	court filings	co-counsel re			
Charles H.	12/20/2021	Margaret	(letters, other)	(letters, other)	same.	0.2	829	165.8
					Review order on			
		Banner,		9k Other	motion to modify			
Charles H.	12/21/2021	Kaitlin	09. Motions	Motions	PI	0.2	829	165.8
					Review Plaintiffs			
				9k Other	Supp Reply Brief			
Charles H.	12/29/2021	Plater, Marja	09. Motions	Motions	Contempt Motion	0.7	829	580.3

Charles H.	12/29/2021	Banner, Kaitlin	09. Motions	9k Other Motions	Review Reply to Supplemental Brief on Contempt Motion	0.3	829	248.7
					Review status and			
		Banner,		9k Other	compliance report			
Charles H.	11/01/2021	Kaitlin	09. Motions	Motions	to Court	0.2	829	165.8
		Hart,		10b Draft written	Continue draft of discovery plan including Meet			
Charles H.	11/01/2021	Margaret	10. Discovery	Discovery	and Confer doc.	1.5	829	1243.5
		Banner,		9k Other	Retrieve Def. Opposition to Contempt Motion from PACER, internal email to			
Charles H.	11/02/2021	Kaitlin	09. Motions	Motions	team re: same	0.1	829	82.9
		Banner,			Review research, draft on accelerated learning vs. comp			
Charles H.	11/02/2021	Kaitlin	03. Research	3 Research	ed	0.2	829	165.8
Charles	11/02/2021	Hart,	19 Other	18 Other	Review and analyze defendants 11.1.21 status	0.3	829	248.7
Charles H.	11/02/2021	liviargaret	18. Other	To Other	report.	0.3	829	248.

		1		1	1			
Charles H.	11/02/2021	Hart, Margaret	18. Other	18 Other	Review and analyze OSSE guiding principals for accelerated learning cited to by Ds in 11.1.21 status report.	0.4	829	331.6
		_						
					Draft language re			
					accelerated			
		Hart,		9k Other	education for PI			
Charles H.	11/02/2021	Margaret	09. Motions	Motions	contempt motion.	0.4	829	331.6
					Review 11/1/21			
			_		Status Report and			
Charles H.	11/02/2021	Plater, Marja	18. Other	18 Other	MOA	0.5	829	414.5
					Review OSSE continuous ed guidance and review draft language re accelerated education for PI			
Charles H.	11/02/2021	Plater, Marja	18. Other	18 Other	contempt motion.	0.5	829	414.5
					Review Def.			
					Opposition to			
		Banner,		9k Other	Motion for			
Charles H.	11/02/2021	Kaitlin	09. Motions	Motions	Contempt	0.2	829	165.8

					Review and			
					analyze Ds Opp to			
					Motion for			
					Contempt of PI.			
					Email to co-			
		Hart,		9k Other	counsel team re			
Charles H.	11/03/2021	Margaret	09. Motions	Motions	same	1.5	829	1243.5
					Review Def's			
					Opposition to			
					Motion for			
					Contempt and			
					exhibits and			
					review co-counsel			
				9k Other	emails re: reply			
Charles H.	11/03/2021	Plater, Marja	09. Motions	Motions	brief	1	829	829
			01.		Weekly co-			
		Banner,	Meetings/Confer	1c Co-counsel	counsel strategy			
Charles H.	11/04/2021	Kaitlin	ences	Meetings	meeting	1.1	829	911.9
			01.					
			Meetings/Confer	1c Co-counsel	Weekly meeting			
Charles H.	11/04/2021	Plater, Marja	ences	Meetings	with co-counsel	1.1	829	911.9
			01.		Weekly strategy			
		Hart,	Meetings/Confer	1c Co-counsel	meeting with co-			
Charles H.	11/04/2021	Margaret	ences	Meetings	counsel.	1.1	829	911.9
					Edit email to OAG			
					re putative class			
					members			
					impacted by			
			05. Prepare non-	5 Prepare non-	Marshal			
		Hart,	court filings	court filings	inspection and			
Charles H.	11/04/2021	Margaret	(letters, other)	(letters, other)	transfer.	0.1	829	82.9

					Review and edit			
					draft Reply to			
		Banner,		9k Other	Motion for			
Charles H.	11/05/2021	Kaitlin	09. Motions	Motions	Contempt	0.8	829	663.2
					·			
					Review co-			
					counsel's edits to			
				9k Other	Reply for Motion			
Charles H.	11/05/2021	Plater, Marja	09. Motions	Motions	for Contempt	0.5	829	414.5
					Review and edit			
					Plaintiff's reply			
					brief to Def's			
					response to			
				9k Other	Motion for			
Charles H.	11/05/2021	Plater, Marja	09. Motions	Motions	Contempt of PI	1.6	829	1326.4
		Banner,		9k Other	Edit Reply Motion			
Charles H.	11/05/2021	Kaitlin	09. Motions	Motions	for Contempt	0.7	829	580.3
					Review of class			
					member			
					responses to			
		Hart,			notice of class			
Charles H.	11/09/2021	Margaret	18. Other	18 Other	action.	0.2	829	165.8
					Email			
					correspondence			
					with co-counsel			
		Banner,			re: outreach to			
Charles H.	11/12/2021	Kaitlin	18. Other	18 Other	class members	0.1	829	82.9
			01.					
			Meetings/Confer	1c Co-counsel	Weekly meeting			
Charles H.	11/15/2021	Plater, Marja	ences	Meetings	with co-counsel	1	829	829
			01.		Weekly co-			
		Banner,	Meetings/Confer	1c Co-counsel	counsel strategy			
Charles H.	11/15/2021	Kaitlin	ences	Meetings	meeting	0.4	829	331.6

	I	l		1				
					Debrief with			
					Maggie after co-			
			01.		counsel meeting			
			Meetings/Confer	1d Other	and discuss			
Charles H.	11/18/2021	Plater, Marja	ences	Meetings	discovery plan	0.4	829	331.6
					Meeting with MP			
			01.		re debrief and			
		Hart,	Meetings/Confer	1d Other	discovery next			
Charles H.	11/18/2021	Margaret	ences	Meetings	steps.	0.4	829	331.6
					Review discovery			
				10b Draft written	rules and begin to			
Charles H.	11/22/2021	Plater, Marja	10. Discovery	Discovery	draft RFP	2	829	1658
				10b Draft written				
Charles H.	11/29/2021	Plater, Marja	10. Discovery	Discovery	Draft RFPs	2	829	1658
				10b Draft written				
Charles H.	11/30/2021	Plater, Marja	10. Discovery	Discovery	Draft RFPs	3	829	2487
			01.					
			l	1a Client	Video call with			
Charles H.	10/01/2021	Plater, Marja	ences	Meetings	class member	0.33	829	273.57
					Internal meeting			
					with MH, MP to			
			01.		debrief co-counsel			
		Banner,	l	1d Other	call, discuss next			
Charles H.	10/01/2021	Kaitlin	ences	Meetings	steps	0.8	829	663.2
			01.		Weekly strategy			
		Banner,		1c Co-counsel	call with co-			
Charles H.	10/07/2021	Kaitlin	ences	Meetings	counsel	1	829	829

			I					
					Review October status report and			
Charles H.	10/07/2021	Plater, Marja	18. Other	18 Other	attachments	0.5	829	414.5
					Debrief with			
					Maggie after co-			
			01.		counsel meeting			
				1d Other	to discuss next			
Charles H	10/07/2021	Plater, Marja	ences	Meetings		0.5	829	414.5
Charles n.	10/07/2021	Flater, Marja	ences	lvieetiligs	steps	0.3	029	414.3
					Weekly meeting			
					with co-counsel to			
			01.		discuss case			
				1c Co-counsel	updates and legal			
Charles H	10/07/2021	Plater, Marja	ences	Meetings	strategy	1.5	829	1243.5
Charles III.	10,07,2021	riater, iviarja	Crices	Wiccings	Upload	1.5	023	12 13.3
		Banner,			documents into			
Charles H.	10/07/2021		18. Other	18 Other	legal server	0.2	829	165.8
0.10.1.00 111			20.00.0	20 0 0 11 10 1	10801001101			
					Review Motion for			
					Contempt and			
					associated			
					documents, email			
					correspondence			
		Banner,		9k Other	with co-counsel			
Charles H.	10/14/2021	Kaitlin	09. Motions	Motions	team re: same	0.6	829	497.4
					Weekly meeting			
					with co-counsel to			
			01.		discuss case			
			Meetings/Confer	1c Co-counsel	updates and legal			
Charles H.	10/14/2021	Plater, Marja	ences	Meetings	strategy	1.75	829	1450.75

					Review draft			
				9k Other	Motion for			
Charles H.	10/14/2021	Plater, Marja	09. Motions	Motions	Contempt of PI	1	829	829
					Review and edit			
					2nd draft			
					Contempt Motion			
				9k Other	and Proposed			
Charles H.	10/15/2021	Plater, Marja	09. Motions	Motions	Order	2	829	1658
					Review WLC's			
					edits for motion			
				9k Other	for contempt and			
Charles H.	10/15/2021	Plater, Marja	09. Motions	Motions	proposed order	0.3	829	248.7
					Review and edit			
					draft motion for			
					contempt and			
		Banner,		9k Other	associated			
Charles H.	10/15/2021	Kaitlin	09. Motions	Motions	documents	0.7	829	580.3
					Review edits to			
					motion for			
		Banner,		9k Other	comtempt and			
Charles H.	10/16/2021	Kaitlin	09. Motions	Motions	proposed order	0.3	829	248.7
					Edit motion for			
					contempt and			
					proposed order;			
		Banner,		9k Other	email to co-			
Charles H.	10/17/2021	Kaitlin	09. Motions	Motions	counsel re: same	1.3	829	1077.7

			ı	ı	T			
Charles H.	10/18/2021	Hart, Margaret	01. Meetings/Conferences	1d Other Meetings	Meet and confer with OAG re contempt motion. Debrief with cocounsel team re same.	0.3	829	248.7
		-		_				
					Review Contempt			
					Motion and			
l				9k Other	Proposed Order			
Charles H.	10/18/2021	Plater, Marja	09. Motions	Motions	drafts	0.5	829	414.5
					Meet with OAG to			
					discuss contempt			
					motion. Debrief			
					with co-counsel			
			01.		after meeting to			
			Meetings/Confer	1d Other	discuss contempt			
Charles H.	10/18/2021	Plater, Marja	_	Meetings	motion.	0.3	829	248.7
0.110.1100 111				l l		0.0		
					Meet and confer			
					with OAG on			
					Motion for			
					Contempt;			
		Banner,		9k Other	debrief with co-			
Charles H.	10/18/2021	Kaitlin	09. Motions	Motions	counsel re: same	0.3	829	248.7
					Email			
					correspondence			
					with co-counsel			
		Banner,		9k Other	re: contempt			
Charles H.	10/18/2021	Kaitlin	09. Motions	Motions	motion	0.2	829	165.8

				T/C with Pravlik			
		01.		'			
	Banner.		1c Co-counsel				
10/18/2021	· ·			· · · · · · · · · · · · · · · · · · ·	0.1	829	82.9
10/10/2021	- Carellin		i i i i i i i i i i i i i i i i i i i	proposed order	0.1	023	02.5
		01.		Meeting with			
			1d Other	_			
10/20/2021	Plater, Marja	ences	Meetings	re: discovery plan	0.6	829	497.4
		01.		Meeting with			
	Hart,	Meetings/Confer	1c Co-counsel	Marja and Tayo re			
10/20/2021	Margaret	ences	Meetings	discovery plan.	0.6	829	497.4
				, ,			
				with co-counsel to			
		01.		discuss case			
		Meetings/Confer	1c Co-counsel	updates and legal			
10/21/2021	Plater, Marja	ences	Meetings	strategy	0.9	829	746.1
				Debrief after			
		01					
			1d Othor	· · · · · · · · · · · · · · · · · · ·			
10/21/2021	Diator Maria			_	0.1	920	82.9
10/21/2021	Plater, Marja	ences	Ivieetings	Iviaggie and Kaitiin	0.1	029	02.9
				Internal meeting			
		01					
	Pannor		1d Othor				
10/21/2021	,			1 '	0.1	920	82.9
10/21/2021	Naitiiii	ences	INICCLINES	co-couriser call	0.1	029	02.9
		01		Meeting with KR			
	Hart.		1 1d Other	_			
	· ·		Meetings	for MSJ, discovery.		829	165.8
	10/20/2021 10/20/2021 10/21/2021 10/21/2021	10/20/2021 Plater, Marja Hart, 10/20/2021 Plater, Marja 10/21/2021 Plater, Marja 10/21/2021 Plater, Marja Banner, Kaitlin Hart,	10/18/2021 Kaitlin ences 10/20/2021 Plater, Marja 10/20/2021 Margaret 10/20/2021 Margaret 01. Meetings/Confer ences 10/21/2021 Plater, Marja 01. Meetings/Confer ences 10/21/2021 Plater, Marja 01. Meetings/Confer ences 10/21/2021 Kaitlin 01. O1. Meetings/Confer ences 01.	Banner, Kaitlin Meetings/Confer ences Meetings 01. Meetings/Confer and Other Meetings 01. Meetings/Confer ences Meetings 01. Meetings/Confer ences Meetings 01. Meetings/Confer and Meetings 01. Meetings/Confer and Meetings 01. Meetings/Confer ences Meetings 01. Meetings/Confer and Meetings 01. Meetings/Confer and Other ences Meetings	Banner, Kaitlin ences Meetings Contempt and proposed order 10/18/2021 Nation 10 10 10 10 10 10 10 1	O1. Reatings/Confer Ic Co-counsel Plater, Marja ences O1. Meetings O1. O1. Meetings O1. O1. Meetings O1. O1. Meetings O1. O1.	O1. Neetings/Confer 1c Co-counsel Proposed order O.1 S29

			01.		Weekly strategy			
		Hart,	Meetings/Confer	1c Co-counsel	meeting with co-			
Charles H.	10/21/2021	Margaret	ences	Meetings	counsel.	0.9	829	746.1
			01.		Weekly co-			
		Hart,	Meetings/Confer	1c Co-counsel	counsel strategy			
Charles H.	10/21/2021	Margaret	ences	Meetings	call.	0.9	829	746.1
			01.		Weekly strategy			
		Banner,	Meetings/Confer	1c Co-counsel	call with co-			
Charles H.	10/21/2021	Kaitlin	ences	Meetings	counsel	0.9	829	746.1
			01.		Debrief with KB			
		Hart,	Meetings/Confer	1d Other	and MP re co-			
Charles H.	10/21/2021	Margaret	ences	Meetings	counsel call.	0.1	829	82.9
					Review pleadings			
Charles H.	10/25/2021	Plater, Marja	18. Other	18 Other	and court docs	2	829	1658
			01.					
			Meetings/Confer	1c Co-counsel	Weekly meeting			
Charles H.	10/28/2021	Plater, Marja	ences	Meetings	with co-counsel	1	829	829
			01.		Weekly co-			
		Banner,	Meetings/Confer	1c Co-counsel	counsel strategy			
Charles H.	10/28/2021	Kaitlin	ences	Meetings	meeting	0.9	829	746.1
			01.					
		Hart,	Meetings/Confer	1c Co-counsel	Weekly co-			
Charles H.	10/28/2021	Margaret	ences	Meetings	counsel meeting.	1	829	829
					Review samples of			
					discovery & start			
					discovery plan			
Charles H.	10/28/2021	Plater, Marja	18. Other	18 Other	outline	1	829	829
					Met with Maggie			
					to discuss			
Charles H.	10/28/2021	Plater, Marja	18. Other	18 Other	discovery plan	0.3	829	248.7

			01.					
		Hart,	Meetings/Confer	1d Other	Meeting with MP			
Charles H.	10/28/2021	Margaret	ences	Meetings	re discovery plan.	0.3	829	248.7
					Begin edit of			
		Hart,		10b Draft written	discovery plan			
Charles H.	10/29/2021	Margaret	10. Discovery	Discovery	started by MP.	0.3	829	248.7
					Review and edit			
			05. Prepare non-	5 Prepare non-	letter to Def. re:			
		Banner,	court filings	court filings	education MOA at			
Charles H.	09/01/2021	Kaitlin	(letters, other)	(letters, other)	DOC	0.6	829	497.4
			01.					
		Banner,	Meetings/Confer	1c Co-counsel	Weekly strategy			
Charles H.	09/02/2021	Kaitlin	ences	Meetings	call	0.9	829	746.1
					Weekly meeting			
					with co-counsel to			
			01.		discuss case			
			l	1c Co-counsel	updates and legal			
Charles H.	09/02/2021	Plater, Marja	ences	Meetings	strategy	1	829	829
			01.					
			l	1a Client				
Charles H.	09/02/2021	Plater, Marja	ences	Meetings	REDACTED	0.5	829	414.5
					Review Sept 1			
					status report and			
Charles H.	09/02/2021	Plater, Marja	18. Other	18 Other	exhibits	1	829	829
					Sent f/u email to			
					DOC about missed			
Charles H.	09/02/2021	Plater, Marja	18. Other	18 Other	video visit today	0.1	829	82.9
					Review emails re:			
 					motion for status		_	
Charles H.	09/03/2021	Plater, Marja	18. Other	18 Other	conf	0.1	829	82.9

			01.					
			Meetings/Confer	1a Client				
Charles H.	09/03/2021	Plater, Marja	ences	Meetings	REDACTED	0.5	829	414.5
		Banner,		9k Other	Edit Motion for			
Charles H.	09/07/2021	Kaitlin	09. Motions	Motions	Status Conf	0.3	829	248.7
				9c Prepare	Review and edit			
				Opposition to	draft opposition			
		Banner,		Motion to	to Motion to			
Charles H.	09/07/2021	Kaitlin	09. Motions	Dismiss	Dismiss	1.8	829	1492.2
				9k Other	Review Motion for			
Charles H.	09/07/2021	Plater, Marja	09. Motions	Motions	Status Conf	0.25	829	207.25
				9c Prepare	Review and edit			
				Opposition to	draft opposition			
				Motion to	to Motion to			
Charles H.	09/07/2021	Plater, Marja	09. Motions	Dismiss	Dismiss	1.5	829	1243.5
					Review of case			
					pleadings/orders-			
					second amended			
					complaint, motion			
		Hart,			to dismiss, opp to			
Charles H.	09/09/2021	Margaret	18. Other	18 Other	mot to dismiss,.	0.8	829	663.2
					Weekly meeting			
					with co-counsel to			
			01.		discuss case			
			Meetings/Confer	1c Co-counsel	updates and legal			
Charles H.	09/09/2021	Plater, Marja	ences	Meetings	strategy	1.25	829	1036.25
				9c Prepare	Review and edit			
				Opposition to	draft opposition			
		Banner,		Motion to	to Motion to			
Charles H.	09/09/2021	Kaitlin	09. Motions	Dismiss	Dismiss	0.5	829	414.5

			01.		Weekly strategy			
		Banner,	Meetings/Confer	1c Co-counsel	call with co-			
Charles H.	09/10/2021	Kaitlin	ences	Meetings	counsel	1.1	829	911.9
					Meeting with co-			
					counsel to discuss			
			01.		legal strategy and			
			Meetings/Confer	1c Co-counsel	9/20 status			
Charles H.	09/14/2021	Plater, Marja	ences	Meetings	conference	1	829	829
					Meeting with co-			
					counsel re			
			01.		strategy, status			
		Hart,	Meetings/Confer	1c Co-counsel	conference on			
Charles H.	09/14/2021	Margaret	ences	Meetings	9/20.	1	829	829
		Banner,						
Charles H.	09/14/2021	Kaitlin	03. Research	3 Research	REDACTED	0.3	829	248.7
					Weekly strategy			
			01.		call with co-			
		Banner,	Meetings/Confer	1c Co-counsel	counsel re: status			
Charles H.	09/14/2021	Kaitlin	ences	Meetings	conference	1	829	829
					Internal Meeting			
			01.		with MH, MP to			
		Banner,	Meetings/Confer	1d Other	discuss strategy,			
Charles H	09/17/2021	•		Meetings	status conf,	0.5	829	414.5
Citaties II.	03/1//2021	Naitiiii	ences	ivicetiligs	Meeting with MJ ,	0.5	029	414.5
			01.		KB re strategy for			
		Hart,	Meetings/Confer	1d Other	9/20 status			
Charles 4	00/17/2021				'	0.5	829	41 A E
Citaties H.	09/17/2021	liviargaret	ences	Meetings	meeting.	0.5	829	414.5

	I		I	I				1
Charles H.	09/20/2021	Banner, Kaitlin	09. Motions	9k Other Motions	Status Conference re: Def. compliance with PI and transition to MAPCS	0.5	829	414.5
				9k Other	Listen to Status			
Charles H.	09/20/2021	Plater, Marja	09. Motions	Motions	Conf.	0.5	829	414.5
Charles H.	09/20/2021	Hart, Margaret	01. Meetings/Conferences	1c Co-counsel Meetings	Debrief with co- counsel re status conference.	0.3	829	248.7
	, ,	J						
Charles H.	09/20/2021	Banner, Kaitlin	01. Meetings/Conferences	1c Co-counsel Meetings	Co-counsel call to debrief status conference	0.3	829	248.7
		Hart, Margaret	18. Other	18 Other	Status conference re transition from DCPS to MAPCS	0.5	829	414.5
			01. Meetings/Confer	1c Co-counsel	Debrief with co- counsel after meeting with MAPCSA and DC			
Charles H.	09/27/2021	Plater, Marja	ences	Meetings	OAG	0.67	829	555.43
			01. Meetings/Confer	1d Other	Meeting with co- counsel, MAPCSA and DC OAG re:			
Charles H.	09/27/2021	Plater, Marja	ences	Meetings	IEPs	0.5	829	414.5

	I	l	I	1			I	
Charles H.	09/30/2021	Plater, Marja		1c Co-counsel Meetings	Weekly meeting with co-counsel to discuss case updates and legal strategy	0.5	829	414.5
		Banner,	01. Meetings/Confer	1c Co-counsel	Weekly strategy call with co-			
Charles H.	09/30/2021	Kaitlin	ences	Meetings	counsel	0.5	829	414.5
			01. Meetings/Confer	1c Co-counsel	Co-counsel meeting to discuss			
Charles H.	09/30/2021	Plater, Marja	ences	Meetings	next steps	1.08	829	895.32
		Banner,		9k Other	Review and analyze District's August 2 Status			
Charles H.	08/02/2021	Kaitlin	09. Motions	Motions	Report	0.5	829	414.5
Charles H.	08/03/2021	Kanzer, Leah	18. Other	18 Other	LS documents	0.25	225	56.25
	00/04/2024	Banner,		9c Prepare Opposition to Motion to	Review District's Reply to Opp. to	0.5	222	44.4.5
Charles H.	08/04/2021	Kaitlin	09. Motions	Dismiss	MTD	0.5	829	414.5
		Banner,		9k Other	Review court orders on SAC, extensions of time, scheduling			
Charles H.	08/05/2021	Kaitlin	09. Motions	Motions	order	0.2	829	165.8

			1	1		1	
08/05/2021	Plater, Marja	J .	1c Co-counsel Meetings	Met with Kaitlin to discuss issues raised in August status report in preparation for weekly co-counsel meeting	0.25	829	207.25
	Banner,		9k Other	Review draft Notice of Recent Development; review case facts			
08/05/2021	Kaitlin	09. Motions	Motions	in support of same	0.3	829	248.7
09/05/2021	Plator Maria	•		Weekly meeting with co-counsel to discuss case updates and legal	1 25	920	1036.25
06/03/2021	Flater, Iviarja		ivieetiigs		1.25	629	1030.23
08/06/2021	Banner, Kaitlin			Stephanie Madison	0.6	829	497.4
00/00/2024	Banner,			Email correspondence	0.3	020	165.0
08/09/2021	Kaitiin	ences	livieetings	with co-counsei	0.2	829	165.8
08/09/2021	Plater Maria	18 Other	18 Other	Review Legal Server notes and pleadings to get up to speed on	7	820	1658
	08/05/2021 08/05/2021 08/06/2021	Banner, 08/05/2021 Plater, Marja Banner, 08/06/2021 Kaitlin Banner, 08/09/2021 Kaitlin	Meetings/Conferences Banner, 08/05/2021 Kaitlin 09. Motions 01. Meetings/Conferences 01. Meetings/Conferences 01. Banner, Meetings/Conferences 01. Meetings/Conferences 01. Banner, Meetings/Conferences 01. Meetings/Conferences 01. Meetings/Conferences 01. Meetings/Conferences 01. Meetings/Conferences 01. Meetings/Conferences	Meetings/Confer ences Banner, O8/05/2021 Kaitlin O1. Meetings/Confer onces O8/05/2021 Plater, Marja ences O8/05/2021 Plater, Marja ences O1. Meetings/Confer onces O1. Meetings O1. Meetings O1. Meetings O1. Meetings O1. Meetings O1. Meetings/Confer onces O8/06/2021 Kaitlin O1. Meetings/Confer onces O8/06/2021 Kaitlin O1. Meetings/Confer onces O8/09/2021 Kaitlin O1. Meetings/Confer onces O8/09/2021 Kaitlin O1. Meetings/Confer onces Meetings O1. Meetings	discuss issues raised in August status report in preparation for weekly co-counsel Meetings Banner, 08/05/2021 Plater, Marja Banner, 09. Motions Meetings/Confer 1c Co-counsel Meetings Review draft Notice of Recent Development; review case facts in support of same Weekly meeting with co-counsel to discuss case updates and legal strategy 01. Meetings/Confer ences Meetings 1c Co-counsel Stephanie Meetings Madison 1c Co-counsel Stephanie Meetings Madison Meetings Madison 1c Co-counsel Co-counsel Meetings Meetings Madison 1c Co-counsel Meetings Meetings Meetings Meetings Meetings Meetings Review Legal Server notes and pleadings to get up to speed on	discuss issues raised in August status report in preparation for weekly co-counsel meeting 0.25 Review draft Notice of Recent Development; review case facts in support of same 0.3	discuss issues raised in August status report in preparation for weekly co-counsel Meetings Banner, 08/05/2021 Plater, Marja Banner, 08/05/2021 Plater, Marja O1. Meetings Banner, 09. Motions Motions Meetings Weekly meeting with co-counsel to discuss case Meetings Weekly meeting with co-counsel to discuss case updates and legal strategy 1.25 829 T/C with Banner, Meetings/Confer lococounsel Meetings Meetings T/C with Stephanie Meetings M

Charles H.	08/10/2021	Kanzer, Leah	18. Other	18 Other	Organizing LS	1	225	225
					Review draft			
				9a Prepare	motion to extend			
		Banner,		Motion to	time for class cert			
Charles H.	08/12/2021	Kaitlin	09. Motions	Extend time	reply	0.1	829	82.9
			01.		Weekly co-			
		Banner,	Meetings/Confer	1c Co-counsel	counsel strategy			
Charles H.	08/12/2021	Kaitlin	ences	Meetings	meeting	1.1	829	911.9
			01.					
			Meetings/Confer	1c Co-counsel	Meeting with co-			
Charles H.	08/12/2021	Plater, Marja	ences	Meetings	counsel	1	829	829
			01.		Meeting with co-			
			Meetings/Confer	1b Witness	counsel and Joe			
Charles H.	08/12/2021	Plater, Marja	ences	Meetings	Gagnon	1	829	829
					Review pleadings			
					and relevant case			
					law to get up to			
Charles H.	08/12/2021	Plater, Marja	18. Other	18 Other	speed on this case	4	829	3316
					Organizing LS			
Charles H.	08/12/2021	Kanzer, Leah	18. Other	18 Other	documents	0.5	225	112.5
					Review plaintiffs'			
					Motion for Class			
					Cert and			
					defendants' Opp			
					to Class Cert, and			
					other pleadings			
Charles H.	08/16/2021	Plater, Marja	18. Other	18 Other	filed in this case	3	829	2487

	1		01.	1			Ī	1
			Meetings/Confer	1a Client	Video call with			
Charles H	09/17/2021	Diator Maria	1		client	0.25	829	207.25
Charles n.	08/17/2021	Plater, Marja	ences	Meetings	Email DOC to	0.25	829	207.25
					schedule video			
					calls & email co-			
					counsel re:			
					scheduled video			
Charles H.	08/17/2021	Plater, Marja	18. Other	18 Other	calls	0.25	829	207.25
					Met with co-			
					counsel and			
					opposing counsel			
			01.		AGs Micah			
				14 04604				
Charles II	00/47/2024	Distant Mania	Meetings/Confer	1d Other	Bluming and Rich	0.22	020	272.57
Charles H.	08/1//2021	Plater, Marja	ences	Meetings	Sobiecki	0.33	829	273.57
					Weekly meeting			
					with co-counsel to			
			01.		discuss case			
			Meetings/Confer	1c Co-counsel	updates and legal			
Charles H.	08/19/2021	Plater, Marja		Meetings	strategyand	1	829	829
		-			Emails about			
					Charles H class			
Charles H.	08/19/2021	Kanzer, Leah	18. Other	18 Other	member calls	0.4	225	90
			01.					
			Meetings/Confer	1a Client	Video visit with			
Charles H.	08/19/2021	Plater, Marja	ences	Meetings	class member	0.75	829	621.75
			01.		Participate in			
			Meetings/Confer	1a Client	client meeting			
Charles H.	08/20/2021	Plater, Marja	ences	Meetings	with SJP attorneys	0.75	829	621.75

	ı	I		1	1			1
			05. Prepare non-	5 Prepare non-	Review letter to			
	l	Banner,	court filings	court filings	OC re: September			
Charles H.	08/25/2021	Kaitlin	(letters, other)	(letters, other)	status reports	0.3	829	248.7
					Review emails and			
			05. Prepare non-	5 Prepare non-	documents re:			
		Banner,	court filings	court filings	Maya Angelo PCS			
Charles H.	08/25/2021	Kaitlin	(letters, other)	(letters, other)	contract at DC Jail	0.5	829	414.5
			05. Prepare non-	5 Prepare non-	Review letter to			
			court filings	court filings	OAG re: status			
Charles H.	08/25/2021	Plater, Marja	(letters, other)	(letters, other)	reports	0.5	829	414.5
Charles H.	08/25/2021	Kanzer, Leah	18. Other	18 Other	Organizing LS	0.75	225	168.75
	00/05/0004		40.00	10.00		0.45	225	404.05
Charles H.	08/26/2021	Kanzer, Leah	18. Other	18 Other	Organizing LS	0.45	225	101.25
					Weekly meeting			
					with co-counsel to			
			01.		discuss case			
				1c Co-counsel	10			
Charles II	00/26/2024	Distant Mania	Meetings/Confer		updates and legal	4	020	020
Charles H.	08/26/2021	Plater, Marja	ences	Meetings	strategy	1	829	829
				9f Prepare Class	Review draft			
		Banner,		Certification	Reply to Def. Opp.			
Charles U	08/27/2021	Kaitlin	09. Motions	Motion	to Class Cert.	0.5	829	414.5
Charles n.	06/2//2021	Natuili	09. MOUOTIS	IVIOLIOII	to class cert.	0.5	629	414.5
			01.		T/C with Marja			
		Banner,	Meetings/Confer	1d Other	Plater re: co-			
Charles H	08/27/2021	Kaitlin	ences	Meetings	counsel meeting	0.2	997	199.4
CHAILES II.	00/2//2021	Natum	CIICES	ivicetiligs	counsel meeting	0.2	337	133.4
				9f Prepare Class	Review and edit			
		Banner,		Certification	draft Reply to Def.			
Charles H.	08/28/2021	•	09. Motions	Motion	Opp. to Class Cert.	1.6	829	1326.4
	1,,		1	1	1 - 1-1- 12 3:000 00101		<u> </u>	

				1	1		1	
Charles H.	08/30/2021	Plater, Marja	09. Motions	9k Other Motions	Review draft reply brief in support of class cert	0.5	829	414.5
Charles H	08/30/2021	Plater, Marja	09 Mations	9k Other Motions	Review and edit draft reply brief in support of class cert	0.5	829	414.5
Clidiles II.	06/30/2021	Banner,	09. IVIOLIONS	INIOLIOTIS	Read/analyze class cert pleadings and decision in GT (W. VA IDEA class	0.3	823	414.3
Charles H.	08/30/2021	Kaitlin	03. Research	3 Research	case)	0.5	829	414.5
Charles H.	08/31/2021	Plater, Marja	18. Other	18 Other	Review Def's MTD Second Amended Complaint and Pl's previously filed opp to MTD	2	829	1658
		Thelusma,	01. Meetings/Confer	1c Co-counsel	strategy meeting			
Charles H.	07/01/2021	Jennifer	ences	Meetings	with cocounsel	1	413	413
		Banner,	"	1c Co-counsel	Weekly strategy call with co-			
Charles H.	07/01/2021		ences	Meetings	counsel	1.1	829	911.9
		Banner,		9k Other	Review Def. status			
Charles H.	07/02/2021	Kaitlin	09. Motions	Motions	reports	0.5	829	414.5
		Banner,	01. Meetings/Confer	1c Co-counsel	Weekly strategy call with co-			
Charles H.	07/06/2021	Kaitlin	ences	Meetings	counsel	1	829	829

			01.					
		Thelusma,	Meetings/Confer	1c Co-counsel	strategy meeting			
Charles H.	07/06/2021	Jennifer	ences	Meetings	with cocounsel	0.9	413	371.7
				9c Prepare				
				Opposition to	Review and			
		Banner,		Motion to	analyze Def.			
Charles H.	07/08/2021	Kaitlin	09. Motions	Dismiss	Motion to Dismiss	0.5	829	414.5
			01.		Weekly strategy			
		Banner,	Meetings/Confer	1c Co-counsel	call with co-			
Charles H.	07/08/2021	Kaitlin	ences	Meetings	counsel	1	829	829
				9c Prepare	reviewing			
				Opposition to	defendants			
		Thelusma,		Motion to	motion to dismiss			
Charles H.	07/08/2021	Jennifer	09. Motions	Dismiss	and related filings	1.5	413	619.5
		Thelusma,			editing letter to			
Charles H.	07/08/2021	Jennifer	18. Other	18 Other	district	0.13	413	53.69
			01.					
		Thelusma,	Meetings/Confer	1c Co-counsel	strategy meeting			
Charles H.	07/08/2021	Jennifer	ences	Meetings	with cocounsel	1.02	413	421.26
					editing letter re			
					compensatory			
		Thelusma,			education and			
Charles H.	07/09/2021	Jennifer	18. Other	18 Other	email to OAG	0.35	413	144.55
					Email			
		Banner,			correspondence			
Charles H.	07/13/2021	Kaitlin	18. Other	18 Other	with co-counsel	0.2	829	165.8
			01.		Weekly strategy			
		Banner,	Meetings/Confer	1c Co-counsel	call with co-			
Charles H.	07/15/2021	Kaitlin	ences	Meetings	counsel	1.1	829	911.9
			01.					
		Thelusma,	Meetings/Confer	1c Co-counsel	strategy meeting			
Charles H.	07/15/2021	Jennifer	ences	Meetings	with cocounsel	1.1	413	454.3

		Banner,		9k Other				
Charles H.	07/19/2021	Kaitlin	09. Motions	Motions	REDACTED	0.1	829	82.9
				9c Prepare	Review and edit			
				Opposition to	draft opposition			
		Banner,		Motion to	to Motion to			
Charles H.	07/19/2021	Kaitlin	09. Motions	Dismiss	Dismiss	3.1	829	2569.9
					Review			
					letters/emails to			
			05. Prepare non-	5 Prepare non-	Def. re: status			
		Banner,	court filings	court filings	report content,			
Charles H.	07/19/2021	Kaitlin	(letters, other)	(letters, other)	waiver forms	0.3	829	248.7
				9c Prepare	Research and			
				Opposition to	edits to draft			
		Banner,		Motion to	opposition to			
Charles H.	07/21/2021	Kaitlin	09. Motions	Dismiss	MTD	0.5	829	414.5
		Danner		9k Other	Review Motion to			
Charles U	07/21/2021	Banner, Kaitlin	09. Motions	Motions	Amend Complaint	0.3	829	248.7
Charles n.	07/21/2021	Naitiiii	U9. IVIOLIOTIS	9c Prepare	Review and edit	0.5	629	240.7
				Opposition to	draft opposition			
		Banner,		Motion to	to Motion to			
Charles H	07/21/2021		09. Motions	Dismiss	Dismiss	0.5	829	414.5
Charles 11.	07/21/2021	Banner,	05. 1010110113	Distriiss	Review filings and	0.5	023	717.3
Charles H.	07/22/2021	-	18. Other	18 Other	update LS	0.1	829	82.9
					Co-counsel call re:			
					reply on motion to			
			01.		amend compl;			
		Banner,		1c Co-counsel	def. motion for			
Charles H.	07/26/2021		ences	Meetings	extension of time	0.5	829	414.5

	1	1	T	1	T			
					Review and edit			
					draft reply to Def.			
		Banner,		9k Other	Resp. to Motion			
Charles H.	07/27/2021	Kaitlin	09. Motions	Motions	to Amend Compl.	0.6	829	497.4
					Review and edit			
					letter to Def re:			
			05. Prepare non-	5 Prepare non-	compensatory			
		Banner,	court filings	court filings	education and			
Charles H.	07/28/2021	Kaitlin	(letters, other)	(letters, other)	missed services	0.3	829	248.7
					Internal meeting			
					with Marja to			
			01.		brief her on case			
		Banner,	Meetings/Confer	1d Other	status, next steps,			
Charles H.	07/28/2021	Kaitlin	ences	Meetings	strategy	0.5	829	414.5
			01.		Weekly strategy			
		Banner,	Meetings/Confer	1c Co-counsel	call with co-			
Charles H.	07/29/2021	Kaitlin	ences	Meetings	counsel	1.1	829	911.9
				9l Motions				
		Kutnik-		Argument				
		Bauder,		(including moot,	Moot for PI			
Charles H.	06/01/2021	Jacqueline	09. Motions	prep)	argument	2.05	997	2043.85
				9l Motions				
				Argument				
		Banner,		(including moot,	Prep for PI oral			
Charles H.	06/01/2021	Kaitlin	09. Motions	prep)	argument	1.4	829	1160.6
				9l Motions	Moot for PI			
				Argument	argument; debrief			
		Banner,		(including moot,	with co-counsel			
Charles H.	06/01/2021	Kaitlin	09. Motions	prep)	team	2.6	829	2155.4

				9l Motions				
		Kutnik-		Argument				
		Bauder,		(including moot,	Moot for PI			
Charles H.	06/01/2021		09. Motions	prep)	argument	2.05	997	2043.85
				9l Motions				
				Argument				
		Banner,		(including moot,	Prep for PI oral			
Charles H.	06/01/2021	Kaitlin	09. Motions	prep)	argument	3	829	2487
					reviewing			
		Thelusma,			correspondence			
Charles H.	06/01/2021	Jennifer	18. Other	18 Other	re: filing	0.1	413	41.3
		Thelusma,			attending moot			
Charles H.	06/01/2021	Jennifer	18. Other	18 Other	oral argument	2	413	826
				9l Motions				
		Kutnik-		Argument				
		Bauder,		(including moot,	Prep Moot for PI			
Charles H.	06/01/2021	Jacqueline	09. Motions	prep)	motion	0.9	997	897.3
				9l Motions				
				Argument				
		Banner,		(including moot,	Prep for PI oral			
Charles H.	06/02/2021	Kaitlin	09. Motions	prep)	argument	4	829	3316
			01.					
		Thelusma,	Meetings/Confer	1c Co-counsel	strategy meeting			
Charles H.	06/02/2021	Jennifer	ences	Meetings	with cocounsel	0.7	413	289.1
			01.					
		Banner,	Meetings/Confer	1d Other				
Charles H.	06/02/2021	Kaitlin	ences	Meetings	Debrief PI hearing	0.5	829	414.5
					attending Oral			
		Thelusma,			Argument on PI			
Charles H.	06/02/2021	Jennifer	18. Other	18 Other	motion	0.9	413	371.7
				9l Motions				
				Argument				
		Banner,		(including moot,				
Charles H.	06/02/2021	Kaitlin	09. Motions	prep)	PI Oral Argument	1	829	829

			01.					
		Thelusma,	Meetings/Confer	1d Other	internal oral			
Charles H.	06/04/2021	Jennifer	ences	Meetings	argument debrief	0.8	413	330.4
			01.		Weekly strategy			
		Banner,	Meetings/Confer	1c Co-counsel	call with co-			
Charles H.	06/17/2021	Kaitlin	ences	Meetings	counsel	1.1	829	911.9
			01.					
		Thelusma,	Meetings/Confer	1c Co-counsel	strategy meeting			
Charles H.	06/17/2021	Jennifer	ences	Meetings	with cocounsel	1.08	413	446.04
		Thelusma,			reviewing PI order			
Charles H.	06/17/2021	Jennifer	18. Other	18 Other	and memorandum	0.9	413	371.7
			01.		attanding most			
		Thelusma,	Meetings/Confer	1d Other	attending meet and confer with			
Charles H	06/21/2021	Jennifer				0.13	413	53.69
Charles n.	06/21/2021	Jennier	ences	Meetings	opposing counsel	0.13	415	33.09
		Thelusma,		9k Other	editing meet and			
Charles H.	06/21/2021	Jennifer	09. Motions	Motions	confer statement	0.18	413	74.34
					Review and edit			
					JSR; email to co-			
		Banner,		9k Other	counsel team re:			
Charles H.	06/21/2021	Kaitlin	09. Motions	Motions	same	0.4	829	331.6
		_			Meet & confer on			
	0.5 /0.4 /0.00.4	Banner,		9k Other	joint status report	0.4	222	22.2
Charles H.	06/21/2021	Kaitlin	09. Motions	Motions	re: case schedule	0.1	829	82.9
		.	01.	4 . 6	Weekly strategy			
Charles	00/24/2024	Banner,	Meetings/Confer	1c Co-counsel	call with co-	0.7	020	F00.3
Charles H.	06/24/2021	Kaitlin	ences 01.	Meetings	counsel	0.7	829	580.3
		Tholusma	Meetings/Confer	1c Co-counsel	stratogy mosting			
Charles 4	06/24/2021	Thelusma,			strategy meeting with cocounsel	0.68	413	200 04
CHAILES H.	100/24/2021	pennier	ences	Meetings	with cocounser	0.08	413	280.84

				7a Draft/edit				
		Banner,		settlement	Review DCPS			
Charles H.	05/06/2021	Kaitlin	07. Settlement	agreement	proposed SA (I.F.)	0.2	829	165.8
			01.		Weekly strategy			
		Banner,	Meetings/Confer	1c Co-counsel	call with co-			
Charles H.	05/06/2021	Kaitlin	ences	Meetings	counsel	1	829	829
			01.					
		Thelusma,	Meetings/Confer	1c Co-counsel	strategy meeting			
Charles H.	05/06/2021	Jennifer	ences	Meetings	with cocounsel	1.6	413	660.8
			01.		Co-counsel call to			
		Banner,	Meetings/Confer	1c Co-counsel	debrief call with			
Charles H.	05/10/2021	Kaitlin	ences	Meetings	OAG	0.6	829	497.4
			01.		meeting re:			
		Thelusma,	Meetings/Confer	1c Co-counsel	conference with			
Charles H.	05/10/2021	Jennifer	ences	Meetings	defendants	0.3	413	123.9
			01.					
		Thelusma,	Meetings/Confer	1c Co-counsel				
Charles H.	05/10/2021	Jennifer	ences	Meetings	debrief meeting	0.6	413	247.8
			01.		Co-counsel call to			
		Banner,	Meetings/Confer	1d Other	debrief call with			
Charles H.	05/10/2021	Kaitlin	ences	Meetings	OAG	0.6	829	497.4
			01.					
		Banner,	Meetings/Confer	1d Other	T/C with OAG re:			
Charles H.	05/10/2021	Kaitlin	ences	Meetings	changes at IYP	0.3	829	248.7
					Review and			
					analyze DOE OCR			
					May 2021			
					Guidance; email			
		Banner,			to co-counsel re:			
Charles H.	05/13/2021	Kaitlin	03. Research	3 Research	same	0.3	829	248.7
			01.		Weekly strategy			
		Banner,	Meetings/Confer	1c Co-counsel	call with co-			
Charles H.	05/13/2021	Kaitlin	ences	Meetings	counsel	1.5	829	1243.5

			01.					
		Thelusma,	Meetings/Confer	1c Co-counsel	strategy meeting			
Charles H.	05/13/2021		ences	Meetings	with cocounsel	1.7	413	702.1
					reviewing			
				9d Prepare	defendant's			
				Motion for	opposition motion			
		Thelusma,		Preliminary	for preliminary			
Charles H.	05/13/2021	Jennifer	09. Motions	Injunction	injunction	1.9	413	784.7
		Tholusma			roviousing			
Charles II	05 /1 4 /2021	Thelusma,	O2 Deceared	2 Dosooreh	reviewing	0.2	225	45
Charles n.	05/14/2021	Banner,	03. Research	3 Research	lockdown updates	0.2	225	45
Charles H.	05/14/2021	Kaitlin	18. Other	18 Other	REDACTED	0.2	829	165.8
	, ,				conducting	_		
					research on rehab			
		Thelusma,			act for PI Reply			
Charles H.	05/17/2021	Jennifer	03. Research	3 Research	motion	1.5	413	619.5
			01.		Weekly strategy			
		Banner,	Meetings/Confer	1c Co-counsel	call with co-			
Charles H.	05/18/2021	Kaitlin	ences	Meetings	counsel	0.9	829	746.1
					researching			
		Thelusma,			rehabilitation act			
Charles H	05/18/2021	1	03. Research	3 Research	for reply PI brief	6.6	413	2725.8
Charles III.	03/10/2021	50	01.	o nescaron	ion repry marie.	0.0	113	2723.0
		Thelusma,	Meetings/Confer	1c Co-counsel	strategy meeting			
Charles H.	05/18/2021	Jennifer	ences	Meetings	with cocounsel	0.9	413	371.7
	, ,	-		9d Prepare				
				Motion for	drafting reply PI			
		Thelusma,		Preliminary	motion re:			
Charles H.	05/19/2021	Jennifer	09. Motions	Injunction	rehabilitation act	3.4	413	1404.2

Г			1	<u> </u>		1	Ī	
					researching			
		Thelusma,			rehabilitation act			
Charles H.	05/19/2021	Jennifer	03. Research	3 Research	for reply PI brief	4.5	413	1858.5
				9d Prepare				
				Motion for	drafting reply			
		Thelusma,		Preliminary	preliminary			
Charles H.	05/20/2021	Jennifer	09. Motions	Injunction	injunction	4	413	1652
		Banner,			Printing/organizin			
Charles H	05/20/2021	Kaitlin	18. Other	18 Other	g PI documents	0.2	829	165.8
Charles II.	03/20/2021	Kaitiiii	01.	18 Other	Weekly strategy	0.2	623	103.8
		Banner,	Meetings/Confer	1c Co-counsel	call with co-			
Charles H	05/20/2021	Kaitlin	lences	Meetings	counsel	0.8	829	663.2
Charles II.	03/20/2021	Kartiiii	01.	Wiccings	T/C with Sarah	0.8	623	003.2
		Banner,	Meetings/Confer	1c Co-counsel	Cuomo re: oral			
Charles H	05/20/2021	Kaitlin	ences	Meetings	argument	0.1	829	82.9
Charles 11.	03/20/2021	Kartiiii	Crices	Wiccings	T/C with	0.1	023	02.5
					Stephanie			
			01.		Madison re: oral			
		Banner,	Meetings/Confer	1c Co-counsel	argument, PI			
Charles H	05/20/2021	Kaitlin	lences	Meetings	briefs	0.5	829	414.5
Charles 11.	03/20/2021	Kareiiii	Crices	Wicethigs	briers	0.5	023	717.5
					Research re:			
					Banks, PI standard			
					for public interest,			
					email to			
		Banner,			cocounsel re:			
Charles H	05/20/2021	Kaitlin	03. Research	3 Research	same	0.5	829	414.5
Charles II.	00, 20, 2021	Thelusma,			researching	0.5	023	717.5
Charles H.	05/20/2021	Jennifer	03. Research	3 Research	mootness	1.5	413	619.5
	,,		01.	200000000000000000000000000000000000000	33555			
		Thelusma,	Meetings/Confer	1c Co-counsel	strategy meeting			
		· •	, ,	I	with cocounsel			

					researching			
		Thelusma,			mootness and			
Charles H.	05/21/2021	Jennifer	03. Research	3 Research	drafting memo	2.7	413	1115.1
				9d Prepare				
				Motion for	reviewing and			
		Thelusma,		Preliminary	editing draft			
Charles H.	05/21/2021	Jennifer	09. Motions	Injunction	affidavit	0.2	413	82.6
				9d Prepare				
				Motion for				
		Banner,		Preliminary	Edit draft PI reply			
Charles H.	05/21/2021	Kaitlin	09. Motions	Injunction	(504 claims)	0.6	829	497.4
				9d Prepare				
				Motion for	Edit CH			
		Banner,		Preliminary	supplemental			
Charles H.	05/21/2021	Kaitlin	09. Motions	Injunction	declaration	0.3	829	248.7
		Thelusma,			researching			
Charles H.	05/21/2021	Jennifer	03. Research	3 Research	mootness	3.2	413	1321.6
				9d Prepare				
				Motion for				
		Banner,		Preliminary	Edit draft PI reply			
Charles H.	05/22/2021	Kaitlin	09. Motions	Injunction	(504 claims)	0.3	829	248.7
				9d Prepare	reviewing reply			
				Motion for	motion for			
		Thelusma,		Preliminary	summary			
Charles H.	05/24/2021	Jennifer	09. Motions	Injunction	judgment	3.3	413	1362.9
					Draft and edit			
				9d Prepare	reply to			
				Motion for	Opposition to			
		Banner,		Preliminary	Motion for PI;			
Charles H.	05/24/2021	Kaitlin	09. Motions	Injunction	research re: same	2.6	829	2155.4

								1
				7a Draft/edit	Draft response to			
		Banner,		settlement	Defendants'			
Charles H.	05/25/2021	Kaitlin	07. Settlement	agreement	counterproposal	1	829	829
					Review motion for			
			01.		leave to file			
		Banner,	Meetings/Confer	1a Client	supplemental			
Charles H.	05/25/2021	Kaitlin	ences	Meetings	declarations	0.2	829	165.8
					Review and edit			
				9d Prepare	declarations iso of			
				Motion for				
		Danner			PI reply; email to			
Charles II	05 /25 /2024	Banner,	09. Motions	Preliminary	co-counsel re:	0.5	020	44.4.5
Charles H.	05/25/2021	Kaitlin	U9. MOTIONS	Injunction	same	0.5	829	414.5
				9d Prepare				
		Th. 1		Motion for	and the standard and the			
	05 /25 /2024	Thelusma,	00 Maliana	Preliminary	reviewing KB edits	0.0	440	422.0
Charles H.	05/25/2021	Jennifer	09. Motions	Injunction	to reply brief	0.3	413	123.9
					Review DOJ			
		Banner,		9k Other	Statement of			
Charles H.	05/27/2021	Kaitlin	09. Motions	Motions	Interest	0.3	829	248.7
				9d Prepare				
				Motion for	Review and edit			
		Banner,		Preliminary	draft Reply in ISO			
Charles H.	05/27/2021	Kaitlin	09. Motions	Injunction	PI	0.8	829	663.2
		Thelusma,			attending Charles			
Charles H.	05/28/2021	Jennifer	18. Other	18 Other	H Moot hearing	2.9	413	1197.7
				9l Motions				
				Argument				
		Banner,		(including moot,	Prep for PI oral			
Charles H.	05/28/2021	Kaitlin	09. Motions	prep)	argument	2	829	1658

				9l Motions				
				Argument				
		Banner,		(including moot,	Moot for PI			
Charles H.	05/28/2021	Kaitlin	09. Motions	prep)	argument	2.8	829	2321.2
					Review class			
		Banner,			standing memos			
Charles H.	05/29/2021	Kaitlin	03. Research	3 Research	and cases	0.5	829	414.5
					Review and			
					comment on draft			
					motion to			
					amend/suppleme			
		Banner,		9k Other	nt complaint and			
Charles H	05/30/2021	Kaitlin	09. Motions	Motions	draft complaint	0.8	829	663.2
Charles n.	05/30/2021	Kaitiiii	09. MOLIONS	INIOLIONS	draft complaint	0.8	829	003.2
					Continue			
					review/revision of			
				9f Prepare Class	brief in support of			
		Hart,		Certification	class cert. Sent			
Charles H.	04/01/2021	Margaret	09. Motions	Motion	edits to KB.	1.3	733	952.9
					Meeting with co-			
					counsel and			
					advocacy			
					community re			
			01.		case status,			
		Hart,	Meetings/Confer	1d Other	strategy re next			
Charles H.	04/01/2021	Margaret	ences	Meetings	steps.	1.1	733	806.3
					Review/revise			
					motion to proceed			
					under			
					pseudonym. Sent			
		Hart,		9k Other	edits to co-			
Charles H.	04/03/2021	Margaret	09. Motions	Motions	counsel.	0.4	733	293.2

				9d Prepare				
				Motion for	Review and edit			
		Banner,		Preliminary	Gagnon			
Charles H.	04/04/2021	Kaitlin	09. Motions	Injunction	Declaration ISO PI	0.6	829	497.4
				9d Prepare				
				Motion for				
		Banner,		Preliminary	Review and edit			
Charles H.	04/04/2021	Kaitlin	09. Motions	Injunction	draft motion for PI	3.6	829	2984.4
				9d Prepare				
				Motion for	Review/analyze/e			
		Hart,		Preliminary	dit brief in support			
Charles H.	04/04/2021	Margaret	09. Motions	Injunction	of motion for PI.	2.2	733	1612.6
				9d Prepare				
				Motion for				
		Banner,		Preliminary	Review edits to			
Charles H.	04/04/2021	Kaitlin	09. Motions	Injunction	draft PI motion	0.3	829	248.7
					Research re:			
		Banner,			Section 504 FAPE			
Charles H.	04/04/2021	Kaitlin	03. Research	3 Research	claims	0.5	829	414.5
					Research re:			
		Banner,			Section 504 FAPE			
Charles H.	04/05/2021	Kaitlin	03. Research	3 Research	claims	1.1	829	911.9
				11a Develop				
		Hart,	11. Work with	expert	T/C with J. Gagnon			
Charles H.	04/05/2021	Margaret	Expert Witness	report/testimony	and co-counsel.	1	733	733
					Review and edit			
				9f Prepare Class	declaration iso			
		Banner,		Certification	class certification			
Charles H.	04/05/2021	Kaitlin	09. Motions	Motion	motion	0.3	829	248.7

				9d Prepare	Review/revise			
				Motion for	ADA/504			
		Hart,		Preliminary	argument in PI			
Charles H.	04/05/2021	Margaret	09. Motions	Injunction	brief.	2.8	733	2052.4
	, ,	Ŭ		9d Prepare				
				Motion for				
		Banner,		Preliminary	Review edits to PI			
Charles H.	04/05/2021	Kaitlin	09. Motions	Injunction	motion	0.3	829	248.7
				0.1.0	T/C ULVE			
				9d Prepare	T/C with KB re			
		l		Motion for	framing and			
		Hart,		Preliminary	inclusion of rehab			
Charles H.	04/05/2021	Margaret	09. Motions	Injunction	act claim in PI.	0.3	733	219.9
				9d Prepare				
				Motion for	T/C with M. Hart			
	.	Banner,		Preliminary	re: preliminary			
Charles H.	04/05/2021	Kaitlin	09. Motions	Injunction	injunction strategy	0.3	829	248.7
					Review/analysis of			
					caselaw re 504			
					claim and email			
		Hart,			brief memo to KB			
Charles H.	04/05/2021	Margaret	03. Research	3 Research	re same.	2.1	733	1539.3
		ŭ						
					T/C with TPM, SJP,			
				11a Develop	M Hart and			
		Banner,	11. Work with	expert	Gagnon re: expert			
Charles H.	04/05/2021	Kaitlin	Expert Witness	report/testimony	declaration	1	829	829
					T/c with TPM and			
			01.		KB re viability of			
		Hart,	Meetings/Confer	1c Co-counsel	including DCHRA			
Charles H.	04/06/2021	Margaret	ences	Meetings	claims.	0.5	733	366.5

				9d Prepare				
				Motion for	Review/edit brief			
		Hart,		Preliminary	in support of PI			
Charles H.	04/06/2021	Margaret	09. Motions	Injunction	(504/ADA claims).	0.8	733	586.4
			01.		T/C with KB re PI			
		Hart,	Meetings/Confer	1d Other	brief (504/ADA			
Charles H.	04/06/2021	Margaret	ences	Meetings	sections).	0.3	733	219.9
					Email completed			
					resumes and			
				9f Prepare Class	affidavits to TPM			
		Hart,		Certification	re motion for class			
Charles H.	04/06/2021	Margaret	09. Motions	Motion	certification.	0.2	733	146.6
				8a Prepare				
		Banner,	08. Initial Court	Complaint/Amen	Povious and odit			
Charles H	04/06/2021	Kaitlin	Filings	ded Complaint	draft complaint	0.8	829	663.2
Charles n.	04/06/2021	Natuili	riiiigs	ded Complaint	Research re:	0.8	629	003.2
					DCHRA			
		Danner			discrimination			
Charles II	04/06/2021	Banner,	O2 Decemb	2 Dagages		٥٦	020	414 5
Charles H.	04/06/2021	Kaitlin	03. Research 01.	3 Research	claims	0.5	829	414.5
		Danner		1c Co-counsel	T/C with TPM; M.			
Charles II	04/06/2021	Banner,	Meetings/Confer		Hart re: DCHRA	0.5	829	41.4.5
Charles H.	04/06/2021	Kaitlin	ences	Meetings	claims	0.5	829	414.5
				9d Prepare	T/C with M. Hart			
		.		Motion for	to discuss PI draft			
Charles II	04/05/2024	Banner,	00 Maliana	Preliminary	and related	0.2	020	240.7
Charles H.	04/06/2021	Kaitlin	09. Motions	Injunction	research	0.3	829	248.7
				9d Prepare				
				Motion for	Draft and edit PI			
	0.4/0.5/5.55	Banner,		Preliminary	motion (Section			=
Charles H.	04/06/2021	Kaitlin	09. Motions	Injunction	504/ADA)	0.5	829	414.5

Case 1:21-cv-00997-CJN Document 201-12 Filed 10/19/23 Page 153 of 161

				9d Prepare				
				Motion for	Review Gagnon			
		Banner,		Preliminary	declaration iso			
Charles H.	04/06/2021	Kaitlin	09. Motions	Injunction	motion for PI	0.5	829	414.5
					Review and			
					comment on			
		Banner,		9k Other	motion to proceed			
Charles H.	04/06/2021	Kaitlin	09. Motions	Motions	with pseudonym	0.2	829	165.8
				9d Prepare	Research, draft,			
				Motion for	and edit motion			
		Banner,		Preliminary	for PI (Section			
Charles H.	04/06/2021	Kaitlin	09. Motions	Injunction	504)	1.8	829	1492.2
				On Dromana	Daview/series			
		l low	OR Initial Count	8a Prepare	Review/revise			
Charles II	04/06/2021	Hart,	08. Initial Court	Complaint/Amen		٥٦	722	200 5
Charles H.	04/06/2021	Margaret	Filings	ded Complaint	drafted by KB.	0.5	733	366.5
					Review/revise J.			
					gagnon			
				11a Develop	declaration and			
		Hart,	11. Work with	expert	send edits to full			
Charles H.	04/06/2021	Margaret	Expert Witness	report/testimony	co-counsel team.	0.6	733	439.8
		_			Draft complaint			
				8a Prepare	(exhaustion of			
		Banner,	08. Initial Court	Complaint/Amen	administrative			
Charles H.	04/07/2021	Kaitlin	Filings	ded Complaint	remedies)	0.7	829	580.3

				1	1			
					Review and revise			
					draft complaint;			
					research ISO			
					complaint, and			
				8a Prepare	meeting with SJP			
		Banner,	08. Initial Court	Complaint/Amen	re: complaint and			
Charles H.	04/07/2021	Kaitlin	Filings	ded Complaint	requested relief	3.5	829	2901.5
				2b Document	Review and			
		Smith,	02. Preliminary	Review (non-	comment on			
Charles H.	04/07/2021	Jonathan	Work	discovery)	complaint	1.6	997	1595.2
					Review and revise			
					press release,			
					email to			
		Banner,			cocounsel team			
Charles H.	04/07/2021	Kaitlin	18. Other	18 Other	re: safe	0.5	829	414.5
					Review edits to			
					draft complaint,			
				8a Prepare	correspond with			
		Banner,	08. Initial Court	Complaint/Amen	co-counsel team			
Charles H.	04/07/2021	Kaitlin	Filings	ded Complaint	re: same	0.5	829	414.5
				8a Prepare				
		Banner,	08. Initial Court	Complaint/Amen	Edit and draft			
Charles H.	04/07/2021	Kaitlin	Filings	ded Complaint	complaint	2.5	829	2072.5
011011100111	0 ., 0 . , = 0 = =		180	9d Prepare	oompiame.		020	
				Motion for	Review final draft			
		Banner,		Preliminary	of Gagnon			
Charles H.	04/08/2021	Kaitlin	09. Motions	Injunction	declaration	0.3	829	248.7
	<u> </u>							
				8a Prepare				
		Banner,	08. Initial Court	Complaint/Amen				
Charles H.	04/08/2021	Kaitlin	Filings	ded Complaint	Edit complaint	1.7	829	1409.3

				9d Prepare				
				Motion for	Review and edit			
		Banner,		Preliminary	draft motion for			
Charles H.	04/08/2021	Kaitlin	09. Motions	Injunction	PI; proposed order	2.4	829	1989.6
					Review/analysis of			
					revised complaint			
				8a Prepare	with KB/SJP edits.			
		Hart,	08. Initial Court	Complaint/Amen	Email to KB re			
Charles H.	04/08/2021	Margaret	Filings	ded Complaint	same.	0.6	733	439.8
			01.		Review			
		Banner,	Meetings/Confer	1c Co-counsel	preliminary			
Charles H.	04/08/2021	Kaitlin	ences	Meetings	injuction draft	0.3	829	248.7
		Hart,						
Charles H.	04/08/2021	Margaret	03. Research	3 Research	REDACTED	0.2	733	146.6
				9e Prepare				
				Opposition to				
				Motion for	Review/revise			
		Hart,		Preliminary	motion for PI and			
Charles H.	04/08/2021	Margaret	09. Motions	Injunction	send edits to KB.	1.1	733	806.3
				11a Davalan	Review and edit			
		Danner	11. Work with	11a Develop				
Charles H	04/09/2021	Banner,		expert report/testimony	Gagnon Declaration ISO PI	0.8	829	663.2
Charles n.	04/08/2021	Natuili	Expert Witness	report/testimony	Call with co-	0.8	029	003.2
			01.		counsel team to			
		Banner,		1c Co-counsel	discuss case			
Charles H	04/08/2021	Kaitlin	ences	Meetings		0.6	829	497.4
Charles n.	04/08/2021	Natuili	ences	Meetings	strategy, filing	0.6	029	497.4
					Co-counsel			
			01.		meeting re status			
		Hart,	_	1c Co-counsel	of complaint, class			
Charles H.	04/08/2021		ences	Meetings	cert motion, PI.	0.5	733	366.5

	I	I	l	1	1			
					Meeting with co-			
					counsel and			
					advocacy partners			
			01.		re current			
		Hart,		1d Other	conditions at IYP,			
Charles H	04/08/2021		ences	Meetings	status of litigation.	1	733	733
Charles 11.	04/00/2021	Margaret	Crices	9d Prepare	status of intigation.		755	733
				Motion for				
		Banner,		Preliminary	Edit proposed			
Charles H.	04/08/2021		09. Motions	Injunction	order on PI	0.2	829	165.8
	., .,,			,	Email		5	
					correspondence			
		Banner,			with cocounsel			
Charles H.	04/09/2021		18. Other	18 Other	and WLC team	0.3	829	248.7
				9f Prepare Class				
		Banner,		Certification	Review and edit			
Charles H.	04/09/2021	Kaitlin	09. Motions	Motion	class cert motion	0.8	829	663.2
				9d Prepare				
				Motion for				
		Banner,		Preliminary	Review and edit			
Charles H.	04/09/2021	Kaitlin	09. Motions	Injunction	motion for PI	0.9	829	746.1
				8a Prepare	Receive and			
		Banner,	08. Initial Court	Complaint/Amen	review emailed			
Charles H.	04/09/2021	Kaitlin	Filings	ded Complaint	filing document	0.2	829	165.8
				8a Prepare				
		Banner,	08. Initial Court	Complaint/Amen				
Charles H.	04/09/2021	Kaitlin	Filings	ded Complaint	draft complaint	0.3	829	248.7

					Review and edit			
					brief in support of			
				9f Prepare Class	class cert. Email			
		Hart,		Certification	edits to co-			
Charles H.	04/09/2021	Margaret	09. Motions	Motion	counsel team.	0.4	733	293.2
					Correspond with			
					co-counsel team,			
					WLC team about			
					press, filing			
					strategy, final			
		Banner,			edits to			
Charles H.	04/09/2021	Kaitlin	18. Other	18 Other	complaint/PI	1	829	829
					Notice of			
					appearance for			
					Kaitlin, Maggie			
Charles H.	04/12/2021	Kanzer, Leah	18. Other	18 Other	and John	0.75	225	168.75
					Review/revise			
					draft notices of			
		Hart,			appearance for			
Charles H.	04/12/2021	Margaret	18. Other	18 Other	me, KB, JS.	0.3	733	219.9
					Initial receipt and			
					review of OSSE			
					FOIA response.			
					Email to co-			
		Hart,	02. Preliminary		counsel team re			
Charles H.	04/13/2021	Margaret	Work	2c FOIA Request	same.	0.6	733	439.8
					Meet and confer			
					with OAG re			
		Hart,	12. Trial	12a General Trial				
Charles H.	04/14/2021	Margaret	Preparation	Preparation	conference	0.2	733	146.6

				1	Daviess and adia			1
					Review and edit			
					JSR; email to co-			
		Banner,		9k Other	counsel team re:			
Charles H.	04/14/2021	Kaitlin	09. Motions	Motions	same	0.3	829	248.7
			01.		Co-counsel team			
		Banner,	Meetings/Confer	1c Co-counsel	call re: scheduling			
Charles H.	04/14/2021	Kaitlin	ences	Meetings	order	0.6	829	497.4
					Meet and Confer			
		Banner,		9k Other	with OAG on PI			
Charles H.	04/14/2021		09. Motions	Motions	Briefing Schedule	0.2	829	165.8
			01.		Weekly strategy			
		Banner,	Meetings/Confer	1c Co-counsel	call with co-			
Charles H.	04/15/2021		ences	Meetings	counsel	1.1	829	911.9
					Regular strategy			
					meeting with co-			
			01.		counsel and			
		Hart,	Meetings/Confer	1c Co-counsel	community			
Charles H.	04/15/2021	Margaret	ences	Meetings	partners.	1.3	733	952.9
Charles H.	04/15/2021	Kanzer, Leah	18. Other	18 Other	LS update	0.25	225	56.25
			01.		T/C with			
		Banner,	Meetings/Confer	1c Co-counsel	Stephanie			
Charles H.	04/19/2021	Kaitlin	ences	Meetings	Madison	0.3	829	248.7
					Ctrotom, call;tl			
			04		Strategy call with			
		_	01.		co-counsel team -			
		Banner,		1c Co-counsel	status conference,			
Charles H.	04/19/2021	Kaitlin	ences	Meetings	class & pi motions	0.98	829	812.42

			I	1	1			
					Strategy call with			
			01.		co-counsel re class			
		Hart,		1c Co-counsel	cert hearing prep,			
Charles H.	04/19/2021	l '	lences	Meetings	PI.	1	733	733
0.10.100.111	.,,	Triangui ot	0.1000	2b Document				700
		Thelusma,	02. Preliminary	Review (non-	reviewing case			
Charles H.	04/19/2021	•	Work	discovery)	filings	0.7	413	289.1
	.,,				meeting with M.			
			01.		Hart and K.			
		Thelusma,		1d Other	Banner to debrief			
Charles H.	04/20/2021	l '	ences	Meetings	case	0.3	413	123.9
	.,,			l l	WLC team		1 - 1 - 1	
			01.		meeting to			
		Hart,	Meetings/Confer	1d Other	onboard J.			
Charles H.	04/20/2021	Margaret	ences	Meetings	Thelusma.	0.3	733	219.9
		<u> </u>		2b Document				
		Thelusma,	02. Preliminary	Review (non-	reviewing case			
Charles H.	04/20/2021		Work	discovery)	filings	0.97	413	400.61
				2b Document	Ü			
		Thelusma,	02. Preliminary	Review (non-	reviewing case			
Charles H.	04/20/2021	•	Work	discovery)	filings	3.5	413	1445.5
				2b Document				
		Thelusma,	02. Preliminary	Review (non-	reviewing case			
Charles H.	04/21/2021	Jennifer	Work	discovery)	filings	1.22	413	503.86
				2b Document				
		Thelusma,	02. Preliminary	Review (non-	reviewing case			
Charles H.	04/21/2021	Jennifer	Work	discovery)	filings	1.62	413	669.06
				9f Prepare Class	Status conference			
		Hart,		Certification	re class			
Charles H.	04/21/2021	Margaret	09. Motions	Motion	certification.	0.5	733	366.5

	ı	I		1	1			1
		Hart,		9f Prepare Class Certification	Co-counsel meeting to debrief status conference re class cert			
Charles H.	04/21/2021	Margaret	09. Motions	Motion	motion.	0.5	733	366.5
Charles H.	04/21/2021	Banner, Kaitlin	01. Meetings/Confer ences	1c Co-counsel Meetings	Debrief status conference	0.5	829	414.5
Charles H	04/21/2021	Banner, Kaitlin	09. Motions	9k Other Motions	Status conf. re: Def. motion to stay class certification	0.5	829	414.5
Charles 11.	04/21/2021	Kareiiii	03. WIOLIONS	2b Document	Certification	0.5	023	717.5
Charles H.	04/21/2021	Thelusma, Jennifer	02. Preliminary Work	Review (non- discovery)	reviewing case filings	0.9	413	371.7
		Banner,	01. Meetings/Confer	1c Co-counsel	Weekly strategy call with co-			
Charles H.	04/22/2021	Kaitlin	ences	Meetings	counsel	0.7	829	580.3
		Hart,	01. Meetings/Confer	1d Other	Regular meeting with co-counsel and advocacy partners re strategy, current conditions at			
Charles H.	04/22/2021	Margaret	ences	Meetings	facility.	1	733	733
Charles H.	04/22/2021	Hart, Margaret	01. Meetings/Confer ences	1d Other Meetings	REDACTED	0.8	733	586.4
Charles H.	04/22/2021	Thelusma, Jennifer	02. Preliminary Work	2b Document Review (non- discovery)	reviewing case filings	3.5	413	1445.5

Case 1:21-cv-00997-CJN Document 201-12 Filed 10/19/23 Page 161 of 161

			01.					
		Thelusma,	Meetings/Confer	1c Co-counsel	case strategy call			
Charles H.	04/22/2021	Jennifer	ences	Meetings	with cocounsel	0.6	413	247.8
			01.					
		Banner,	Meetings/Confer	1d Other				
Charles H.	04/22/2021	Kaitlin	ences	Meetings	REDACTED	0.8	829	663.2
			01.		Weekly strategy			
		Banner,	Meetings/Confer	1a Client	call with co-			
Charles H.	04/29/2021	Kaitlin	ences	Meetings	counsel	1	829	829
			01.		attending strategy			
		Thelusma,	1	1c Co-counsel	meeting with	_		
Charles H.	04/29/2021	Jennifer	ences	Meetings	cocounsel	1	413	413
					Review and edit			
		Hart,		9k Other	motion for class			
Charles H.	03/31/2021	Margaret	09. Motions	Motions	certification.	0.3	733	219.9
					Correspond with			
		Hart,			LK re organizing LS			
Charles H.	03/31/2021	'	18. Other	18 Other	file.	0.3	733	219.9
Charles H.	03/31/2021	Kanzer, Leah	18. Other	18 Other	Organizing LS	0.5	225	112.5
					Review and edit			
		l			brief in support of			
		Hart,		9k Other	motion for class			
Charles H.	03/31/2021	Margaret	09. Motions	Motions	certification.	0.9	733	659.7
						997.81		747955.7

 Sub-Total pp. 1-23
 \$96,381.72

 Sub-Total pp. 24-161
 \$747,955.70

Grand Total \$<u>844,337.42</u>